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PA3JIEJI 1. TIPEJJTIOKEHUE
(SENTENCE)

B 3aBHCHMOCTH OT IEJId BBICKAa3bIBAHHS MPEIIOKEHHS B aHTJIMICKOM SI3bIKE
JEIATCS Ha:
a) moBecTBOBaTenbHBIC (Declarative Sentences):

We are lucky. Ham Be3er.
0) BonipocutenbsHbie (INterrogative Sentences):
How are you? Kax moxxuBaete? Kak nena?
B) nmoBenuTeNbHbIe (IMperative Sentences):
Put your books away, please. Y6epurte, mokanyicra, CBOM KHHIH.
Consider fig.1. Paccmotpum puc. L.
r) BockauiareabHbie (Exclamatory Sentences):
I’m so hungry! 51 Tak rosofieH!
Bce »9TM npemiokeHUsT MOTYT OBbITh Kak yTBEpAMTENbHBIMH, TaK WU
OTPHIIATEIIbHBIMH.
B 3aBHCHMOCTH OT CTPYKTYPBI IPEUIOKEHUS JICTATCAHA IPOCTHIC U CIOXKHBIC.
[MpocThie  TpEMIOKEHHUS ~ MOTYT  OBITh  HEPAaCHpPOCTPAHEHHBIMH WM

paciupoCTpaHCHHBIMU. CnoxHble MPCIOKCHUA MOTYT OBITH CJI0’KHOCOYHMHEHHBIMH
HUIIN CJIOXKHOIMOAYHMHCHHBIMU.

IopsaAoK €J10B B AaHIJIMIICKOM MOBECTBOBATEILHOM MPEII0KEHUU
(Word Order)

B anrnmiickoM s3bIKe, B OTIIMYKE, 0T PYyCCKOIO, CYIIECTBYET (PUKCUPOBAHHBIN
MOPSAJIOK CJIOB B MPEJIOKEHUU, KOTOPBI MOKHO NMPEACTABUTD CIIEIYIOIINM 00pa3oM:

IHopsinok ¢J10B aHTJANICKOI0 POCTOI0 PACHPOCTPAHEHHOIO
NMOBECTBOBATEILHOIO MPeI10KEeHUs

0 1 2 3 4
OOCTOATENLCTREO TToanexaniee Crazyemoe HormomHeHHe OGCTOATENLCTEO
Adverbial modifier Subject Predicate Object Adv. modifier

A A A A A

HpOCTO €, COCTABHOC
HMCHHOE, COCTaBRHOE
[NIaroJibHO¢

‘{ KoceeHHOEe - Indirect|

‘{ IInamoe - Direct |

IIpeano:Hoe
| Prepositional

OnpeneneHHsn
Aftribute

Ilpumeuanue: OnpeneneHue HE MMEET IOCTOSIHHOTO MeCTa B  CTPYKType
MPEIOKCHUS, OHO OOBIYHO BXOJUT B COCTAB CMBICJIOBOU TPYIIIBI OMPEACIIIEMOTO
CJIOBA, PacIoJIarasich CJ€Ba WIH CIIPaBa OT HETO.



Hoonesxcawmee u cxkazyemoe SBIASIOTCS OOSA3aTENBbHBIMA — YICHAMU B
AHTJIMHACKOM TMPEUIOKEHUHU (KpOME MOBEUTENBHBIX MPEIJIOKCHHN), B TO BPEMs KaK
JPYTUE YJIEHBI MPEAJIOKEHUST MOTYT OTCYTCTBOBaTh. [loaTOMY IpH mepeBoje HaJO B
NEPBYIO OUepeab HANTH MOJIeKaIEee U CKa3yeMoe.

Hoonesxcawee B aHIIIMIICKOM TPEIJIOKEHUH MOXKET OBITh  BBIPAXKEHO
CYIIECTBUTENIbHBIM (IIEPBOE CYIIECCTBUTEIbHOE O€3 Mpeyiora U He CTOsAIIee MOoCie

rjaroja), MECTOMMEHHEM B HMEHHUTEIbHOM maaexe (somebody, |, she u ap.),
UHOUHUTHBOM, TepyHIUEM, YHUCIUTEIBHBIM, CyOCTaHTUBHUPOBAHHBIM
npujaraTeIbHbIM.

Cka3zyemoe MOXET OBITb BBIPAKEHO TIJIarojioM B TOW WJIM HWHOM) BUAO-
BPEMEHHOM (opme.

The students are engaged in doing the Cmyoenmol 3aHSTHI BBIIOJTHEHIEM

experiment. 9KCIIEPUMEHTA.

The blind usually walk with white sticks.  Cnenste 06p1uHO X017 C\OCTBIMU
HaJIOYKAMHU.

They don’t know the rules. Onu He 3HAIOT TpaBUIa.

Two is a cardinal numeral. /Jléa — KOMUYSETBEHHOE YHCIIUTEIILHOC.

To read much is to know much. MHOTO uumams — MHOTO 3HATb.

Reading did much to me. Ymenue MHOTO J1aJI0 MHE.

Mectoumenus they u ONe 3aMeHSIOT MOJIekKaIlee B HEOMPESICHHO-THIHOM
NPEUI0KEHUH, MECTOMMEHHE It yoTpeOIsieTes \B' 0€3IMIHOM:

One can often see him here. FEro MOXHO 3/1€Ch 4YacTO BU/ETh.
They say he is clever. ['oBOpSAT, UTO OH YMEH.
It is cold today. CerojHs XOJIOHO.

B mpemnoxenusx ¢ oOopotoMm there is/are ¢GopmMabHBIM OJICIKAIIAM
sBsieTcs cioBo there, koTepoe, oJHAKO, HE UMEET CaMOCTOSTCIBLHOTO 3HAUCHUSL.
Takue npenIoKeHus YKa3plBAIOT Ha HAJTMYKE PEAMETa B ONPECICHHOM MeCTe:

There are different types of telephones.  Cywecmeyiom (ecmb) paznudHbIC THITHI
TenedOHOB.

Mectoumetne It ymoTpeOnsieTcss TakkKe B YCHIHMTEIbHO-BBIACIUTEIBLHON
KoHCTpykmuu it 1s ... that (which, who, when) nmns Beimenenust moGoro ujicHa
Npe/UIoKCHUS (KpoMe CKa3yeMoro), KOTOPBIH MOMEIIACTCS MEXKIY YICHAMH 3TOU
KOHCTPYKIMU («B paMKy»). YcuieHue (BBIACICHHE) OIPEICICHHOIO CJIOBA C
NOMOIIBI0 Takoi kKoHcTpykuuu (it is ... that) mepeBonum cioBamu THa «umeHHO,
mobKo, Mo, KaK paz» W TPOAODKaeM TIePEBOJA, COXPaHSS IOPSAJIOK CJIOB
AHTJIMKACKOTO MIPEAI0KEHUS:



| UmenHO

T ] vV
1. It was Popov who invented radio. Hmenno Tlonos u3o0pei paauno.
I
| I I 1 1 . AV
2. It was not until 1995 that he published U moasko B 1995 1. oOH
his book. OImyOJINKOBAJI CBOIO KHUTY.
Jlononnenue crout cpasy mocie CKazyemoro (BBIPRKEHHOTO MEPEXOTHBIM

TJIar0JIOM).

Ob6cmoamenscmeo OOBIMHO CTOUT B KOHIE MPEJIOKEHHUS WIM B HaHaje €ro,
OJTHAKO BCTPEYACTCS W B CEPEIMHE MPENJIOKEHUs (Jalie BCero B BUJE HApCUUs
HEOIPEICIICHHOTO BPEMEHH).

Onpeodenenue MOXKET CTOSTH JI0 M TIOCHE JIFOOOTO WICHA MPEISIOKCHHUS,
BBIPAKEHHOTO CYIIECTBUTEIILHBIM.

B aHmmMicKoM mpeioKEeHUH, B OTIIMYHUE OT PYCCKOTO, (OT/MECTOIOI0XKEHUS
CJIOBA 3aBHCHT, KAKUM HYJICHOM TMPEAJIOKEHUS OHO SIBISETCS, ‘U U3MEHEHUE MOPSAIKA
CJIOB B TIPEIJIOKEHUH MTPUBOJIUT K U3MEHEHHUIO €r0 CMBICTIA)

She made five calls in ten minutes. Ona caenaia nsaTh 3BOHKOB 32 10 MUHYT.

A ship that is in difficulty can call the  KopaGiab8 TpyJHOM MOJOXKEHHH MOKET

nearest coast station and, if necessary,  BbI3BATE  OumKailIyl0o  OEperoByIO

ask for help. CraHIMI0 M, €CIh  HeoOXOIUMO,
[IOTIPOCUTH TOMOIIb.

Ecnu moBecTBOBaTenbHOE HPEIVIOKEHUE SBISETCS OTPHUIATENbHBIM, TO
OTpUIaTeNbHass YacThia NOt CTaBHTCS MOCIEe MOJNAIBHOTO TJIarojia WM JIMYHOM
(bOopMBI BCHOMOTATEIILHOTO TJIAr0JIia; BXOASIIETO B COCTAB CKA3yeMOTO:

You must not miss lectures. BbI He 1o KHBI TPOITyCKaTh JIEKIIHH.

B aHrnmiickom mpemiokeHnu, B OTIIHYHE OT PYCCKOTO, MOXKET OBITh TOJIBKO

oJHO oTpumarenbHoe cinoBo. (Ilocie MecTonmenns NO apTHKITL HE YIIOTPEOIIsIeTCs. )

| said no word aboutitto anybody. S ne ckazan 00 5TOM HUKOMY Hu CJIOBA.

BOHpOCI/ITe.]IbeIe HNPEAJI0KCHUSA
(Interrogative Sentences)

Bonpocs! moapasiestores Ha:
a) 0Omire, OTHOCSIIMECS KO BCEMY MPEIIOKEHHIO M TPEOYIOIHe OTBETA «0a» WIIH
«nemy («yes»/«no» questions);
0) crenuanbHbBIC K OTACIBHBIM YieHaM npeanoxkenus (Wh-questions);
B) ajbTepHaTuBHbIC (alternative questions);
r) pacuwieHeHHsle (disjunctive questions/tag questions).

a) Oo6wui eonpoc (yes/no question) HaYWHACTCS CO BCIIOMOTATEIILHBIX
rimarojios to be, to have, to do (B muunoit popme), will/shall, would/should wm ¢



MOJAJIBHBIX TJIArOJIOB B COOTBETCTBYIOIIEH (opmMe, KOTOpBIE CTaBATCS TEpe

TIOJJTCXKAIIUM:
Are you coming with us? Te1 upens ¢ Hamu?
No, I’m not. Her.
Did they give a discount? Onu ganu CKUaKy?
Yes, they did. Ja.
Can you write in Java? Tl MOKeIIb MUCATh Ha sI3bIKe Java?
No, I can’t. Her.
OtpuriatenbHas ¢opma OOMMX BOMPOCOB  BhIpAKaeT YAWUBIACHHE W

COOTBCTCTBYCT B PYCCKOM S3BIKC BOIIpOCAM, HAYMHAOIMHUMCA C «pa33e?» nin

«Heyncenu?»:

Didn’t you tell them about the deal?

Aren’t you going to the conference?

Paszee (neyscenu) 1L HE cKazal UM O
caenke?
Pazee (neysycenn), Bol He wuaere Ha
KOH(EpEeHINIY

0) Cneyuanvuvie eonpocwvt (Wh-questions) OTHOCATCS K KaKOMYy-HHOYIb
yieHy mnpeatokeHus. OHM HAYMHAIOTCS C  BOIPOCUTEIBHOIO CJIOBa, KOTOPOE
MOKa3bIBACT, K KAKOMYy YICHY MNPEIIOKCHHUS OTHOCHTCS Bompoc. OCHOBOM st
00pa3oBaHMs CIIEIHUAIbHBIX BOIPOCOB CIIYKaT OOIHMUE BOIIPOCHI.

YTBepauTeApHOe NPeI0KEeHUe

ITognexamee | Ckazyemoe | | lononHenue OOCTOSITENECTBO

A student is doing an experiment |in the laboratory now.
O061mmii Bonmpoc

Is |astudent doing lan experiment [in the laboratory now?
CnenuajbHbIH BONPOC

What |is |a student doing in the laboratory?
Why an experiment |in the laboratory now?

How far is the construction site from
here?

Why have you come?

Where do'you live?

Kak nmanexko
IO aKa’?
[Touemy TbI npuIIEN?
I'ne BEI xuBeTe?

OTCroaa CTPOUTCIIbHAA

BOHpOC K IIOMICKAIICMY HIIM Cro OINpCACICHUIO HWMCCT TIIOPAJO0K CJIOB

IMOBCCTBOBATCIILHOI'O IIPCAJIOKCHUS.

Who is doing an experiment in the Kmo

laboratory?

IPOBOJIHT
nabopartopuun?

OKCIICPUMCHT B

B) Anbmepnamugnslit éonpoc 1o (Gopme MpeacTaBiseT coO0l aBa 00X
BOIIPOCA, COCTMHEHHBIX COI030M «OI» (BTOPOW BOMPOC OOBIYHO OBIBACT HEIIOJIHBIM).
[To comepxaHWIO aTbTEPHATUBHBIN BOIIPOC SBJISACTCS CIICIIUAIBHBIM, T. K. OTHOCHTCS




K KaKOMY-HUOY/Ib WIEHY NpPeUIOKEHUs (Jaie BCero K 0OCTOSTENbCTBY), TOITOMY
TpeOyeT MOJIHOTO OTBETA, KAaK U CHEIHAJIbHBIN BOIIPOC.

Do you like tea or coffee? — I like tea.
You go there, or will your colleague? — My colleague will.

r) OcoObiM BHIOM OOIIMX BOMPOCOB SBJSIFOTCS TaK Ha3bIBaeMbIC
pacuneHenHbie Borpockl (Disjunctive Questions/Tag Questions).

PacunicHEHHBII  BOMNPOC  MPEJACTABJISIET COOOW  yTBEPAMUTENBHOC  HIIH
OTPHIIATEILHOEC TTOBECTBOBATEIILHOE TMPEAJIOKCHHE, K KOTOPOMY TMPUCOCIUHCH
KpaTKUi OOIIMI BOIPOC, COCTOSIIUM M3 COOTBETCTBYIOIIEIO MECTOMMEHUSI M TOTO
BCIIOMOTATEJILHOTO MJIM MOJIAJIBHOTO TJIarojia, KOTOPhIA BXOJHUT B COCTAaB CKa3yeMOro
noBecTBoBareabHOro mnpemnoxkenus (do, does wmmm did, eciim moBECTBOBATEIBLHOE
npeioskenue B Present nm Past Indefinite):

+ KpaTKui 00IUHBOIPOC
¥ TBepRICHHE (tagpquestion) P
1.|You speak French, | don’t | you?
2. | She isn’t | very busy, IS she?
3. You are | working hard, | aren’t | you?
4 4 £ 4
A B B A

A A,
Kpatkuit 061muii BOmpoc COOTBEICTBYET B PYCCKOM f3BIKE CIIOBaM «He npasoa
au? He maxk au? oa?»:

1. Bbsi roBopute no-gppaHily3cku, He TaK Ju?
2. Bl MHOTO pabotaere, HE fipaBaa Jin?
3. Ona He oueHb 3aHATA, na’

Practice
Exercise 1. Point out(subjects and predicates in the following sentences. Translate
the'sentences into Russian.
1. Many greatmen in England have been buried in Westminster Abbey.
2. Everyoneis ready to help him.
3. Qur-astronauts have spent hundreds of hours in outer space.
4.0Oneneedn’t go to a post-office to send a letter.
5. To send letters from one community to another was necessary even in ancient
times.
6. There is a railway road connecting these two towns.
7.1t is autumn.
8. He was late for the train.
9. It has been raining for two days.
10. He began to prepare for exams.
11. She stopped crying and looked at me hopefully.



12. He is considered to be a clever man.
13. His work is interesting and important.
14. Jack has to take a taxi.

Exercise 2. Point out objects. Translate the sentences into Russian.
1. They pick apples in October.
2. Tom sold his car.
3. Satellite Internet offers two-way data communication.
4. Electronics encompasses broad range of technology.
5. We won’t go out unless it stops raining.
6. I live in the house by the sea.
7. He asked me to open the door.
8. The keys to the boxes were lost.
9. One can daily see him in the bar.

Exercise 3. Point out attributes and adverbial modifiers. Translate the sentences
into Russian.
1. 1 am going to read the newspaper delivered.
2. Here is the document to be typed.
3. The problem being discussed is very important.
4. | read this article with great interest.
5. He told me about this tragic event at home yesterday.
6. He offered me a cinema ticket at the university yesterday.
7. We often come across this expression on business English.
8. He has sent me a few English books‘to read in my spare time.
9. Show me the telegram received inthe morning.

Exercise 4. Arrange these groups-of words in the right order. Add (.), (?) or (}).
Describe eachsentence as a statement, question, command or
exclamation.

1) the coffee, don’t, spill;

2) today’s papers, haveyyou, seen;

3) to meet you, how,nice;

4) my umbrella; where, did, you, put;

5) arrived, the train, fifteen, minutes, late;

6) have,discussed, the problem, they;

7) in‘gur, Student, group, studies, this;

8) examinations, June, will, take, students, the, next;

9) laboratories, are, at, there many, the, University;
10) factories, furniture, produce, these;

Exercise 5. Put questions to the words in bold type.
1. Michael doesn’t like sweet things.
2. | went to the theatre but | don’t remember the play.
3. The game was cancelled.



4. My father never left his native country.
5. She used to live next door.
6. The children can read French,
7. There are twelve students in the group.
8. The document was signed by the President.
9. At nine o’clock next morning he will be taking part in the discussion of a very
important scientific issue at our University.
10. Alan is leaving in a week.

Exercise 6. Define the types of the sentences. Translate them into Russian,
. It is this last category that is of interest to us.

. One cannot live without friends.

. It often snows in February.

. It was this scientist who discovered this reaction.

. They say Ed is the best football-player.

. It was Tsiolkovsky who suggested the idea of a man-made satellite.
. One who wants to be a teacher should love children.

. It was not till 1959 that scientists succeeded in this field:

. It is too dark outside.

10. Itis clear.

O©CooO~NoOoOorTh~wpNPEk

Exercise 7. Point out 1) disjunctive questions, 2) alternative questions and

3) questions to the subject.

1. Does he often come here?

2. Who often comes here?

3. When does he come here?

4. He often comes here, doesn't he?

5. Does he or his friend often come here?

6. He doesn't often come\here, does he?

7. What lay on the table?

8. Did the book lie onithe table or on the floor?

9. The book lay.0n the table, didn't it?

Exercise 8. Putall possible special questions to the following sentences.
1. Last night they went to the drama theatre to see a new play.
2. By the time he came home his younger sister had done all home exercises.
3. Every day at 5 o'clock the homeless black cat came to the back door of the old
country house to get something to eat.
4. There are many flowers in our garden in summer.
5. He makes many mistakes when he writes his dictations or compositions.
6. The telegram will have been delivered before they get this letter.
7. The theatre was being built when | moved to this street.
8. The students had written their test by 12 o'clock yesterday.
9. Next year she will have taught English for 20 years already.
10. The students are listening to the lecturer attentively.



HNuBepcus
(Inversion)

KpoMe  oOTMeueHHBIX  BBIIIE  CIIydaeB  OTCTYIUIGHHS OT  IPSAMOTO
(PUKCUPOBAHHOTO TMOPSAKA CIOB B AHTIHMICKOM IPEIJIONKEHUU (BOTPOCHUTEIBHBIC
npeuiokeHus, 06opot there is / are, ycunurenbHO-BBICTUTEIbHAS KOHCTPYKIHS It
IS ... that), B 001iecTBeHHO-ITOIMTHYECKON U TEXHHUECKOH JUTEepaType CYIMECTBYIOT
OTCTYIUICHUSI TIO0 CTHJIUCTUYECKHM COOOpPaKCHHUSM, KOT/Ia HEOOXOJWMO BBIICTHUTH
KaKO-HUOY/b BTOPOCTENEHHBIN WIEH MpeMIOKEeHU. BpiaensaemMoe cioBo, €Cii 3TO
HE HapyllaeT TPaMMAaTHYECKUX CBS3€ MEXIy CIIOBaMH, OOBIYHO BBIHOCUTCS B
Hayajo MpeIoKeHus. Takol Crmoco0 YCWIICHHs 3HAYCHHS KaKOTO-THO0O0  ‘uiieHa
NPE/IOKEHUS Ha3bIBACTCS MHBEPCHUEH.

1. Ilpu MHBEpCUM B HAYAJIO TPEJIOKEHHUS] MOKET BBIHOCUTHCS:

a) JOTIOJTHEHHUE:

This mistake we observed in all his HUmenno ymy omuod6Ky M1 HaOIIO1a7TH
articles. BO BCEX €T0 CTAThIX.

0) ckazyemoe:
In the vacuum was a new sample. B Bakyyme naxoouics HOBBIM 00pasell.

B) CMBICIOBasi 4acTh CIOKHOTO CKa3yeMoro, \KOTOpas MOXET OBITh BBEIpaKCHa
npujaraTebHbIM, IPUYACTHEM HACTOSIIEro, BpeMenu (mpuyactuem ), mpudactrem
npoiueamero Bpemenn (npuyactuem ) i cyecTBUTEIBHBIM € TPEIIOTOM:

Remaining to be discussed is the main (Tenepb) ocTaeTcst 0OCYIUTH OCHOBHYIO
problem. npodiemy.

2. WuBepcust Takke , (BCTpeyaeTcsi B  YCTYNHTENbHBIX —HPEMIOKECHHUIX
(Concession Clauses). B atoM enydyae nNpuaaToYHOE MPEAI0KEHNE HAYMHACTCS HE C
coro3a though (although)' «xomsa», a co cMbICIIOBOM dYacTH CKa3yemoro,
BBIPOKCHHOW TpHIaratelibHbIM WM NpuyacTueM (MHOT/IA CYIIECTBUTEILHBIM), 3a
KOTOpOH cienyror-corossl though wmu as:

Difficult though’it'may be the problem Xomsa 5TO MOXET OBITh W TPYAHO,
will be formulated. 3a7a4a OymeT copMyIupoBaHa.

3. "MluBepcHIO MOTYT BBI3BIBATH HEKOTOPBIC HApEYHs, COIO3HBIC CJIOBA U
CJIOBOCQUETAHHMSI, €CJTH OHU CTOSIT B HAYaJIe MPEIOKCHUS:
only — TopKO
never — HUKOTA ... HE (K CKazyeMomy)
rarely — peaxo
nowhere — aurne
not only ... but — He ToMBKO ... HO U
hardly ... when —eznBa ... kak
neither ... nor — a tak xe ... He (K CKazyeMoMmy)

10



given — nipu ycioBuH, eciu (JaHO), €CITH HMEETCS
provided (that), providing that — npu ycnosuu, ecinu
save — 3a UCKITIOYCHUEM TOT'0, YTO; KPOME

Only in special cases do the waves Tonvko B 0COOBIX CIIy4asX BOJIHBI
reinforce one another. YCUJIMBAIOT JAPYT IPyTa.

Not only did the current stop but ... He moavko npekpatuics ToK, HO U ...
Now the system recovers from a fault Temeppr cuctema o0CBOOOXKIAeTCs OT
given a fault occurs. OMUOKUA Mpu ycaoeuu, 4YTO OIIMOKA

HMECT MECTO.

Exercise 1. Translate the following sentences into Russian.

1. Given a particular network, one can always examine all possible-states of the
system.

2. He had perfect knowledge of all the aspects of the situation save-one.

3. The insertion of this metal does not change the temperature-provided the third
metal is of the same temperature.

IToBenauTeabLHBIE Npea10KeHU st
(Imperative Sentences)

[ToBenuTeNnbHOE MPEITIOKEHUE CITYKHL~ VI  BBIPAKCHUS  PHKA3aHUs,
npockObl, coBeTa, 3amperieHus. OHO MOKET/ ObITh KaK yTBEPIUTEIbHBIM, TaK H
oTpulate’abHbIM. [lOBETUTENbHOE TPEIIOKECHNUE HAUYUHACTCSI C IJIAroyia, KOTOPBIi
CTOUT B MHPUHUTHBE O3 yacTuIlbl «t0» (B'YTBEPAUTEILHOM MPEIIOKEHIH), WU CO
BCIIOMOTATEIbHOTO  Tjaroja  «0d@». W  OTPHUIATENILHOW  YacTHIBl  «NOt»
(B OTpHUIIATEIHHOM MPETIOKCHUN):

Open the book, please. OTkpoti (Te) KHUTY, TOXKaTyHCTa.
Don’t wait for me. He xnute meus.

Jlis BbIpakeHHMsi MOOYXACHUS K JCHCTBHIO, OOpallleHHOTrO K MEPBOMY U
TpeTbeMy JHIly, Ipiaroi «let» ymoTrpebinsieTcst mepen COOTBETCTBYIOIIUM JIMYHBIM
MECTOMMEHHEM B \OOBEKTHOM Tajieke (WM CYIIECTBUTEIBHBIM B OOIIEM IaJeKe) U
WHOUHUTUBONL 0€3 «10». DOopMy BTOPOTO JIHMIIA TOBEIHUTEIBHOTO MPEUIOKEHUS B
TEXHUYECKOH) TuTeparype (Hamp. «consider») mydiie nepenaBath (GOpMOI TEPBOTO
JIMIIa, MHOKCECTBEHHOTO YHCJIA:

Juyo Ymeepoumenvnaa ghopma Ompuyamenvnasn gpopma
1-e |Let me (us) turn on the light. Don't let me (us) turn on the light.
[To3BoJIb (TE) MHE 3a)KEUb CBET. JlaBaiiTe HE OyJieM 3aKUTATh CBET.
JlaBaliTe 3a)K)KEM CBET.
2-¢ |Turn off the light. Don't turn off the light.
Brixitounte cBer. He BrIKITIOUAiiTE CBET.
Be careful. Don't be careless.
Byb(Te) 0OCTOPOIKHEL. He 6ynpTe HEOPEIKHBI.
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Consider fig. 1.
Paccmotpum puc.l.

3-¢ |Let him(her, them) define the area Don't let him (her, them) define the

of this surface. area of this surface.

[Tycth oH (OHA, OHK) OIPEACIIUAT [Tycte on (OHA, OHH) HE OmIpeaeIsIeT
IJIOIIAb 3TOW MOBEPXHOCTH. IJIOIIAb 3TOW MOBEPXHOCTH.

Let the pressure fall. Don't let the pressure (it) fall.

ITycth naBienue (OHO) MmajaeT. He nagaii(te) maBnenuio (emy) manars.

Ci10:xHO€ TIpeJIoKeHne

CnoxHoe NpCIOKCHUEC COCTOUT M3 JIBYX MM HCCKOJIIBKUX IIPOCTBIX
HpCI[JIO)KCHHfI, BbIpAXXarOIX OAHY MbICJIb.

CioxHble MMPCIIOKCHUA 6BIBaIOT ABYX THUIIOB: CJIOKHOCOYMHCHHLBIC
(Compound Sentences) u cioxxnonogunaennsie (Complex Sentences):

Cl105KkHOCOYHHEHHBIE NMPEAJIOKCHUSA
(Compound Sentences)

CI0XHOCOYMHEHHOE TPEJIOKCHHE COCTOUT H3* PaBHONPABHBIX IMPOCTHIX
npeioxkeHui (Clauses), rpamMmmaTHdeckd He3aBHCAMEUX Ipyr oT apyra. IIpocteie
npemioxeHus (clauses) coeawHSIIOTCS COYMHHISNBHBIMH COIO3aMH M OOBIYHO
OTHENSAIOTCS 3aIISITOM:

The signal was given, and the steamer CurHan ObUT J1aH, U MapoOX0J MEIJICHHO
moved slowly from the dock. OTOIIIe] OT IPUCTAHHU.

CounHHTEIBHBIC COIO3BI JACIITCA Ha MPOCThIE M cocTaBHBIE: and — u, a, but —
HO, Or — wiu, nHade, as Well as,~ rak e kak (u), both ... and —u ... u, not only ...
but also — me TonbKoO ... HO U, either ... or —wuiwu ... wau, neither ... NOr — vy ... HU.

JUis  COeAMHEHMs <HE3aBHCHMBIX MPEAJIOKCHUN CIy)KaT TakKe Hapeuus
moreover — kpome Top@, cBepx Toro; therefore — mosromy; SO — Tak, 4TO, WTaK;
however — ognako; nevertheless — rem ne menee; still, yet — tem He Menee, BcE xe;
besides — kpome Toro; 0therwise, else, or else — B nmpoTuBHOM cilyuae, HHaUe.

JIBa ni HECKOJILKO MPOCTHIX MpeiokeHuid (Clauses), kak u B pyCCKOM SI3bIKe,
MOTYT COCIMHATHCS B CIOXHOCOYHMHEHHOE IpeIoKeHHe M 0e3 coro3a (B 3TOM
citydae, MEKAY TPOCTHIMH TMPEIIOKCHUSIMA MOYKHO IO CMBICAY IMOCTaBUTh COIO3
and).\ . Mexay nOpemioKeHHsIMH, BXOAAIIMMH B COCTaB  0OECCOIO3HOTO
CJI0KHOCOYHMHEHHOTO MPEIIOKEHHUSI, CTABUTCS TOYKA C 3aIISITOM.

He will return from London in June; his sister will stay there another month.

CJ10:KHOTIOIYMHEHHbIE TPeNJI0KEeHUA
(Complex Sentences)

Kaxnapiii uieH mnpemioxkenus (IoJiexariee, CKasyeMoe, [IOIOJHECHHE,
00CTOATENBLCTBO, OMPEIEIEHNE) MOKET ObITH BBIPAXKEH:
1) oIHUM CIIOBOM;
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2) rpymnmoi cioB (0e3 ckazyeMoro);
3) IpUIATOYHBIM MPEAIOKEHHEM (CO CKA3yEeMbIM).

CyIecTByeT MATh TUIIOB MPUAATOUYHBIX Mpeanokenui (clauses):

1) mpunarounoe momexariee (Subject Clause);

2) mpunatounoe ckazyemoe (Predicative Clause);

3) npuaarounoe nonoauutensaoe (Object Clause);

4) npunatouHoe onpeaenutenbHoe (Attributive/Relative Clause);
5) npuaarounoe oocrosreascteeHHoe (Adverbial Clause).

CJI0)KHOIIOAYMHEHHBIC MPEIIOKECHHUS COCTOST W3 TJIaBHOTO (Main clause) u
OJIHOTO MJIM HECKOJbKHX MpuaartouHbix (Subordinate clauses). Mesxjy \[TTaBHBIM U
OpUIATOYHBIM(K) TPEUIOKCHUSIMH  YCTAaHABJIMBAIOTCS OTHOIICHUS TOTYMHCHHS,
CMBICJIOBOM 3aBHCHMOCTH TNPUAATOYHOIO IMPEIJIOKEHUS OT OAHOr0 U3 YJICHOB
riaBHOro. CMBICIIOBast 3aBHUCHMOCTh CTPYKTYpHO O(GOPMIIIEICS IOCPEACTBOM
OTYMHHUTEILHBIX CO030B U COr03HBIX ciioB (Who, when, that)while, before u 1p.), a
Tak)ke 0€CCOI03HO, ¢ MTOMOIILI0 HHTOHAIIUH:

He thought that the train arrived at 6.15.  On gymasn, 910 1Moe3 1 MpuxoauT B 6.15.

After the agreement had been signed, the  TTocne Toro kak cornameHue ObLIO

delegation left for England. MOATFCAHO, JCJIeralus yexaja B
AHTIHNIO.

B anrmmiickoM s3bIKe, B OTIIMYME OT* PYCCKOIO, MPUAATOYHBIE MPEITIOKEHUS
4acCTO HE OTAEIIAOTCSA 3aIATOM OT IJIABHOIO.

CxeMaTu4ecKkn CTPYKTYpPY. CIOKHOIIOAYMHEHHOIO IIPEMIOKEHUSI MOYKHO
IPECTaBUTh CIEAYIOIUM 00pa3oM:

Subject Clause

Predicative Clause

Main clause + Object Clause

Attributive/Relative Clause

Adverbial Clause

Kind of clause Usual conjunctions Examples
Tun npuaaToyHOrO OOBIYHBIEC COFO3BI [Tpumepsl
MpEeIJIOKCHNUA
Subject Clause Who, which, what, where, |What is done cannot be
when, how, why, etc. undone.
Predicative Clause That, if, whether, as if, |The truth was that he didn't
etc. love her.
Object Clause who, which, what, that, |I don't know what happened
etc. yesterday.
Attributive/Relative Who, whose, which, that, |He is the customer whose
Clause where, when, etc. address | lost.
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CylmecTBylOT  pa3iMuHble  TUIBl  MNPUJATOYHBIX  OOCTOSATENIbCTBEHHBIX
MPEIJIOKEHUM:

Kind of an Adverbial Usual Examples
Clause conjunctions [Tpumepsr
Tun npuaaToyHoro OObIYHbBIE COIO3BI
NPEAT0KEHHUS
Time Clause when, before, after, | When he had gone, she sighed. I'll

since, while, as | call you as soon as you come home.
soon as, once

Conditional Clause if, unless What will I do if he doesn’t come? I'll
go to the country unless it rains.

Purpose Clause in order to, so that | The police locked the door so (that)
no one could get in.

Reason Clause because, since, as | Since it was Sunday, he stayed in bed.

Result Clause so that She got such a shock that she fainted.

Concession Clause (ahthough, in spite | Though he is French, he speaks
of the fact, while English well.

Place Clause where, wherever He said he was happy where he was.

Practice
Compound sentences with the same subject.

Exercise 1. Join these sample sentences to.make compound sentences. Use words in
brackets.

Model: | took the shoes back to the'shop. | complained about them (and).
— | took the shoes back-to-the shop and complained about them.

1. Jim built his own house. He'designed it himself. (Jim not only ... but ... as well)

2. \We agree to the terms.of payment. We object to the time of delivery. (but)

3. We received your telegram on Monday. We sent the answer on Tuesday. (and)

4. The manager objects to the terms of payment. He objects to the time of delivery.
(not only ...but also)

Compound sentences with different subjects and with «so / for».

Model: . The taxi stopped at the station. Two men got out of it. (and)
The taxi stopped at the station and two men got out of it.

=

You can give some advice. Your colleague can. (either you ... or)

. The old lady was nervous. She wasn’t used to strangers calling late at night. (for)
3. The telephone connects you to a person directly. Your question will be answered
immediately. (and)

| like ice-cream. Michael doesn’t like sweet things. (but)

. The alarm-clock rang. | had to get up. (and)

N

o
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Exercise 2. Complete the sentences with noun clauses (or that-clauses) as subject of
a sentence (sentences with noun clause subjects usually begin with it).

Model: He feels angry. It’s not surprising. — It’s not surprising (that) he feels angry.

1. She has resigned from her job. It’s a shame ....

2. There are no lights on. It’s strange ....

3. You were insured. It’s a good thing ....

4.You’ve passed your exam. It’s splendid ....

5. They didn’t get married. It’s a great pity ....

6. Everybody should know what to do. It is essential ....

Exercise 3. In the following complex sentences find subject clause,” predicate
clause, object clause. Translate them into Russian. (O6partute
BHUMAaHHE, YTO. a) B MPUAATOYHBIX MPCIIOKCHHAX MMOAJICIKAIINX,
CKa3yCeMbIX U JOMOJHHUTCIIbHBIX, KOTOPBIC BBOAATCS CITOBAMUA WhOSE, WhO,
what, when, how, why u T.m., Bcerna ymotpe@isieTcss MopsiIoK CjOB
IMOBCCTBOBATCIIbHOI'O MPCAJOXKCHHUA B OTIHHMHC OT CaMOCTOATCIBbHBIX
BOIIPOCUTEIILHBIX TpeIoKeHHi; 0) coro3<that B object clauses uacto
OITyCKAaeTCs).

1. Do you know how a four-cycle diesel works?

2. When heating gases we find they act in exactly the same way as liquids.

3. The question is whether they will arrivein.time to take part in this work.

4. The doctor’s advice was that my sister,should go to the South immediately.
5. That the matter should have taken'such a turn is not surprising.

6. The laboratory assistant said he'would demonstrate a linear amplifier.

7. He isn’t what he pretends ta be.

Exercise 4. Join these sentences using who or which (all of them will also join with
that).

Model: He’s an-accountant. He does my accounts.
He’s my.accountant who does my accounts.

1. She’s the nurse. She looked after me.

2. That’s)the'magazine. It arrived this morning.

3. I'read-books. I borrow them from library.

4. There are some infinite numbers. They are larger than any number we can possibly
write no matter how long we work.

5. 1 met Professor Smith. He’s Tom’s supervisor.

Exercise 5. Join these sentences with one of the conjunctions in brackets.

Model: 1 lost a lot of weight. | was ill. (when)
I lost a lot of weight when | was ill.
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1. I phoned home. I arrived at the airport building. (immediately after)

2. We instructed our London office to prepare the goods for shipment. We received
your telegram. (as soon as)

3. I reached my house. It started raining. (by the time)

4. Fast neutrons can penetrate any material and must be slowed down. They can be
absorbed. (before)

5. She pressed the button. The lift stopped. (when)

Exercise 6. Join these sentences with the conjunctions to say why. More than one
order is possible.

Model: Service in this hotel ought to improve. There’s been a change of management.
(because) — Service in this hotel ought to improve because there’s been a
change of management.

1. Could you sell your old computer to me? You have no further use for it. (as)
2. You don’t like Bill. Why did you invite him? (seeing that)

3. You are here. You can as well give me a hand. (since)

4. The soup was very salty. We were thirsty afterwards. (as)

5. It was too dark to go on. We camped there. (as/because/since)

6. Tom knows French. He’d better do the talking. (as/since/seeing that)

Exercise 7. Complete the following sentences to.say where.
Model: This is the exact spot where the accident happened.

1. Some television programs are familiareverywhere .
2. | like to spend my leave where -

3. He went where __.

4. The house stands where __.

5. She was welcome where *\

Exercise 8. Complete the following sentences to say how. Use conjunction as — kak,
as if (as though) — kax 6yomo, kax ecau ovt, that — umo, so that (so) —
maxK.1mo.

Model: It'sounds as if it’s raining.

1. Younever do anything the way __ .
2. He went to the lecture early .

3. She sat behind me .

4. The weather was so bad .

IIpaBuiio coriiacoBanust BpeMeH
(Sequence of Tenses)

HpaBI/IJIO corjiacoBanusi Bp€EMEH O0OBIYHO HCﬁCTByeT B CJIOKHOIIOJJYHMHCHHBIX
MNPpCIIOKCHHUAX C NpUAaTOYHbBIMU MMPCIIOKCHUAMU (021 (5714741001115 D:¢ THIIOB:
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JOMOJHUTEIBHBIX NpUIATOYHBIX npemntoxkeHusx — Object Clauses, mpumartounsix
npepioxenusx Bpemenu — Time Clauses, nenu — Purpose Clauses, creactBus —
Result Clauses, ycmoBubIx npemioxenusx mnepsoro tuma — Conditional Clause —
Type I).

[lpaBuiao corylacoBaHWs BPEMEH B AHIVIMACKOM SI3BIKE IPEICTABIIACT
OTIPENICIEHHYI0 3aBUCUMOCTh BPEMEHHU IJIaroja B MPHIATOYHOM MPEUIOKCHUU OT
BPEMEHH TJIarojia B TJIaBHOM MPEJIOKCHUH.

OCHOBHBIE TIOJIOXKCHHSI [PaBHJa COIJIACOBAaHUS BpPEMEH CBOIATCA K
CIIETYIOIIIEMY:

1. Eciiu cka3zyemMoe IJIaBHOTO MPE/I0KEHUS BRIPAKEHO TIarojioM B HACTOSIIEM
Wi OyayIeM BpEMEHH, TO CKa3yeMoe MPHUIATOYHOIO TPEJIOKEHHUS MOXKET CTOSTh B
T000M TpeOyeMOM IO CMBICITY BPEMEHHU.

| am busy.
A 3aHam.

He knows (that) | was busy yesterday.
OH 3naem, ato s Obl71 3aHST BUEpA.

I will be busy.
g 0ydy 3aHAT.

2. Ecnu e cka3yeMoe riaBHOTO MPEeJIOKESHHS CTOUT B MPOLIEIIEM BPEMEHH,
TO CKa3yeMoOC IIPHAATOYHOI'O0 IPCAJIOKCHUA, "TAKKC HOJLKHO CTOATH B OJHOM U3
npomenmux Bpemen (Past Simple, Past)Continuous, Past Perfect, Past Perfect
Continuous, Conditional (Future in.the Past).

Korna nelicTBusi, BbIp@KE@HHBIC CKa3yeMbIMH OOOHMX  MPEIJIOKCHUH,
IMpoucCxoaiaAT OAHOBPEMCHHO, (TO" B MNPHUAATOYHOM MNPCAIIOKCHHHU CKa3zycMocC
ynotpebisiercst B Past Simple iwim Past Continuous, koTopble Ha PYCCKHN SI3BIK
0OBIYHO MMEPEBOAATCA HACTOAINIMM BPECMCHCEM.

He said (that) our prices were high. OH cKa3a/1, 9TO HAIIK LIEHBI BEICOKHE.

Ecnu nelicTBre, BBIPAXEHHOE CKa3yeMbIM MPHUIATOYHOTO MPEIIOKEHHS,
IPEAIIECTBOBANO JCHCTBUIO TJABHOTO MPEUIOKEHHS, TO B MPUIATOYHOM
nperoxeHmd -yrnotpeoisercs Past Perfect wim Past Perfect Continuous, kotopsie
NEPEBOISTCA IPOIIEIIIINM BPEMEHEM.

He said-that he had signed the contract. Ou cka3zan, 4T0 HOORUCAN KOHTPAKT.

Eciu B NpUIaTOYHOM TMPEAJIOKEHHM pedb HACT O OyAylieMm, TO
ynotpeosirorest popmbr Conditional (Future in the Past).

He said that business would improve. OH cka3zan, 94T0 OU3HEC YAyUMIUmMCA.
Sequence of Tenses

He lives in New York. OHOBpPEMEHHOE JICHCTBHE

| thought (that) he lived in New York. A oyman, (uto) oH ascueem B Hbio-
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Hopxke.

My mother is sleeping.
| knew that my mother was sleeping.

OnHOBpEMEHHOE JICUCTBUE
Sl 3nan, 9TO MOSI MaMa cnum.

He has returned from London.
| was told that he had returned from
London.

[IpegmecTByroniee neMCTBUE
MHue cka3zanu, 49TO OH 6epHyACA W3
JlonmoHa.

He bought a new car.
| heard that he had bought a new car.

[IpenmecTByromee 1eMCTBHE
A caviman, (4T0) OH Kynua HOBYIO
MaIlINHY.

He will send us a letter.
| supposed that he would send us a letter.

[Tocnenyromiee nemcreue
S nonazan, 4to OH npuwem “HaM
IMHICHBMO.

IIpaBuiio corsacoBaHuss BpEMEH IAEUCTBYET TAKXKE MPU MEPEXOAE U3 MPSIMOHN
peuH B KOCBEHHYIO Peub, €CJIH IJ1aroJjl, BBOJSIINI KOCBEHHYIO peub, YIIOTPEOIIIeTCs B

OIHOM U3 MPOICAINX BPCMCH.

IIpsimasi M KOCBeHHas1 peyb
(Direct and Indirect / Reported Speech)

PC‘IB, KOTOpas nepeaacT IMOAJTHMHHBIC CJIOBa KAKOTO-JIH00 JIHIa, Ha3bIBACTCA

npsmotl peuwio (Direct Speech).

Peub, mepenaBaeMasi He CJIOBO B CIIOBQj.@, TOJBKO MO COJCPIKAHUIO, B BUJIC
NPUIATOYHBIX TPEIOKEHHH, Ha3biBaeTcsL, wocsennou peusio (Indirect Speech /

Report speech):

Ipamasn peus

Koceennasn peuv

He has said: “The ship will arrive at the
end of the week”.

On ckazan: «[lapoxon mpuQyAeT B KOHIIE
HEACIIN).

He has said that the ship will arrive at
the end of the week.

OH ckazan, 4yTo Mapoxoj npudyner B
KOHII€ HEOCIIN.

“The date of the next meeting hasn’t been
fixed yet”, she mentioned.

«/lata  crmemyromero  coOpaHus
YCTAaHOBJICHaA» YIIOMSAHYJIA OHA.

HE

She mentioned that the date of the next
meeting hadn’t been fixed yet.

OnHa ynomsiHyna, 4YTO JaTa CJEeAYIOIIEro
CO6paHI/IH CIIC HC YCTAHOBJICHA

“Calculate the-profits for the first year”,
he said:

«PaccuuTaiite npuObLIL 3a MEPBBIA TOIY,
CKa3aJl OH.

He told them to calculate the profits for
the first year.

OH Beslel UM paccuuTarh NPHUOBLIL Ha
CIICIYIOILIUM TOJ.

I'marogsr say, tell, ask
['naron to say ucmonb3yercss B npsMoit peun. OH TakKe HCIONB3YETCS B

KOCBEHHOMW peuH, KOr/a 3a HUM HE CJIEAyeT JOMOJHEHHE, YKa3bIBAMOIIee Ha JIHIO0, K
KOTOpOMY oOpariarrcst ¢ peubto. Eciu jke mocie t0 Say mMeeTcs Takoe JIOMOTHEHHE,
To t0 say 3amensercs riaroyiom to tell. To ask ucrmonb3yeTcst B mpsMbIX BOMpocax, a
TaK)Xe B KOCBEHHBIX BOMPOCAX U KOMaH/IaX:
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Ilpamasn peus Koceennasn peuw
“I can fix it,” he said. He said he could fix it.
“l can do it,” he said to me. He told me he could do it.
He asked, “Are you OK?” He asked me if | was OK.
He said to me, “Please, don’t go!” He asked me not to go.

Bripaxkenus ¢ say | say good morning/evening, etc., say something, say one’s

prayers, say a few words, say so, say no more, say for certain, etc.

Bripaxkenus c tell | tell the truth, tell a lie, tell (somebody) the time, tell somebody

one’s name, tell a story, tell a secret, tell somebody the way, tell
one from another, tell somebody’s fortune, tell somebedy so, tell
the difference, etc.

Bripaxenus ¢ ask | ask a favour, ask the time, ask a question, ask theprice, etc.

[psimast peus (Direct Speech) mosxxet npencTaBisaTh COQOM:

noBecTBoBareabHOE Tipemioxenue (Declarative Sentence’/ Statement);
BOTIpOoCcHUTeNIbHOE Npeoxkenue (Interrogative Sentence);
noBeJmMTeNbHOE Tpetokenne (Imperative Sentence);
BOCKJIMIIaTebHOE Tipemnoxkenue (Exclamatory, Sentence).

Kocsennas peus (Indirect /Reported Speech) npunumaet aBe Gopmbi:
I'maBHOC MNpECIJIOKECHHUC C IJ1aroJiIoM roBOpPCHUs =+ MpUuAATOYHOC MMPCIIOKCHHUC!
They say that we will receive the cenfirmation next week.

['maBHOE mNpemioKeHHe C TJIAROAOM TrOBOpeHUs + HHPUHUTHB ¢ «to» /
Gerund(I'epynoui):

They asked us to send confirmation as soon as possible

He apologized for hurting me.

[Ipn wu3MeHeHUU ‘OPSIMOM peur B KOCBEHHYIO OO0pa3yroTCsl NPHUIaTOUYHbIE

npeuioxkeHuss (CM. BBIIE), Tae JIEHCTBYeT coriacoBanue BpemeH (Sequence of
Tenses).

BpemeHa ‘cka3yeMbix MPOCTHIX MpeaoxeHui (statements), nmepenaBaeMbix B

KOCBEHHOM PEdu, OOBIYHO U3MEHSIOTCS CIEAYIOMUM 00pa3oMm:

Direct Speech Indirect / Reported Speech
Present Simple — Past Simple
I like'music. He said he liked music.
Present Continuous — Past Continuous
Is it raining? He asked if it was raining.
Present Perfect - Past Perfect
She has never been there. He said she had never been there.
Have you ever been there? He asked me if | had been there.
Present Perfect Continuous — Past Perfect Continuous
I’ve been waiting for ages. He said he had been waiting for ages.
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Past Simple
He didn’t recognize me.

Past Perfect
He said he hadn’t recognized me.

Past Perfect
We hadn’t met him before that day.

Past Perfect
They said they hadn’t met him.

Future

Conditional

—
They will be late. (Future in the Past)
| was afraid they would be late.
can/ may — could, might
| can swim. He thought he could swim.
It may snow. They hoped it might snow.

would, could, might,
ought to, should
You could/might be wrong.

would, could, might,
ought to, should
He thought | could/might be'wrong.

must — must/had-to
We must go. He said they must go.
He said they had 10,90.
Conditional Conditional

| would/should like to see it.

I said | would/should like to see it.

Obwuii 6onpoc NPUCOCTUHSICTCA K TIIABHOMY\TPEIJIOKEHUIO corozamu If wiu
whether, cneyuanrvnvie 6onpocer PUCOCAVHSAIOTCS K TIABHOMY MPEIJIOKCHHUIO C
IIOMOIIBIO TOT'O BOIMPOCHTEILHOTO CJI0Ba, KOTOPOE OBLIO B BOIPOCE B MPSIMON PEUH.
[TomHHTE, YTO B TaKWX NPUAATOYHBIX/ JIPEIIOKCHUIX OyACT TMOPSIOK CJIOB
noBecTBOBaTeIbHOTO Tpemioxkenus (declarative sentence), T. e. mpsiMoi.

KocBennbie BOnpocsl
(Indirect Questions)

Special Questions

He asked (me) — On cipocwit (MeHs1)
He wanted to know — On xoTen 3HaTh
He wondered — On nonnaTepecoBacs

“Where do you live?”’

“Where does he work?”

“What is Nick-doing?”

“What have yeu prepared for today?”
“When(did you come home yesterday?”
“When'will your mother come home?”

where | lived.

where he worked.

what Nick was doing.

what | had prepared for that day.
when | had come home the day before.
when my mother would come home.

General Questions

He asked (me)
He wanted to know
He wondered

“Do you play chess?”

“Does she go to school?”

“Are you listening to me?”

“Have you done your homework?”

| played chess.

if she went to school.

whether (I was listening to him.

| had done my homework
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(before).
“Did you skate last winter?” | had skated the winter before.

Tlosenumenvroe HaknioHeHue 3aMEHSIETCS B KOCBEHHOM peun I/IH(i)I/IHI/ITI/IBOM.
OTpI/IHaTeHBHaﬂ (1)0pMa IOBCIUTCIBHOI'O HAKJIIOHCHHUA 3aMCHACTCS I/IH(l)I/IHI/ITI/IBOM C
not:

asked
HOMPOCHIT todoiit.
ordered ClIENaTh ATO.

He puKa3aj me

On told MHE
BeEJIEI not to do it.
advised HE JIeJIaTh JTOTO.
IIOCOBETOBAII

Bpemena He m3menstorcs B kocBeHHo# peun (Imdirect / Reported Speech),
Korzaa:
a) FOBOp}IHII/Iﬁ BbIpaKacT 06IH€I/ISBGCTHI>IC (baKTLI, [HOCTOSAHHBIC COCTOsAHUA HWIIN
YCIIOBH.
“Water turns into ice”, he said. — He said water turns into ice.
b) roBopsimuii IepeaacT TOJBKO YTO CKa3aHHYI0 HH(POPMAIIHIO.
“I will call you back”, he said. —sHe said he will call me back. (mepeckazano
cpasy xe)
— He said he would call me/back. (undopmarus nepenaercs mozxe)
¢ Ecnu roopsmmii nepenaet \mHpopMalnioo, KOTopas, Kak IMOoJaraioT, BepHa, TO
BpEMs B IPUAATOYHOM MPEHANOKCHUN MOXKCT M3MCHHUTLCH HNJINM OCTATHCH TEM IKeE.
Ho ecnu mnepenaBaemas ) mHbopMalus HEBEepHas, TO BpeMs B MPHUIATOYHOM
MMpCAJIOKCHHUN O6$[321TCJ'H:HO N3MCHSACTCA.
“She likes this“eell phone”, he said (Bepno) — He said she likes / liked this
phone.
“Canada’is a poor country”, he said. (neBepro) — He said Canada was a poor
country.
¢ The (Past *Simple um3mensiercs B the Past Perfect mnam moxer ocrtaBaThcs 0e3
HU3MEHEHU.
“l was carly for the meeting”, she said. — She said she was / had been early
for the meeting.
¢ The Past Perfect u the Past Continuous oObl4HO OcCTarOTCsi 0€3 U3MEHEHHS B
KOCBEHHOM peYH.
“l was watching TV while Ann was reading a book”. — He said he was
watching TV while Ann was reading a book.
¢ Bpemena He M3MEHSIOTCS, €CIIM TNepenaBaeMasi B KOCBEHHOM peun HHGOpManus
COACPKUT MAJIOBCPOATHLIC IleﬁCTBI/IH B IIPpOHLJIOM, YC/JIOBHBIC MNPECAJ0KCHHA
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THNAa 2/TUna 3 win npeaioxkenus ¢ Wish.,

“It’s time we went”, he said.— He said it was time they went.

“If we paid our workers better, we would become a popular employer”, he
said.— He said that if we paid our workers better, we would become a popular
employer.
¢ ['maron might (would B yTBepikieHHsSX) B KOCBEHHOH peyd HE H3MEHSETCs, 3a
UCKIIFOUEHHUEM CITy4aeB, KOTJa OH yHOTPEOIIIeTCsl 1Sl BEIPAKEHUS MPOCHOBbI:

He said, “Ann might ring him. — He said that she might ring. (that day)

Ho: “You might post these for me”, he said. — He asked me to post them for
him.

I'maromer  ought to, should B 3HadyeHMM JOMKCHCTBOBAHHMS WM
npexnoioskeHus (obligation or assumption) B KOCBEHHOW pedr HE H3MCHSHOTCH:

“They ought to / should widen this road”, I said. — I said that they. ought to /
should widen this road.

| said, “I should be back by six”. (1. e. s momarai) — I saidul'should be back
by six.

Ho eciu 3Tu riarosisl (a Takxke Must) BeIpaxaroT COBET\(a He 0053aTebCTBO),
TO B KOCBEHHOH pe4H MX MOYKHO Iepeaath riarojoM advise + object+ infinitive:

“You ought to / should / must read the instructions”, said Ann. — Ann
advised / warned me to read the instructions.
¢ [Ipu nepenade npsMoON peyd KOCBEHHOW JIMYHBIE' MECTOMMEHMSI B UMEHHUTEIbHOM
U MIPUTSKATEIIBHOM TMa/IeKaX U3MEHSIIOTCSI COTJAACHO KOHTEKCTY.

“I will show you my new PC”, she said. — She said she would show me her
new PC.

HeKOTOpI)Ie YKa3aTCJIbHbIC! MECTOMMCHHA W HapCiusa BPCMCHH, MCCTAa B
KOCBEHHOU pE€Un UBMCHAIOTCSA BI3ABUCUMOCTH OT KOHTCKCTA!

Direct Speech Reported Speech

this, these that, those, the

now then, at that time, at once, immediately

here there

tonight, today that night, that day

yesterday the day before

last night/week/month/year the previous night/week/month/year
a night/week/month/year before

the day before yesterday two days before

tomorrow the next day/the following day

the day after tomorrow in two days’ time/two days later

next week/month/year the fol Iowmg}week/mon thiyear
the next

ago before
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Crnenyer, olHaKO, UMETh B BHUJY, YTO TaKyl0 3aMEHY HENb3s MPOU3BOIUTH
MEXaHUYECKH, a TOJBKO B TeX CIydasX, KOTJa 3TOro TpedyeT CUTyalus, B KOTOPOM
nepenaéTcsi KOCBEHHAs PeUb:

1. He said, “My brother works here”. Ou cka3an: “Moii 6part pabotaer 31aech”.

[Ipu oOpaiieHrH B KOCBEHHYIO PEeUb CIICAYET COXPaHUTh NEre, eciy KoCBeHHasl
peub nepenaércs B TOM K€ MECTe, TJie paboTaeT Opar.

He said that his brother works here. Omn ckazan, 4to ero 6pat padboTaer 31eCh.

2. He said, “I saw her yesterday”. On ckazain: “S Bumen e€ Buepa”.

Ecnmu xocBeHHast peub mepenaéTcst B TOT e JeHb, KOTJa ObLTa IpOM3HECeHa
npsiMasi peub, TO B KOCBEHHOM peun coxpansiercs yesterday:

He said that he saw her yesterday.  Ou cka3ai, 4to (oH) Buaen eéBUcpa.

Ecnu xe xocBeHHas peub mnepemaTcs Ha CICAYIONMIUN JIHb WM, MO3Ke, TO

yesterday 3amensiercs Ha the day before.

Introductory verbs
(T;aroJibl, BBOJSIINE KOCBEHHYIO PEeUb)

Introductory Direct speech Reported speech
verbs
agree+to-inf “Yes, I’ll help you.” He agreed to help me.
offer “Shall | open the door?” He offered to open the door.
promise “Of course I’ll pay you.” He promised to pay me.
refuse “No, I won’t go with you.” He refused to go with us.
threaten “Stop crying or I’ll punish you,™{ {He threatened to punish me if I didn’t stop

crying.

Advise+sb+to—inf
ask

beg

command

invite
order
remind
warn

“You should see a lawyer.”
“Could you help me?”

“Please, please don’t hurt her!”
“Stand to attention!™

“Will you,have dinner with me?”
“Leave.thecat alone!”

“Don’t forget to ring Ann.”
“Don’t go near the rocks.”

He advised me to see a lawyer.

He asked me to help him.

He begged me not to hurt her.

He commanded the soldiers to stand to
attention.

He invited me to (have) dinner with him.
She ordered me to leave the cat alone.

She reminded me to ring Ann.

He warned me not to go near the rocks.

admit + gerund
accuse sb of
apologise-for

boast of/about
complain to sb of

“Yes; | told her the secret.”
“You took the money.”
“I’m sorry | arrived so late.”

“I’m the fastest of all.”
“I have a toothache.”

He admitted (to) telling/having told her the
secret.
He accused me of taking/having taken the
money.
He apologized for arriving/having arrived
so late.
He boasted of/about being the fastest of all.
He complained to me of having a toothache.

deny “l didn’t take the book.” He denied taking/having taken the book.
insist on “You must come with us.” He insisted on me/my going with them.
suggest “Let’s have a party.” He suggested having a party.

agree + that- “Yes, it’s a big house.” He agreed that it was a big house.

clause
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complain “You’re always lying to me.” He complained that | was always lying to
him.

deny "] didn’t take that book” He denied that he had taken the book.

explain “That’s why | didn’t take it.” He explained to me why he hadn’t taken it.

exclaim/remark  [“What a sunny day it is!” He exclaimed/remarked that it was a sunny
day.

promise “Of course I’ll help you.” He promised that he would help me.

suggest “You’d better see a doctor.” He suggested that | (should) see a doctor.

Note: admit, advise, boast, insist, threaten, warn, remind can also be followed by a that-clause in

Reported speech.

Practice
Exercise 1. Change direct speech into indirect (with declarative sentences):

NogogbhowobdETM ©ONOORWNMET ©ONOOOTEWRNE
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He has just said, “l want to speak to you”.

He has said, “We have finished our work”.

He will say, “I will do it at once”.

He said, “This task is very difficult”.

He said to her, “I met him last month”.

He said, “He is going to St. Petersburg tomorrow”.
He said to me, “I have never been here before”.

I said, “I was ill yesterday”.

He said to them, “She will be here in half an hour”"

xercise 2. Change direct speech into indirect (with interrogative sentences).

He has just asked me, “Who will come ta.the concert-hall with me?”
He has asked me, “Will you be at home,tonight?”

He has just asked me, “Is it time to/go?”

He asked me, “Where are you going?”

She asked me, “Does he alwayscome so early?”

He asked her. “How did youdo that?”

He asked me, “Is it raining?”

She asked him, “Have the children returned from school?”

He asked me, “How old are you?”

xercise 3. Change direct speech into indirect (with imperative sentences).

| said to him,*“Please open the door”.

| said te her, “Copy this text”.

| said to him, “Please don’t be angry”.

He said to me, “Don’t wait for me”.

She said to me, “Don’t be late”.

He said to me, “Please send her the postcard”.

He said to the secretary, “Bring me the fax we have received this morning”.




PA3JIEJI 2. CIOBOOBPA3ZOBAHUE
(WORD-BUILDING)

B aHTIIHIICKOM SI3bIKE HIMEETCSI HECKOJIBKO CITOCOO0B CIIOBOOOPA30BAHUS:

1) adpukcanus (T. e. npubaBiIeHHE K cI0BY cyddurkca wim npedukca);

2) xouBepcus (0Opa3oBaHME HOBBIX CJIOB ITyTEM IEPEX0Jaa B IPYTYIO YacTh pedn 0e3
W3MCHCHUS WX HAIMCAHUS ¥ MPOU3HOIICHUS);

3) cnoBocnoxenne (0Opa3oBaHME HOBOTO CIOBA IYyTEM CIOXKEHHsS JBYX CIOB B
OJIHO);

4) u3MeHeHHe yIapeHusi B CJoBe (COOTBETCTBEHHO, IOJIYYE€HHE HOBOTO CJIOBA,
OTHOCSIIETOCS K JPYroi 4acTh PeuH).

CioBooOpasoBanue ¢ nomoubio apduxkcanuu

OOpazoBaHue HOBBIX CJIOB MOXKET MPOUCXOIUTH MPHU MOMOIIM IPUCOSTUHEHUS
K OcHOBe cnoBa cyhdukcoB wm mnpedpukcoB (mpucrtaBok). [Ipedukce
MPUCOEANHSIIOTCS K KOPHIO clioBa B Hauane, a cypduxcel — B konime. Crosa,
oOpa3oBaHHBIE C TMOMOIIBIO MPEPHUKCOB WIH CyPPUKCOB, B OTIMYHME OT MPOCTHIX
CJIOB HAa3bIBAIOTCS MPOU3BOJHBIMHU.

[Tpeduxcel, kak U cyPpdUKCH, MOTYT MPUCOSAUHITHCS K PA3NIUYHBIM HaCTAM
pedu, U3MEHsIs IPHU STOM 3HAUYE€HUE OCHOBBI CIIOBA, HAIPUMED:

1. |happy - cuactimBeiii  [Unhappy - HecuacTHBIN |hapPINeSs - cuactee |happily - cuactanBo
2. |help - momorp helper - momomHuk helpful - monesusiit |helpless - 6ecrromorHbI
3. |correct - mpaBHIIbHBIN incorrect - HenpaBMIIBHBIII

Cypdukcni

1. Cydduxcol, 00pasywouue cymecTBuTeJIbHbIE.

1.1. Cydduxcsr, obpazyrorue CYIIIECTBUTEbHBIE, 0003HavaroImMe
MPOU3BOAUTENS NEUCTBUS WU TIPEIMET, C TTOMOIIBIO KOTOPOTO OHO TMPOU3BOIAMTCA.
Taxue cymecTBuTenbHBIE 00Pa3yIOTCS B OCHOBHOM OT TJIaroJioB:

-er, -or

to heat HarpeBaTh heater 10JIOTpeBATElb,
pajauarop

to construct |ctpouts constructor CTPOUTEND

to explore |uccaenoBath explorer HCCIIEN0BATEIb

-ant, -ent

to assist MIOMOTaTh assistant TTOMOTITHHUK

to study U3y4yaTh student CTYACHT

1.2. Cy(ddukcel, o6pazyroiine CymecTBUTeIbHbIE, 0003HaYaIONHe JTUIIO.

-ist, -yst  |yka3zwviearom na npogheccuro, Ha RPUHAOIEHCHOCb K HONUMUYECKOMY
UAU HAYYHOMY HANPAGICHUIO:

to type nevyaTaTh typist MaITUHUCTKA

to analyze |aHanu3upoBathb analyst aHAJIMTUK, JITAOOpaHT-
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XUMHK, CTIEIHAIUCT T10
NICUXOaHAIN3Y

-ian, -ese Ka3b16a10M HA HAUUOHAIbHOCb UL RPUHAOTIEHCHOCHLL K 20PO0Y:

Belarusian oenopyc

Japanese SITTOHEI]

-lan Kazvleaem Ha npogeccuro:

electrician |371eKTpOTEXHHUK

-ee 0003nauaem quYo, Ha KOMOpPoe HANPAaesIeHo delicmaue:

to address |ampecoBathb addressee ajpecar

to trust JIOBEPSTH trustee JIOBEPEHHOE JIUILIO

1.3. Cybduxkcsl, oOpazyrorue OTBJICUCHHBIE CYIIECTBUTEIIbHBIC,

0003HaYaroIIMe O0IIHe MOHATHSA (IIPOLECChI, COCTOSIHMSI, CBOMCTBA, KA4eCTBa H T.JI.).
Takue cymecTBUTENbHBIE 00pa3yloTCsi OT  TJIArojioB, TMPWIAraTeIbHBIX W
CYLIECTBUTEIIbHBIX.

A. OT r1aroyios:

-ion, -tion, -ation, -sion, -ssion

to connect |coenuHATH connection COCIUHEHUE
to produce |mpou3BOAHTH production IIPOU3BOJICTBO
to organize |opraHu30BBIBaTh organization OpraHu3aIys
to collide |crankuBatbes collision CTOJIKHOBCHHE
to admit  |momyckaTh admission JOMyIICHHE
-age

to assemble |co6upars lassemblage c6opKa

-ment

to measure |u3mepsTh Imeasurement [m3Mepenne
-ure

to press ‘I[aBI/ITB |pressure |I[aBJIeHI/Ie
-ance, -ence

to depend [3aBuceTh dependence 3aBHCHMOCTD
to disturb  |mapymate disturbance HapyIICHHE
-ing 00pazyem omeanazoibHble CyuwiecneumenbHble:

to cool OXJIKIATh cooling loxnaxnenue

B. ot IpHUIaraTCIbHbBIX.

-Ness

effective  [>dpdexrupmsiii leffectiveness >bdexTHBHOCTS
-ity

similar CXOJIHBIN |Si milarity |CXO,IICTBO

-th 00bIUHO C UMEHEHUEM KOPHEBOUl 2/1IACHOIL:

long JUTHHHBIN llength |umHa
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C.or npujaraTCeJibHbIX U CYIICCTBUTCIIbHBIX !

-dom

free CBOOOIHBIN freedom cBoOoO/1a
King KODOJIb kingdom KODOJIEBCTBO
-ism

patriot lnatpuor Ipatriotism lmarproTsm
-hood

neighbour [cocen Ineighbourhood lcocencrro
-ship

member  [unen Imembership lanencreo

2. Cyddukcel, odOpasyonue npuiaaratejbHble.

2.1. Cydduxcel, yka3plBaroIllie Ha HAJIMYUE COOTBETCTBYIOHIMX KadyeCTB U

cBoiicTB. Takue npunarareiabHble 00pa3yloTCs OT I1aroJioB U CYIHECTBUTEIbHBIX.

A. OT 1J1aroJIoB:

-able, -ible

to move JIBUTaTh movable IO IBVYKHBII

to extend  |BeITATMBATE extensible DPACTATUBAEMBIN

-ant, -ent

to depend 3aBHCETH dep_endent 3aBUCUMBIN

to resist CONPOTUBIIATHCS resistant COIPOTHUBJISIOIIUICS

-lve

to explode |B3pbIBATH lexplosive B3DbBIBYATHINA

B. ot cymecTBUTENBHBIX:

-al

centre lentn [central lenTPaNBHBII

-ful

use [nosn3a luseful Imone3HbIi

-en

wood lnpeBecuna lwooden [nepeBsHHBLI

-IC

maanet IMaruuT Imaanetic |MArHHUTHBILIH

-ar

circle [KpyT lcircular [KDYrIBIIA

-0us

advantage |mpeumyiiecTBo, Bbirosa [advantageous BBITOJHBIH,
0JIarONpUSTHBIN,
MOJIC3HBIN

-y

dirt Tps3b dirty TPSI3HBIN

_|y

27



[day

|HCHL

daily

|e>KezIHeBHmﬁ

2.2. Cydpdukc, ykasplBarolMii Ha OTCYTCTBHE COOTBETCTBYIOIIMX KAayeCTB U

CBOWCTB:

-less

wire

|HDOBOHOKa

[wireless

l6ecpoBonoUHbIi

2.3. Cybduxkce, yka3plBalOIIMi Ha HATMYUE IPU3HAKA B CJIA00M CTETIEHH WK Ha
NPUHAIJIEAKHOCTh K HAIIMOHAJIBHOCTH:

-ish
white OeJIbIi whitish 0eJ10BaThIil
Pole TIOJISIK Polish MMOJBCKUMN

3. Cyddukcel, oopa3yomue riarojbl 0T MPUJIAraTeJbHbIX
U CyLIeCTBUTEJIbHBIX:

-en

length JUTHHA to lengthen yIITUHATE(Cs1)

weak cIa0bIi to weaken 0CIa0IATh

-fy

intense CUJIbHBIN to intensify YCHJIUBATh

simple IPOCTOM to simplify yIpOIIAaTh

-ize

crystal KpPHUCTAJLI to crystallize KPHCTATM3UPOBATh
real HACTOSAIIUI to realize OCYIIECTBIISITh

4. Cyppukcol, o0pasyroniue Hapeaus:

Haubonee pacnpoctpaneHHbM cypdukcom sBusietrcs cypoukc -ly. On
00BIYHO IPUCOCTUHSIETCSl K IPUJIaraTelIbHBIM M 00pa3yeT Hapeuns o0pas3a JeiCcTBHSI.

-1y

practical  |[mpakTHueckmii practically PAKTHYECKH
easy JICTKHI easily JIETKO
-ward(s)  |yxa3siéaem nanpasnenue:

inward BHYTPb

onward(s) BIIEpET

forward(s) BIIEpET

upward(s) BBEPX

eastward(s) Ha BOCTOK

Exercise 1. Read the following sentences and underline the suffixes in the words in
italics. Write out each word and try to decide what the suffix means.
Refer back to the table if you need help.
1. Potential threats include the destruction of computer hardware and software and
the loss, modification, theft, unauthorized use, observation, or disclosure of
computer data.
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2.

3.

4.

S.

6.

9

10.

Computers enable the creation of graphics that are so realistic that they appear to
have depth, even though they are actually just two-dimensional images displayed
on a flat monitor, television, or movie screen.

A Trojan horse may appear to be something interesting and harmless, such as a
game, but when it runs it may have harmful effects.

Developments in the television and video worlds in 1992 weren't as dramatic as in
audio.

The heart of the system is a laser beam optical code reader, a device that
automatically reads coded labels applied to each item of baggage.

In addition to response to the whole range of optical frequencies, the new detector
Is sensible enough to distinguish 25 separate television programs that a single
laser beam might be able to carry.

. The objective of the new broadband microwave station in space is to.learn how to

extend the useful life of communications satellites and to avoid/or overcome the
effects of radiation.

. Later in 1998 the company suffered further losses stemming from labor contract

disputes with other segments of the company's staff,including flight attendants,
machinists, cleaners, and other employees.

. Although some doctors practice nuclear medicine as a full-time specialty, many

more physicians in such fields as radiology, pathology, and internal medicine use
aspects of nuclear medicine in their work.

Beginning in 1995, the shuttle flew a, series of missions to the Russian space
station Mir.

The number of the The word The suffix The meaning of the

sentence suffix

destruction

disclosure

depth

harmless

developments

reader

sensible

useful

machinists

physicians

Ble|o|~jo|usw(n k-

Russian

Exercise 2. Fill in the gaps with the correct suffix from the following list.

-al -ence -ly -ship
-ance -hood -ment -th
-dom -ity -or -ward

a. The growth in numbers of educational television stations in the past year is not the
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only index of active 1 .

b. A single fiber the wid 2__ of a human hair can transmit thousands of telephone
conversations simultaneously.

c. The current flow is caused by the voltage, or potential differ 3__, between the
terminals.

d. A conductor allows an electric current to flow through it, but it does not permit the
current to flow with perfect free 4.

e. Scientists describe this relation 5__ between resistance, length, and area by saying
that resist 6 _ is proportional to length and inversely proportional to cross-
sectional area.

f. An electric current is a move 7__ of charge.

g. Substances that do not allow electric current to flow through them._are called
insulat 8 s, nonconductors, or dielectrics.

h. The element 9 __unit of electricity is the absolute charge on a single electron or
proton.

I. General circulation week 10 _ papers often contain news of interest to people in a
smaller area than that of a daily paper, an area such @as‘a small city, town, or
neighbour 11 .

J. As an outer-shell electron jumps in 12__ to fill the inner-shell vacancy, the atom
emits an X ray, a high-energy photon invisible to the eye.

Ipeguxcpy

1. IIpedukchl ¢ OTPULATEIBHBIM 3HAYEHHEM:

un- He

common OOBIKHOBEHHBIN luncommon |HEOOBIKHOBEHHBIIT

in- nepeo | npepuxc iN+ npespawmaemcs ¢ il-, nepeo r 6 ir-, neped M u p ¢
im-.

capable CIOCOOHBIH incapable HECTIOCOOHBIH

legal JICTAJTbHBIN illegal HeJIeTaTbHBIN

rational parroHaIbHBIN irrational HEPalMOHAIbHBIH

material BEIIECTBCHHBIN immaterial HEBEIIECTBCHHBIN

possible BO3MOJKHBIH impossible HEBO3MOJKHBIH

dis- RPOMUBONOJIONCHOE YYECHLEO

trust JOBEpHE \distrust |Hen01sepne

un-, dis- u  |npuoarom znazonam 3HaueHue NPOMUBONOTIONHCHO20 OCUCHBUSL.

de-

to fasten CBUHYMBATh to unfasten pa3BUHYMBATh

to charge  |3apspkaTh to discharge pa3psKaTh

to compose |cocTaBiATh to decompose pasnararp Ha
COCTaBHBIC YaCTH

non- He CEA3AHHbLI C

inductive WHIYKIIMOHHBIH ‘ non-inductive |66351HzlyKu1/IOHHLII7I
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elastic

yIpyTHit Inon-elastic

‘Heynpymﬁ

mis-, mal-  |nroxo, nenpasunvno, owmubouno
to calculate |BerunCIATH to miscalculate omu0aThCs B pacyeTax
to function |nmeficTBoBaTH, to malfunction HE cpabaTbIBaTh
BBITTOJTHATH (DYHKIMH
anti- aHmu-, npOMue6-
aircraft camoJeT lantiaircraft [IpOTHBOBO3AYIIHbII
under- Heodocmamouno, Huce, 0o
to estimate |ouenuBarh |t0 underestimate ‘HC,ZIOOHCHI/IB&TL
2. IIpeduxchl ¢ MOJIOKUTEIbHBIM 3HAYEHUEM
re- coenamos CHO8A, BHOBD
to construct |cTpouts to reconstruct [IEPECTPOUTD,
PEKOHCTPYHPOBATH
over- céepx, Upe3mMepHo, CTUUIKOM MHO20
pressure JlaBTICHIE loverpressure lapesmepHoe naBreHue
3. IIpeduxceol pazmepa:
semi- HANOI08UHY, YACMUYHO
conductor  [mpoBOJIHHK lsemiconductor [moynpoBoAHHIK
equi- aBHbLIL
distant JNAJIEKUH, OTIAJICHHBII |equidistant ‘paBHOOTCTOHHII/If/'I
mini- MATeHbKUIL
bus aBTOOYC Iminibus IMuKpOaBTOGYC
maxi- 0016 oI, YKA3bleaem HA DONbULYI0 6ETTUYUHY
maximum  |MakCMMaJIbHOE 3HAYCHUE
micro- HEOObIKHOBEHHO  MAIEHbKO20  pasmepa, 6  ¢usuueckou
MEPMUHONIOZUN 8 MUTLTUOH PA3 MEHbULe, YeM OCHOGHAs Mepd.
second CeKyH/1a microsecond MHUKPOCEKYH/1a
(MWLIHOHHAS YacTh
CCKYH/IbI)
macro- 001611011, HeOObIKHOBEHHO 0OILUI020 pazmepa
economics  [skoHoMuKa Imacroeconomics  |makposkoHommka
mega- Oonbwozo pazmepa, ZpaHouo3Hbll, 6 UIUUECKOU MEPMUHOIOZUU
Mepa, 6 MULTUOH a3 00buas, 4eM OCHOBHAA Mepd.
watt BaTT |megawatt ‘MCFaBaTT
4. Ilpeduxcol noJ10:KeHU:
inter- Medncdy, cpeou, 83aUMHO
changeable |3amensiembIit interchangeable B3aMMO3aMEHIEMbIi
national HALMOHAILHBIN international WHTEPHAIMOHATbHBIH,
MEKTYHApOIHBIN
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super- Hao-, ceepx

sonic 3BYKOBOM |supersonic |cBepX3BYKOBOIi

trans- uepes

continental |kKoHTHHEHTATBHBIN transcontinental TIEPECEKAIOIIMI KOHTUHEHT,

TPaHCKOHTHHEHTAIbHBIN

ex- VKazvleaem HA uzvamue, UCKIIOYEHUEe U M. 0. U3-, 6He-; ObleUIUIL

include BKJTIOYATh, conepxkarh |exclude UCKJII0YATh, HE BITYCKATh
B cebe

extra- Ymo-mo OONOIHUMENIbHOE, C8EPX-

ordinary OOBIUHBIH, extraordinary HEOOBIUHBIH,
OOBIKHOBEHHBIN DKCTPAOPAMHAPHBIH

sub- Huce (Kavwecmeo, no10xcenuem) noo-

station CTaHLUS |substation [moncranmus

infra- HUdIce-, n00-, UHGpa-

red KpacCHbBIN linfra-red [uHbpaKpacHsii

peri- 6OKpY?2

pericardium |okoJocepaeuHas CyMKa

S. Ilpeuxchl BpeMeHU M NOPAIAKA:

ante-, pre-  |0o-, panvute-, nepeo-

war BOWHA pre-war JIOBOCHHBIN

date J1aTa, YUCIIO0 antedate JiaTa, MOCTaBJICHHAS

3aJTHUM YHCIIOM

prime- nepeulil, 21a6HblIl

minister MUHHUCTP lprime-minister IpeMbep-MUHHCT]

post- nocue

war BOMHA \post—war |HOCJIeBoeHHLIﬁ

retro- Ha3ao

action JeicTBHE, peaKLus retroaction oOpaTHasi peakuus,

oOpaTHOE JIeliCTBHE

6. Ilpeduxcol yncaa:

semi- nony-

circle KPYT, OKPY>KHOCTb semicircle Imonykpyr

mono- 00HO-, MOHO-

basic OCHOBHO, OCHOBHBIH |monobasic |01HOOCHOBHBIIT

bi- 060IIHOU

monthly eKEMECTIHBIN bi-monthly JIBa pa3a B MECSII, WA

OJIVH pa3 B 2 Mecsia

tri- mpéx-, mpe-, mpu-

focal dokycubii, pokycHoe |trifocal TpUQOKAITbHBIH
paccTosiHue,
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LIEHTPaJIbHbIN | ‘

quad(r)- Yemulpéx-

angle yroJ lquadrangle [4eThIpEXyroIbHEI

penta- namu-

angular YTOJBHBIN, YTIIOBON [pentangular [nsTHyronBHIK

hex(a)- uecmu-

hexagonal |mecTuyroapbHUK

sept(en)- cemu-

septi-

septennial  |cemuieTHHI, MPOUCXOASIIUI pa3 B CEMb JIET

oct(a)- 60CcbMU-

angular YTOJIbHBIN loctangular [BOCBMEYTONBHBII

dec(a)- oecamu-

metre MET] [decametre inexametp, 10 MeTpoB

multi- MHO20

national HAMOHAJILHBIN |mu|tinationa| ‘MHOFOHauHOHaJILHBIﬁ

7. Apyrue npeguKchbI:

pro- 00, 3apanee, enepeo

motion JIBIKCHUE promotion MIPOJIBIDKCHUE,
HOBBIIICHHE (B
3BaHHN)

auto- camo-, aémo-

biography  |Oonorpadus autobiography aBTOOHOrpaduUs
(6uorpadus,
HaIMCaHHAs CAMUM
4eJIOBEKOM 0 ceOe)

co- 00uwHOCIMb Oelicmeus

to exist CYLIECTBOBATH |t0 coexist ‘COC}’HIGCTBOBaTB

Exercise 3. Readthe following sentences and underline the prefixes in the words in

italics. Write out each word and try to decide what the prefix means.
Refer back to the table if you need help.

1. Manager of the company fired him for incompetence.

2. Unfortunately we were misinformed about the purpose of the fund.

3. A mini-computer is a computer which is smaller than a normal computer.

4. A megaphone is a cone-shaped device for making your voice sound louder in

the open air.

5. A submarine is a ship that can travel below the surface of the sea.

6. These courses interrelate in a variety of ways.

7. This gives greater peripheral vision.

8. Protection of the environment is a precondition of a healthy society.
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9. We sat in a big semicircle round Hunter's desk.
10. The university hopes to collaborate with industry.

The number of the The word The prefix The meaning of the
sentence prefix

1. Incompetence

unfortunately

misinformed

mini-computer

megaphone

submarine

interrelate

peripheral

precondition

©00NO O R WINN

semicircle

|
o

collaborate

Exercise 4. Fill in the gaps with the correct prefix from the following list.

auto- inter- micro- mMOono- sub-
de- maxi- mini- multi-

1. This is an age of high technology and __mation.

2. The knowledge was there somewhere in the depths of his __consciousness.

3. Many local papers are prosperous because they enjoy a virtual ___ poly.

4. He accused the Minister of seeking to __ centralise the Commission.

5. The company's main objective isto __mize profits.

6. The high way __secting Main Street is a busy crossing.

7. Our aim must be to __mize the risks.

8.A __wave oven is a cooker which cooks food very quickly by short-wave
radiation rather than by heat.

9. Many of the West's large __national companies have operations in Africa.

Practice

Exercise 1. Translate the following words into Russian. Identify suffixes and
prefixes.

anti-body decode disarm postwar ultramodern

anti-fascist decompose discover prehistoric ultra-violet

coauthor deform ex-champion  reconstruct undress

co-existence depart Interaction reread unequal

cooperation disappearance  misunderstand superhuman untrue

Exercise 2. Find suffixes of the words below, identify the parts of speech to which
these words belong.

active dangerous freedom passage understandable

artist different function peaceful useful
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attractive director fundamental pitiless worker

British doubtful heartless professional

capitalism economic industrial silence

childish elementary Kingdom successful

creative experiment musician treatment

Exercise 3. @) Form nouns using proper suffixes.

to communicate to create to invent to recognize to transform

to construct to identify to operate to restore to transmit
b) Translate the words with the prefix fore-.

forearm forego foremost forestate

forefather foreknow foresee foretell

Exercise 4. Suffixes.

HELP BOX

» Suffixes change the class of the root word. For example,«by ‘adding the suffix -al,
the noun digit is changed into the adjective digital. Suffixes can help you tell if a
word is a noun, an adjective or a verb.

Common adjectival suffixes are: -y, -able, -ible, -ive,-al, -ed, -ful, -ic, -less, -ing.
Common noun suffixes are: -er, -or, -ion, -tion,«-ation, -ment, -ness, -ity, -ant,
-logy, -ing, -y, -ure, -sion.

» When using suffixes, always check in your dictionary to see if you need to change
any other letters.

scan — scanner (double n)

A. Look at the HELP box and then use suitable suffixes to make adjectives or
nouns from these words. In some cases, you can make more than one word. Use a
dictionary to help you.

1) colour

2) profession
3) photograph
4) wire

5) blur

6) innoyate

7 underexpose

B. Complete these sentences with the word in brackets and one of these noun
suffixes: -tion, -er, -ing, -logy, -ness. Use a dictionary to help you.

1. Kodak is a (manufacture) __ of photographic and imaging equipment.

2. To avoid red eyes, use the camera's red eye (reduce) __ feature.

3. (Crop) __ a photograph means cutting out the parts of an image you don't need.

4. The (sharp __ of a photograph is a combination of resolution and acutance — the
ability to represent clear edges.
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5. Digital (techno) __is evolving so rapidly that some cameras have a resolution of
12 megapixels — that's 12 million pixels.

Exercise 5. Form other parts of speech from the following words:

to compete to enter to participate to succeed
to complete to evaluate to relate to vary
to depend to graduate to require

Exercise 6. Form the derivatives of the words given in the chart below. Use a
dictionary if necessary.

Noun Verb Adjective
depression
embarrassed
agree
argue
suffer

Exercise 7. Define the parts of speech of the following words:

achieve — achievement

act — active — action — activity
assist — assistance — assistant

celebrate — celebration

city — citizen

contain — container

develop — development

difference — different

discover — discovery discoverer

educate — education

govern — governor — government

graduate — graduation — undergraduate — post-graduate
literature — literary — illiterate

measure — measurement — measurable

nation — national — nationality

progress # progressive

resistance = resistant

Exercise 8. Fill in the table with the proper derivatives which are possible.

Verb Noun Adjective

to investigate -

measurement

to observe

creative

SUCCESS
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to require
wide
proof -
to grow -
existence -
safe
to develop -
improvement -
to reduce -
recognition —
unimaginable

Exercise 9. The prefixes e and cyber.

HELP BOX

The prefixes e- and cyber-

* The e- prefix means electronic and we add it to activities that take place on
computers or online, for example e-business/e-commerce — business conducted over
the Internet. Other examples include: e-card, e-learning, e-zine, e-voting, e-
signature, e-assessment, e-cash, e-book and e-pal.

There are often spelling variations, with or without a hyphen, so always check your
dictionary.

» The cyber- prefix comes from cybernetics, and we use it to describe things related
to computer networks, for example cybercafé — an internet cafe. Other examples
include: cybercrime, cyberculture, cyberslacker and cyberspace.

Look at the HELP box and then complete these sentences.

1.A __ is an employee who uses his company's internet connection during work
hours to chat with friends, play games, etc.

2. An___is a postcardisent via the Internet.

3. An __is a small magazine or newsletter published online.

4.Ina __ you can tse computers with internet access for a fee.

5. Examplesi.of __ include internet fraud, digital piracy, theft of confidential
information, etc.

6. In the future, all elections will be carried out using __.

7. You Can now sign legal documents online usingan __.

8. " will revolutionize the way we take exams.

9. can be used on some websites instead of real money to make purchases. It
reduces the risk of fraud.

10. An __is like the paper version, but in digital form.

Exercise 10. Look at the words in the boxes. Are they nouns, verbs, adjectives or
adverbs? Write n, v, adj or adv next to each word and then complete
the sentences below.
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magnet — magnetic — magnetically —
magnetism — magnetize — magnetized —

1. isthe science of magnetic phenomena and properties.
2. Floppy disks and hard drives are __ storage devices.
3. Data is recorded on a disk in the form of __ spots called bits.

| fragment — | fragmentation — | defragmenter — | fragmented — |
4. After you create, delete and modify a lot of files, the hard drive becomes with
bits and pieces spread all over the disk.
5. slows down the speed at which data is accessed because the disk drive has to
work harder to find the parts of a file stored in many different locations.
6. To reorganize your hard drive, you can use a disk optimizer ory,_ " ; this will

reorder your files into continuous clusters.

Exercise 11. Look at the words in the boxes. Are they nouns, werbs or adjectives?
Write n, v or adj next to each word. There.may be more than one
possible answer. Complete the sentences with\words from the boxes.

| program — | programmers — | programming— | programmable — |
1. isthe process of writing a program using,a'computer language.
2. A computer ___is a set of instructions that'tells the computer how to do a specific
task.
3. Most computer make a plan of-the program before they write it.
4. A keyboard allows the user to/configure the layout and meaning of the keys.
| compile — | corpiler — | compilation — |
5. Programs written in a_ high-level language require __ — that is, translation into

machine code, the language understood by the processor.

6. A source programgs converted into machine code by software calleda .

7. Programmers usually _ their programs to generate an object program and diagnose
possible errors:.

| bug — | debug - | debugger — | debugging — |

8. Any.error or malfunctions of a computer program is knownasa __.
9. A " isaprogram used to test and __ other programs.
10. The process of going through the code to identify the cause of errors and fixing
themiscalled .

KonBepcus. CiaoBocio:xenne. I3MeHeHue MecTa yiapeHUs

I/IHOFI[a CJIOBO MOXCT MCHATHL CBOC€ 3HAYCHHC MW BbBIIOJHATL HOBYIO
CUHTAaKCHUYCCKYIO q)YHKHI/IIO B MNPCAJIOKCHHNHN, HEC M3MCHASA IIpU 3TOM HAIIMCAHHA U
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npousHomenus (KoHBepcusi). Hanbomnee pacnpocTpaHeHHBIM SBIISIETCS 00pa3OBaHKE
IJIaroJioB OT CYIIECTBUTEIbHBIX:
master (xozsun) — to master (ynpasisms)
house (0om) — to house (pazmewamy)
water (600a) — to water (noausamo)
['71arosb1 MOTYT OBITH 0OPA30BaHbI U OT MPUJIAraTEIbHBIX
empty (nycmoti) — to empty (onycmowamsv)
white (6enwiir) — to white(n) (6erums)

CrnoBoclio)KeHHEe — 3TO 00BEIWHEHNE TOJHO3HAYHBIX CIIOB WM MX OCHOB B
CIIO’KHOE CJI0BO. BHOBB 00pa3oBaHHOE CIOXKHOE CIIOBO IMHUIIETCS CIIMTHO WM 4Yepes3
nedwuc:

airfield — aspoopom (air — soz0yx, field - noze)

air-base — asuabasa (air- 6030yx, base - 6asa)

airman — asuamop (air — 6o30yx, man — myscuuna)

schoolday — wrxonvmuwiii dens (SChool — wixona, day — denv)
birthplace — mecmo pooscoenus (birth — poorcoenue, place — mecmo)

CoXKHBIC CJI0Ba MOTYT COCTOSATh M3 JBYX CYIIECTBUTEIBHBIX, IEPBOEC H3
KOTOPBIX MPHOOPETAaET 3HAUYEHUE MPHIAraTeIbHOT0. B 3TOM ciiydae ciioBa MUIIYTCS
pasnenbHO. Hampumep: service dress — gpopmennas odesxcoa, odeaicoa 0t Cyxicobl
(service — cayocoa, dress — naamwe), shop window — eumpuna (Shop — maeasun,
window — oxrno), skim milk — cusmoe monoro (to skim — cuumams (Haxumb, CIUBKH,
u T. 1.), Milk — monoxo).

Exercise 1. Read the following pairs of words observing their stress. Translate
them into Russian.

an accent — to accent a contest — to contést pérfect — to perfect
a contract — to contract a.cénvoy — to convoy a récord — to record
a content — to contént a convict — to convict

Exercise 2. Analyzesthe following words. Identify their parts of speech. Give their
root forms and translate them into Russian.

badly fruitful leader reading teacher
cooperation fruitless movement rebuild teaching
dangerous happiness network retell translation
demoralize high-quality noisy schoolboy unhappy
disagree icebreaker powerful shorten unusual
dislike incorrect, profitable strongly

electricity inventor rainy sunny

Exercise 3. What kind of words are these? Analyze them, identify their component
parts. Translate them into Russian.

All-Union landscape network sometimes vice-president
bedroom long-term newspaper sportsman well-known
birthplace lowland north-west television world-wide
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highland multinational  peace-loving  underground
Exercise 4. Complete each sentence with a word formed from the word in capitals.

Model: My alarm clock didn’t go off and so | overslept this morning. OVERSLEEP

1. I had been in the country for a year, but I still feel likea . FOREIGN

2. | have never felt such great __ since the day | won in a lottery. HAPPY

3. He’s only been in the job for one week so he’s a bit _. EXPERIENCE

4. 1I’ve known him since school days. Our __is very strong. FRIEND

5. It makes me feel bad to see so many __ people sleeping in the HOME

street.

6. It hasn’t rained for months and there’s a great water . SHORT

7.1 don’t like this job. I’'m __ and overworked. PAY

8. Smoking can be very _ to your health. DANGER

9. We’ve got all the modern __in our factory. MACHINE
10. I’'m really sorry. I think there has beena . UNDERSTAND

Exercise 5. Read the texts A and B below. Chose the suitable word given in the box
to fill in the blank in the text. Change the form of the words according
to the meaning of the text. Remember that.each word can be used only
once.

A,

| simple | willing | ground | encourage |

| am sure that any person has the ability to learn a foreign language. But most
pupils _ need constant __ in order to overcome their _ fears of speaking another
language. Even the most outgoing of them are often __ to speak a foreign language in
the classroom for fear of making mistakes.

B.
| reality | employment | chose | person |

A few people decide early in life what to do. There is probably no single
“right” job for anybody and the only one that you could do well. Although
circumstances limit one’s __, there are still more possibilities than most people .
interests, such as love of travel or computers may point the way to a job. But all
people are afraid of becoming __ one day.

Exercise 6. A. Look at the HELP box and then, using affixation, conversion and
compounding, try to make as many words as you can from blog, mail
and print. Use a dictionary and the Internet to help you.

blog mail print
Blogger (a person who | To mail (the verb form) | Printout (the pages produced
writes a blog) by the printer)

B. Choose the correct word in brackets to complete this description of
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a digital voice recorder. Use a dictionary to help you.

HELP box

Word building

We can create new words from existing words in three main ways:
— Affixation (adding a prefix or suffix)

Adding a prefix:

volatile = non-volatile

date — update

Adding a suffix:

erase — erasable

install = installation
— Conversion (turning a noun into a verb, or a verb into a noun, etc.)

network (noun) — to network (verb)

We networked the PCs in the office.

We created a network of all the PCs in the office.

— Compounding (putting two or more words together)
hand + held — handheld

| bought a new handheld computer last -week.

Compounds can be written as two separate words (flash card), as two words joined
with a hyphen (solid-state), or as one word (handheld). Unfortunately, there are no
rules, and some compounds even change spelling over time. For example, web site
began as two words, then became hyphenated (web-site) and is now written as one
word — website. Always check your dictionary or Google if you are not sure.

In pronunciation, compounds_ normally have the main stress on the first part, and the
secondary stress on the second-part, for example video game.

OLYMPUS WS-320M DIGITAL VOICE RECORDER

Slim, attractive, and highly functional, the Olympus WS-32GM digital voice
recorder packs 1GB of internal flash memory into its 1 (lighted / lightweight /
lighten) housing, letting you record up to 277 hours of high-quality audio in WMA
format. It’s ideal for 2 (record / recordable / recording) notes or long lectures,
interviewing people, or capturing song ideas before they disappear. As an added
bonus, the W5-320M can store up to 266 WMA or MPS songs for high-quality stereo
3 (player/ playback/playoff).

The WS-320M features five separate file 4 (folds / folding / folders), capable
of holding 199 files each, so you can organize nearly 1,000 files by subject, theme or
other category. Users also have the choice of four recording modes: HQ for high-
quality audio, LP and SP for extended recording times, and ST HQ for stereo
recording. And thanks to the voice 5 (activation/activate/active) option, users don't
need to press a single button to start recording — the WS-320M will record as soon as
the built-in microphone picks up sound.
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Perhaps the most convenient feature, however, is the built-in USB 6
(connector/connect/connected), which eliminates the need for a USB cable. Once this
IS connected, you can 7 (downloadable/download/ upload) music files, images or
documents from your PC, in effect turning the recorder into a small hard drive. You
can even transfer voice recordings to your computer for 8 (store/storage/storeroom)
or multimedia use.

PA3JEJ 3. CTPAJIATEJBHBIN 3AJIOT
(PASSIVE VOICE)

3ayor — 3TO KaTeropus Iiiaroja, KoTopas MoKa3blBa€T OTHOIIEHUE ACHUCTBUS K
CyOBEKTY MM OOBEKTY.

JlewictButenbubiii 3asor (The Active Voice) moka3bIBacT, 4TO MPEAMET WU
JIUIO, SIBIISIONIEECS MOJIeKAINM, TPOU3BOJUT AEHCTBHE.

The author gives a general conclusion for ABtop oderaem oOufii BBIBOJ JIA
the equilibrium shape of crystals. paBHOBECHOM (hOPMBL KPUCTAIIOB.

Crpanatenshbiii 3anor (The Passive Voice) mokazsiBa€T, 4To MpPEAMET WM
JIATIO, SIBJISIOIIEECS MOJJICXKAIIMM, TIOABEPracTcs ICHCTBHAIO:

A general conclusion for the equilibrium  OOmuit BeIBOA 11 paBHOBECHOU (HOPMBI
shape of crystals is given by the author.  xpucTajiioB desraemcs aBTOPOM.

Bpemena  crpamarenpHOoro  3ajora‘  oOpa3yloTrcs — IOpd  TIOMOIIH
BCIIOMOTaTeNIbHOTO Tiaroja t0 bhe B~ COOTBETCTBYIOIIEM BpEeMEHH U (OPMEI
npuvactus npomeamero Bpemenu (Past Rarticiple).

Simple Continuous Perfect
Present | am asked | am being asked |l have been asked
Past I was asked | was being asked |l had been asked
Future | shall/will\be asked — I shall/will have been asked
Future-in-the-Past |l should be asked — I should have been asked

B ctpanatenbHoM 3anore ynotpeOsieTcsi TONbKO ABE (OPMbI BPEMEH TPYIIIbI
Continuous: Present Continuous u Past Continuous; ¢opmer Future Continuous u
Future-in-the=Past Continuous oTcyTcTBYIOT. B cTpagaTenbHOM 3a510r€ OTCYTCTBYIOT
Taxke BpemeHa rpymmnsl Perfect Continuous.

[lpn” oOpa3oBaHWHM BOMPOCHUTENHHOW (OPMBI BCIOMOTATEIbHBIA TJIaroJ
craBuTCa mepen mnomnekamuMm: IS he asked? Ecam BcmomorarenbHBIN Tjaroit
ynotpebsiercss B ciaoxuoit ¢opme (shall be, have been, etc.), To neppas yacTs
BCIIOMOTaTeIbHOM (hOpMBI TJ1aroja crtaButcs nepen moarexamum: Shall | be asked?
Have | been asked?

[Ipu oOpazoBanuu oTpuLATENbHOW (GOpMBI YacTULa NOt cTaBUTCSA mMOCie
BcrioMoratenbHoro rimaroia: | am not asked. Ecau BcromoraTenbHBIH TJ1arolt
ynotpebien B cloxkHOW (opme, TO dacTtuima NOU CTaBUTCA TMOCIAE TEPBOTO
BcriomorarenbHoro riarona: | shall not be asked, | have not been asked.
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CrpanaTenbHbIH 3a710T yHOTPeOIseTCs:
— KOI'Jla JIMI0, COBEpLIUBILIEE ACHCTBHs, HEU3BECTHO, HEBAXKHO WM OYEBUIHO U3
KOHTEKCTA.

The most important papers were stolen. VCIIOJTHUTEITh HEU3BECTEH

| was advised to rewrite the article. WCITOJTHUTEITh HEBAKEH

Experiments are being carried out in the laboratory.  |ucmosiHuUTENE OdYEBHIEH W3
KOHTEKCTAa

— KOoraa I[Cf/iCTBI/IC BaKHCC, YCM JIMIO, €TO0 COBCPIUIMBIICC.
The report was prepared on time.

— JIA BBIACJICHUS JIMIId, COBCPIINBIICTO I[@f/iCTBHC
Penicillin was invented by A.Fleming in 1928.

JeiicTBUTEJbHBIE U CTPAJaTeIbHbIe 000POTHI

[IpenyoxkeHne €O CKa3zyeMbIM, BBIPAKEHHBIM TJ1arojioM..B JEeHCTBUTEIHHOM
3ajore, HOCUT Ha3BaHUE JIEWCTBUTEIBHOTO 000pPOTa, a MPEAJQKEHHE CO CKa3yeMbIM,
BBIPOKCHHBIM TJIAr0JIOM B CTPAAaTEIbHOM 3aJIoTe, HOCUT ‘Ha3BaHUE CTPaaTeIbLHOTO
obopoTa.

Jeticmeumenvhutii 060pom Cmpaoamenvuulit 060pom
John Logie Baird made the first live The first live transmission was made by
transmission in 1924, John,Logie Baird in 1924,

B CTpaJdaTCJibHOM 3ajiorce JmHo M MpcaMcCT, IIPOHU3BOAANICTS I[CflCTBI/I@,
BBOJIUTCS mpeiorom by.

Young specialists are employed by the company.

The experiment was carried ‘out by the scientist.

[Tocne rnarona B cTpaJaTelbHOM 3aJI0T€ YIOTPEOIIEeTCS TaKXKe AOMOJHEHHUE C
npeutoroM With s BeIpa¥eHuss Oopyaus, MPU IHOMOIIKM KOTOPOTO COBEPIIACTCS
JICUCTBHE.

The camera was,loaded with a black and white film.

Ha pycckuii-si3pIk aHIJIMNMCKas MacCUBHAs KOHCTPYKLMs MEPEBOIUTCS TPEMs
crioco0amu:

1. Codyeranyem-tiiarona ObITh (B mpormieainieM U OyaylmieM BpeMeHH) + KpaTkas
dhopMaTIpryacTus CTpagaTeIbHOIO 3aj0ra.

The article was translated. CraTbs Obl1a nepesedena.

The article will be translated. Cratbst Oyoem nepegeoena.
['naron-cBsi3ka OBITH B HACTOSAIIEM BpPEMEHH B PYCCKOM MPEIOKECHUH

OITyCKaeTCHl.

The article is translated. CraTbs nepesedena.

2. I'marojioM, OKaHYMBAIOIMMCS Ha -CS.
The article is being translated. Cratbst nepesooumcs.

3. Heonpenenenno-nuuHoit opmoii, T. €. 6€3 Mo iiexaniero.
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The article was translated.

Cratblo nepesenu.

Wuorga anrnuiickuil cTpagaTeNbHbIil 000pOT MOXKET MEPEBOAUTHCS IBYMS WU
Jla’ke TpeMs croco0amu, B 3aBUCHMOCTH OT COOTBETCTBYIOILEIO PYyCCKOI0O Ilarojia u

KOHTCKCTA.
| was invited to the conference.

1. 51 6v11 npuenawen na xoH)EPEHITUIO.
2. MeHst npuznacuniu Ha KOHPEPEHITHIO.

Ocobennocmu ynompeonenus cmpaoamenbHolX 000pOn 06 8 AH2TUICKOM A3bIKe
B aHrnmiickom si3pIKe MOJIeKANMM MTACCUBHON KOHCTPYKITUU MOKET OBITh:

1) psiMoe JAOTOJIHEHUE aKTUBHOW KOHCTPYKIIUH,

2) KOCBEHHOE JIOTIOJTHCHHE aKTUBHON KOHCTPYKIIHH,

3) mpemIoKHOE JOTIOTHCHHE aKTUBHON KOHCTPYKITHH.

Axkmuenasn gpopma

IHaccuenas ghopma

They showed us a new device.
OHu 1mokazajiyv HaM HOBBIM mpuoop.

1. A new device was shown to us.
HoBblii mprubop Obus OKa3aH HaM.
2. We were shown a new device.
Hawm nmokazanwu HoBbIH iprbop.

We aimed at this result.
MpbI CTpeMUIIUCH K 3TOMY PE3YJIbTATY.

This result was aimed at.
K sTroMype3ynpTaTy CTpEMUIINCH.

B tom cIy4dac, Koraa B KadCCTBC IIOMICKAIICTO MMaCCUBHOU KOHCTPYKIIMH

ynoTpeossieTcs: MpeasioKHOE  JIONOJIHEHUE, * aKTUBHOM  KOHCTPYKIIHUU,
CTaBUTCS MOCJIE CMBICIIOBOTO TJIaroa.

He was relied upon.

npeaior

Ha vero nojarajiuchk.

ITaccuBHBIE KOHCTPYKIIMM AHIVIMMCKOTO S3bIKA C ITOJUIEKAIINM, BBIPAKEHHBIM
CJIOBOM, KOTOPOE B aKTUBHOI ,KOHCTPYKIIMH BBIMOJHAIO (DYHKIHIO KOCBEHHOTO WU

MMpCIJIOKHOT'O JOITIOJIHCHUA,

clenyeT

OpyU TEPEBOJE 3AMEHATh PYCCKUM

HCOIPEICICHHO-TMYHBIM IPEIOKeHneM (32 HHUMH IIOCIAlIM, Ha HHX YacTo
CCBLIAIOTCS M T. J1.), M HEPEBOJI HAJI0 HAYMHATH C MPEJIOra.

The force was acted\upon.
The agreement was-arrived at.

Ha >ty cuity BO31€MCTBOBAJIN.
[Ipuim K cornameHuto.

B naccuBHOM opMe 0COOEHHO YacTO YIMOTPEOSIOTCS CIASAYIONINE TIaroabl U
TJIarojibHEIC (hpa3eoIOTUICCKUE COUCTAHMUS

a) rjaroJibl € IMocCjacjIoraMum:

to account for o6wvacuame;

to act on (upon) oeticmseosams na,
to agree upon docogopumscs;

to aim at cmpemumocs k;

to deal with umems oeno c,
paccmampusams 60npoc;,

to depend on (upon) noracamscs na,

to listen to caywame;

to look after cuompems 3a;

to look at cuompems na,

to look for uckame;

to object to sospasicams;

to provide for npedycmompems;
to refer to ccoiramoca na;
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3asucems om,

to dispose of peanuzosvieams;

to hear of (about) cieiuams o;

to insist on (upon) nacmausame na;
to laugh at cmesmocs nao;

to rely on (upon) nonazamocs na;

to speak about (of) cosopums 0;

to send for nocwirams 3a;

to touch upon xacamwcs, 3ampacusams,
to wait for orcoame.

This book is often referred to.
His proposal was objected to.

Ha 9TY KHUTY YaCTO CCbLIAKOTCA.
HpOTI/IB OTOr'0 MPCIIOKCHHA BO3parKaju.

0) riarosbpHBIE (Pa3eOJTOTHICCKUE COUCTAHNS:

to catch(take) hold of cxeamumucs 3a;
yxeamumscsi 3a 4mo-iubo;

to do away with noxonuums c;

to find fault with o6sunams;

to lose sight of mepsams uz 6uoy;

to make application npumenameo;

to make mention of ynomunameo;

to make provision for
npedycmMampueamo;

to make use of ucnonvzosame;

to pay attention to oopawame.grumanue
HA,

to put an end to noxonuums c;

to take advantage of'socnonvzosamucs;
to take care of za6omumucs o;

to take notice of npurnumamo 6o
GHUMAHUE.

His words were not taken notice of.
This material will be made use of.

Haero/cnoBa ne oopamunu enumanus.
3TOT MaTtepuall Oyodem ucnoib306aH.

Korna Hy)XHO mpHuBI€Yb BHUMAHHEG, K CaMOMY JEHCTBHUIO, BBIPAKAEMOMY
(bpa3eoqornyecKuM COUYETaHUEM, CYIUCCTBUTEIBHOE BHIHOCUTCA Ha MEPBBIN IUIAH U
rJaroj npuHuUMaeT Qopmy crTpazaTeibHoro 3ajora. [IpeanoskeHue mnepeBOAUTCA

HCOIIPCACIICHHO-JIMYHBIM IIPCJIOKEHUCM.

Mention has been made...
Application should be made...
Advantage was taken of this fact...

beuno ynomanymeo ...
Cnenyer npumenums...
Bocnonws3zosanuce 3tum haxkTom. ..

Use is being made of (. Ilpumensirom ...
Care should betaken... Cnenyet nozabomumucs. ..
Provision is madefor... Ilpedycmampusaemcesn...
B ‘aHrimiickoM S3bIK€  HWMEETCS P TJIArojioB, KOTOPBIC — SIBIISIOTCS
NEPEXOAHBIMM, T.€. TPEOYIOT TMPSMOTO JIOTIOJHCHHS, B TO BpeMs Kak

COOTBCTCTBYIOIIUC PYCCKUC TJIArojibl ABJIAAIOTCA HCIICPCXOIHBIMHU U Tpe6YIOT
MMPCIJIOKHOT'O JOITOJIHCHUA. K takum riarojiaM OTHOCSITCS:

to affect smb., smth. sruamo na xozo-n.,
Ha 4mo-i.;

to answer smth. omeeuamo na umo-n.;

to attend smth. npucymcmeosamv na
yem-i.,

to enjoy smth. nonyuams yoosorvcmeue
om yez2o-J.;

to influence smb., smth. gwuams na
KO20-]L., Ha YMO-IL.,

to join smb., smth. npucoeounsmocs x
KOMY-I1., K YeMy-L.;

to need smb., smth. wyscoamovca 6
KOM-]., 8 YeM-]L.;

to watch smb., smth. creoums 3a kem-nx.,
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to follow smb., smth. credosame 3a | 3a uem-n.
KeM-1., 34 YeM-J1. |

CrpanarenbHble 000pOTHI C TAKMMH TJIaroJiaMy MepeBOIATCS Ha PYCCKHM S3bIK
COOTBETCTBYIOIIMMHU JIEHCTBUTEIBHBIMU 000pPOTaMH, MPH ITOM IEPEBOJ CIIEAYET
HAa4YMHATh C MPEJJIOra:

The question was answered. Ha BonipoC OTBETHJIH.
A great number of people attended the ~ Ha xoudepeHIMHI MIPUCYTCTBOBAIO MHOTO
conference. JFOJICH.

[Tpu oTCYTCTBHUM JOMOJHEHHS C MpeaIorom by Takue crpamarenbHbie 000POTHI
IEPEBOIATCS HAa PYCCKUH S3bIK HEOMPEAEICHHO-TUYHBIME 000pOTaMHU, KOTOPHIE
HAYMHAIOTCS C IPEII0KHOTO JOIOJHEHHUS:

Your help is needed. B Barmieii moMoIny HyKIarTCst:

Cmpadamenvhule 000pomut ¢ opmanbHbIM nOOAEHCAUUM it

OO0O0pOTHI, COCTOSIINE U3 MECTOMMEHHS It ¥ TiIarojia B, CTPAJIaTEIIEHOM 3aJIoTe
— it is said, it was said, it is reported, it was reported, cOOTBETCTBYIOT B PyCCKOM
A3bIKE TJIArojiaM B 3-M JIMIE MHOKECTBEHHOTO YHCIIA ¢ \HEONpPeIeICHHO-THYHBIM
3HAUCHHEM: 2080pAm, 2060punu, coodwarom u m. n. B takux oboporax it urpaer
PO (OPMATBHOTO MOJICKAIIETO U HE MMEET CAaMOCTOSITEIBHOTO 3HAUCHHSL:

It is reported that the experiment has Cooowyarom, 910 SKCTICPUMEHT MPOBEJICH.
been carried out.

B Takumx 000poTax 4YacTo BCTpeddeTess COYETaHHE MOAAIBHOTO Tjaroja C
MH()HUHUTHBOM CTpajaTeibHOro 3aora; it can be said moorcno crazame, it should be
mentioned credyem ynomsnyme, it Was to be expected naoo dviro oscuoams u T. 1.

[lpu Hanuuuu aS co 3HAYEHHEM Kak Tepe] obopoTamu Takoro Tuma It He
yrnoTpeoisiercs: as IS reported'xax coobwarom, as was believed xkax nonacanu, as
was to be expected xax Hado, 6bino oxcudoame.

B HekoTopbIxX cityuasix’onmyckaeTcs U riaroii-csizka to be: as shown in Table 3
Kak nokaszaro 6 maoauye)3, as stated below xax yxaszano nuoice, as mentioned above
Kak ynomsanymo 6biue, as reported in the last issue xax coobwanoce 6 nocreonem
HOMepe HCYPHAIA,

Practice
Exercise(l., Rewrite these sentences in the passive.

Model:\Nonlinear effects in the optical link cause significant performance
degradation for the overall system.
Significant performance degradation for the overall system is caused by
nonlinear effects in the optical link.

1. These materials present new capabilities for studying acoustic characteristics.

2. Materials science offers researchers a wide variety of materials with chemical and
physical properties.

3.We provide a comprehensive survey by covering some of the traditional
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methodologies.

4. The analysis provides a simple approach for dealing with local aspects of a signal.
5. The computer program created many graphs of discrete signals.

6. These algorithms employ mathematical, statistical and heuristic methodologies.

7. Fourier analysis easily calculates the frequencies which make up the signal.

8. This approach will provide valuable background for the experiment.

Exercise 2. Rewrite these sentences beginning with the words provided.

Model:

fumes the world over.

Scientists are developing a catalytic converter which detoxifies engine

A catalytic converter which detoxifies engine fumes the world.over is being

developed by scientists.

Researchers are also finding ways to put proteins,
DNA, viruses and other micro-organisms to work in
building nanomaterials.

The group recommended more research along with
new regulations to control the technology.

Experts are assessing the effect of emerging
materials on health and environment.

The members of the commission are going to
undertake tests on products that, ¥ contain
nanomaterials.

The inventor has developed a.,pregramme of
research to ensure the safety of products.

The conventional optical™fiber communications
systems employ optical~ fibers to transport
information in opticaktelecommunication networks.
Traditional WDM  communication  system
comprises a plurality of WDM transmitters.

The article (provides a broad overview of the
characteristics of the signal.

Ways to putproteins__

Moreresearch

The effect of emerging
materials___

Tests on products that
contain nanomaterials___

A programme of research
to ensure the safety of
products

Optical fibers to transport
information__
A plurality of WDM
transmitters__

A Dbroad overview of the
characteristics  of  the
signal__

Exercise3. Fill in each blank with the necessary form of the verb in the Passive

N =

oo s

Voice.

“Nano” __ typically (use) to define structures with a length scale of 1-100 nm.
Frequency may __ (measure) with higher accuracy than any other parameter.
Pictures of the surface of the planet Venus __ (receive) yesterday from space probe

“Explorer” which __ (launch) last year.

Nanoparticles _ (synthesize) in a variety of organic and inorganic materials.
The coders __ (adopt) in national and international cellular telephony standards.

. In general, high-quality speech coding at low rates __ (achieve) using high-
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complexity algorithms.

7. Phase transitions in polycrystals __ (investigate) in detail.

8. Microchannels __ (create) in different materials, including glass, silicon and
polymers.

Exercise 4. Complete these sentences with the passive form of the verbs in brackets.

. Microprocessors __ (make) of silicon.

. Call centers __ (use) to deal with telephone enquiries.

. In recent years, most mobile phones __ (equip) with Bluetooth.

. GPS __ (develop) in the 1970s as a military navigation system.

. Sorry about the mess — the computers __ (replace) at the moment.

. In the near future, the Internet __ (access) more frequently from PDAs-and mobile
phones than from desktop computers.

7. Networks __ (can connect) via satellite.

8. | had to use my laptop this morning while my PC __ (fix).

OO WN -

Exercise 5. A. Practice orally by using impersonal passive structures as shown in
the following example.

Model:  We (the author, they, etc.) have found that ..
It has been found that

1. I must admit that

2. He has found that

3. Everybody accepts that

4. | believe that

5. The author hopes that

6. Scientists sometimes say that(

7. Most people assume that _ .

8. Physicists recognize nowadays that

B. Give~English equivalents of the following Russian phrases using
impersonal passive structures and adverbs “widely”, “generally”
where-required.

. T'oBopAT, 4TO ~

. Ilpeanenaraercs, 4to __

. Mo:KHO HaJCATHCA, YTO

. Cnetyet npu3HaTh, 4To __

. beutO HaWIeHO, YTO

. O01Ienpu3HaHHO, YTO ___

. Cuurarot, 4To __

. lIInpoko pacnpoCTpaHEHO MHEHUE, YTO ___

O~NOoO Ok~ WN PP

Exercise 6. Transform the sentences using the Passive Voice.
1. They say that scientists are on the point of making a vital breakthrough.
2. The authors consider that these two methodologies are major elements in a
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powerful set of tools for theoretical and applied analysis.

3. They show that a detailed analysis of the type of conduction of single crystal films
has been carried out.

4. \We expect that the implementation of new materials will benefit the study of the
phenomenon.

5. They consider that semiconductor nanostructures and gold NPs are two classes of
nanostructures.

6. Biochemists hope that viruses will be deployed as “nanocameras” to get a clearer
picture of what is going on inside cells.

7. We suppose that the signal is severely distorted by added noise.

8. Scientists believe that similar concept may be used to quantitatively gxplain the
unpredictability.

Exercise 7. Choose the most appropriate preposition in bold type.(Translate the
sentences.

1. The tight relationship between chaos theory and cryptography has been pointed
out by/with some researchers.

2. The rate of the reaction is affected by/on the change in such parameters as
concentration, temperature and pressure.

3. The initiative was supported by/with everybody.

4. The discovery followed by/with further experimental work stimulated research in
this area.

5. Faster speed can be obtained with/by alittle extra complexity and cost.

6. The conference attended by/at scientists from different countries discussed new
trends and methods in this research,

7. Most digital chaotic ciphers are ‘claimed to be secure by/with the authors but
many of them are actually net:

8.Some existing schemes) have also been found to be insecure from/with
cryptographical point.of view.

Exercise 8. Identify passive structures and give Russian equivalents of the relevant
partofthe sentence as shown in the following example.

Model: Under these conditions the question cannot be answered unambiguously.
“The question cannot be answered”... Ha Bompoc Heb3s1 OTBETUTS ...

1. This(phenomenon has been dealt with by several researchers.

2. The conference was attended by all the participants.

3. Methods employed in solving a problem are strongly influenced by the research
objective.

4. His scientific reports are always followed by heated discussions.

5.1In several areas of research the efforts of scientists are joined by those of
philosophers and sociologists.

6. This problem can be approached from several points of view.

7. The members of the laboratory were consulted prior to this successful operation.
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8. The reaction was followed by measuring temperature.
9. These rules were arrived at independently.

Exercise 9. Identify passive structures followed by a preposition and give Russian
equivalents of the relevant part of the sentence as shown in the
following example.

Model: Such things are not even thought of before the experiment is actually made.
“Things are not thought of ...” O Takux Bemax He IyMaroT...

1. This approach has been referred to in an earlier paper.

2. | do not think this instrument can be relied upon.

3. The data cannot be accounted for by the existing theory.

4. This theory has been referred to as the “big bang” theory.

5. The best treatment of this material is generally agreed upon.

6. Rapid development of information technology has been called, for-by the needs of
the national economy.

7. His warning was not taken notice of.

8. Application should be made of a new device this year.

9. Provision is made for new means of communication.

Exercise 10. Identify passive structures in the sentences below and give Russian
equivalents of the relevant part ofithe sentences.

1. The results were affected by the presenceof, impurities.

2. Unfortunately no advantage was taken of-the fast reaction rate.

3. So far no notice has been taken of the,obvious advantage of this technique.

4. His curiosity was excited when reference was made to still earlier publications.

5. Recently the problem has been“given close consideration in connection with a
new space project.

6. Mention has already beenymade of the fact that gold is slowly attacked by these
substances.

7. Several outstanding\centributions have been made to the study of crystal growth.

8. There is no doubt that in the course of further scientific development extensive
use will be made of modern computing machines and electronic devices.

Exercise 11._Put questions to the words given in bold type.

1. Temperature of the electrolyte was kept at 293 K.

2. The\wafers were then cut into pieces and subjected to electromechanical
anodizing.

3. A visual correlation between three clean harmonics is less affected by the noise.

4. A fixed number of harmonics is used for testing the algorithm.

5. The CDM approach to capacity enhancement is based on phase modulation of
partially coherent light.

6. The number of CDM channels can be varied without changing the physical
infrastructure.
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7. The advantages of ion beam techniques in thin film or surface technologies are
pointed out in a lot of publications.

Exercise 12. Translate the following sentences into Russian.

1. Many collision detection algorithms have been developed for solving collision
problem for computer animation of moving objects.

2. Breakthroughs in chip development were needed to solve the problem of faster
chips requiring more power and becoming less efficient.

3. Initial experimental specimens were prepared by vacuum deposing of aluminium
films.

4. In this article mention is made of the acoustic devices designed by our scientists.

5. Around this concentration region the experiment was repeated three,times and
phenomenon was definitely confirmed.

6. Electrical signal carrying information is used to modulate the dight emitted by an
optical source, typically a laser diode.

7. The modulated light is then propagated through an opticalfiber link.

8. It is observed that parts of the harmonic structure of speech'have been removed.

9. The performance of the proposed algorithm is evaluated and compared with other
noise reduction methods.

Exercise 13. Translate into English.
1. Baxubiii BkJIaJg ObUT CcACNaH B JM3yMEHHME MPOOJIEeMbl  OOecIeueHuUs
nH(pOpMaIIMOHHOM 6€30TTaCHOCTH.
2. B atoii nabopaTopuu IpOBOJUTCS MHOPO HAYYHBIX UCCIEIOBaHUM.
3.0ta wMbIcib OblIa  BOEPBBIC, | BhickazaHa mpodeccopom  Oxchopackoro
YHUBEPCUTETA.
4. BayXHOCTh TIOJTy9€HHBIX BBIBOJIOB HE ObIJIa OIICHEHA.
5. 3a BKCIIEpUMEHTOM NOCJISA0BAJIO UCIIBITAHUE Pa3pabdOTaHHOIO YCTPOMCTBA.
6. ATOPUTM KCIIONB3YETCH I U3MEPEHHUSI HYJICBBIX TAPMOHHK.
7. 1lpu Takux YCIOBHSX TpPEOOBaHUS MOTYT OBITh YIOBJIETBOPEHBI TOJBKO
YaCTUYHO.
8. [loTpeOyroTcs | _anpHEHIIME WCCIEIOBAHUS JJIi  TOATBEPXKIACHUS  ATOTO
pe3ynbTara,
9. HenaBuo, Monenp Oblia mpeoOpa3oBaHa, U B HACTOSIIIEE BpeMsi OHA IIHPOKO
UCII0JIb3YETCs Ha MPAKTHUKE.
10.Bce( exeMbl MOXHO JIETKO PAcCUIMPUTh ISl MPOEKTUPOBAHUS APYIHMX HOBBIX
YCTPOMCTB.

Exercise 14. Choose the correct verb form.

1. Modern speech-coding algorithms are associated/ are associating with numerical
methods that are computationally intensive and often sensitive to machine
precision.

2. The statistical and spectral properties of speech are defined/ have defined over
short segments.

3. The properties of speech is being related /are related to the physical speech
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production system.

4. In fact, existing computer chips will be manufacturing/are already manufactured
taking advantage of techniques at the nanoscale.

5.New and powerful light-emitting diodes (LEDs) may soon replace/ may be
replaced conventional light bulbs, offering huge energy savings.

6. In the short term, the greatest advances through nanotechnology will come/will
have been come in the form of novel medical devices and processes, new catalysts
for industry and smaller components for computers.

7. LEDs are built/are building with nanoconductors, increasingly developed at the
nanoscale.

8.Some nanomaterials, such as nanowires and other simple devices ‘have
shown/have been shown to assemble themselves given the right conditions, and
other experiments at larger scales are striving/are being striven to demanstrate the
principles of self-assembly.

9. More recently scientists working on the nanoscale have, Created/have been
creating a multitude of other nanoscale components and devices.

Exercise 15. A. Supply the correct form of the verbs in brackets.

1. These parameters __ (extract) from each harmonic subband.

2. lllegal data access __ (become) more easy and prevalent in wireless and general
communication networks.

3. In order to protect valuable data from undesirable readers or against re-production
and modifications, the encryption techniquées *  (propose).

4. The two parameters could be _ (view)\as'the keys to the proposed signal security
system.

5. The evaluation of the design __ (include) the delay time and the areas cost.

6. The machine __ (try) under severe conditions.

7. No stage of the design can,_, (complete) in the absence of the precise specification
of the system under design.

8. Every thing __ (affect) by-its relations to everything else.

B. Today is Wednesday. Look at the notes Mark wrote yesterday and
early.today. Then write: a) what he had done yesterday; b) what he is
having done today.

Tuesday Wednesday Thursday
(today)
the information for the a scientific paper printed | a meeting with the
paper collected scientific supervisor
arranged

the equipment for the a resumeé sent the model produced
experiment checked
the obtained results a summary of the article | the device tested
analyzed written
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a. He had the equipment for the experiment checked yesterday.
b. He’s having a scientific paper printed today.
c. He’s going to have a device tested tomorrow.

Exercise 16. Use get in the required form in place of have in these sentences.

1. I must have | must get this report photocopied and sent off immediately.
2. They are finally having __ their computer repaired.

3. We’ll be having __ the experiment carried out by a group of specialists.

4. Why don’t you have __ the speed of the reaction changed?

5. They should have __ new laboratory equipment installed.

6. You need to have __ the theme of the research specified.

7. Have you had __ the data checked?

8. He is going to have __ his experiment repeated next week.

9. When will he have __ all his mistakes corrected?

Exercise 17. Put in causative forms for the verbs in brackets:

Constant maintenance

The more you own, the more there is to go wrong. You invest in a new hi-fi
system and in no time you have to (it repair) 1 __get it repaired. You (a new washing
machine install) 2__ and you have to buy expensiveiinsurance to maintain it. You buy
a car and need to (it service) 3__ regularly: You buy a camera and then spend a
fortune (films develop and print)4__. It’s not'only things that need constant attention.
How often we have to (our eyes test) 5."¢ (our teeth fill) 6 and (our chests X-ray)
7__1 But I had to smile last time | went to (my hair cut) 8 . A bold notice in the
window announced: “All our custemers promptly executed!” You certainly wouldn’t
need (any jobs do) 9 after that!

Exercise 18. A. Read the\text to yourself and be ready for a comprehension
check-up.

Recently muehdattention has been given to the study of this phenomenon. In
this paper new experimental observations are presented and discussed. The data have
been obtained>assuming a new model of the mechanism involved, which was
suggested. in‘an earlier study by the author. The measurements have been carried out
with a canventional apparatus slightly modified by the author. All possible sources of
error  are’ taken into account and consideration is given to the advantages and
shortcomings of the present approach. The results are analyzed and the analysis is
followed by a comparison of the data obtained with those available in literature. It is
hoped that the disagreement may be accounted for by an improved experimental
technique of the present investigation.

B. Check up comprehension.

1. Is it an abstract, a summary or a conclusion?
2. What was the author’s theoretical contribution?
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3. Did anybody else study the phenomenon? (Find two sentences to support your
answer).

4. Do the author’s results agree with those reported in literature?

5. How does he (she) account for that?

6. How does the author increase the accuracy of his (her) results?

Exercise 19. Read the article and underline all the examples of the passive. What
tenses are they?

A hacker has been sent to jail for fraudulent use of credit card numbers.
Nicholas Cook, 26, was arrested by the police officers near a bank cash paoint last
month.

Eight months earlier, he had been caught copying hundreds of\'computer
programs illegally. After an official inquiry, he was accused of software, piracy and
fined £5,000.

It is reported that in the last few years Cook has been(sending malware
(malicious software) to phone operators and attacking mobile phones to steal business
and personal information. Cook has now been sentenced to_three years in prison for
stealing passwords and obtaining money by credit card fraud.;

Government officials say that new anti-hacking, legislation will be introduced
in the EU next year.

PA3JIEJI 4. HEJJMYHBIE ®QPMBI [JIATOJIA
(VERBALS)

Hemmuneie ¢opmer riarona: wadwautus (The Infinitive), repynauii (The
Gerund), mpuuactue Hactosmiero-Bpemenn (The Present Participle), mpuuactue
npomienmero Bpemenu (The Past\Participle) umerot creayronme 0coOCHHOCTH:

1. CoBmenraror B ce0Oe “TIpM3HAKK JBYX 4YacTedl peun (mpuyactue —
NpUIaraTeib-HOTO W TJarejia, TepyHAWH — CYNIECTBUTEIBHOTO M  IJaroJa,
WH(PUHHUTUB — IJIarojia iCyIeCTBUTEIBHOIO0).

2. BeipaxkaroT/neucTeue 0e3 yka3aHus JIMIA, YHCIa, BPEMEHH U HAKIIOHCHWUS,
MOATOMY B TPEIJIOKEHUH HE MOTYT OBITh CKa3yeMbIM, a JIMIIb 3HAYMMOW YaCThIO
CKa3yeMOro0.

3. Nmeror kateropun 3anora (Active, Passive) u Bpemenu (Present, Present
Continuaus,-Perfect, Perfect Continuous), koTopsie 00BIYHO YKa3bIBAIOT HA TO, KaK
HNPOTEKAIO” ECHCTBHE IO OTHOIICHHIO K JCWCTBHIO, BBIPAKEHHOMY CKAa3yeMBbIM.
®opmer* Present u Present ContinuOus moka3plBalOT, YTO NEHCTBHE MPOTEKAIIO
OJTHOBpEMEHHO ¢ neicTBreM ckazyemoro. ®@opmer Perfect u Perfect Continuous
ITIOKA3bIBAIOT, YTO JEUCTBHE MPEAIIECTBOBAIO ACHCTBUIO CKA3yeMOIo, IPUYEM
dopmer  Present Continuous u Perfect Continuous BeIpaXkaroT UIHTEIBHOE
neiictBue. (POpMBI MPUIACTHSI HACTOSIIETO BPEMEHU U TEPYH/IUS COBIIAIAOT).

4. MoryT BBICTYNaTh B IPEUIOKEHUU B PA3IHMYHBIX (PYHKIUAX: MTOIJICIKAIIETO,
YaCTH CKa3yeMOro, JOMOJHEHHUS, ONIPEICIICHUS K 00CTOSITEIbCTBA.
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5. MoryT ymoTpebiaTbcsi B COYETAHWHM C 3aBUCUMBIMH CJIOBaMH, 00paszys
000POTHI.

Ynompebnenue.

[Ipuyactue ynotpeOisieTcss B MNPEIUIOKEHUU B  TpeExX

(GYHKIHSX: YaCTH CKa3yeMOro, ONPEIeIICHUS] B 00CTOSATEIbCTBA.

lepynauii 1 WHOUHUTAB — B TATH: IOMJISKAIIET0, YacTH CKa3yemoro,
JIOTIOJTHCHHUSI, OTPEICIICHUSI U OOCTOSATENIBCTBA, MPHYEM B (DYHKIMH ONpEICICHUS
(mpaBoro) u 00CTOATEILCTBA MEPE TEPYHANEM 6Ce20d CTOUT Npeoioe.

Ilepesoo. Ilpuuactue

MIEPEBOAUTCS

B

3aBUCUMOCTH OT

byHKIUM B

MPEIOKCHUH: B QYHKIIUN OMPENCIICHUS — MPUYACTHEM, B (YHKITUU OOCTOSTEIIHCTBA
— JIeeTPUYACTHEM.
lepynanii 1 MHOUHUTHUB TEPEBOIATCS TaKKE B 3aBUCUMOCTH QT~(DYHKITUH:
CYIIIECTBUTEIbHBIM, HHOUHUTHUBOM, JCCTPUIACTHEM, HHOTA IPUIIAraTeIIbHbIM.

Bce Henmuunbie popMBI r1arona MOTyT MEPEBOAUTHCS JIMYHBIMU — B 000pOTaXx.
Obopomul. Bece HenmuuHble (POpMBI TU1aroia oOpasyroT CIOKHBIE 000ponbl —
KOHCMpPYKyuu, KOTOPBIE COCTOSIT U3 CYUEeCMBUMENbHO20 UMY MECHIOUMEHUsL U OOHOU

TuIHOU popMoii TIarosa

JTUYHOUW (opMO¥i T1arosa

U3 Hewuuvlx @Gopm enaeona. llepeBoisATCS NPUIATOYHBIM WU MPOCTHIM
MPEIIOKEHUEM.
OO61ast Tabaua HEMMYHBIX M1an0ABHBIX (GOopM
IIpuyacTe HACTOALET0 BPEMEHU I'epynani Nuapunntus
The Present Participle The Gerund The Infinitive
Active Passive Active Passive Active Passive
Present asking being asked asking being asked to ask to be asked
Pre.zsent — — — — to be asking —
Continuous
Perfect | having asked having been having asked having been to have asked to have been
asked asked asked
Perfect to have been
Continuous o o o o asking o
The Past Participle asked
Crioco0s1 ynotpedieHus YnorpeobJieHue
1 — MoJyIeXKaIee noJyIeKaIlee
2 4acTh CKa3yeMoro 4acTh CKa3yeMoro 94acTh CKa3yeMoro
3 —_ JIOIIOJIHEHUE JIOIIOJTHEHUE
4 OTpe/ICIICHUE (mpemtor) onpesencHue OTIpe/ICIICHUE
5 00CTOATEIILCTBO (mpemtor) 06CTOSTETLCTBO 00CTOATEILCTBO
CriocoOsbI epeBosa IlepeBon
1 (omp.) mpuyacTrueM CYLIECTBUTEILHBIM WH(UHUTHBOM
2 (obcT.) meenpuyactuem WHQUHUTHBOM CYIIIECTBUTEIIbHBIM
JTUYHOU (popMO¥i Tarosa
3 JIeeTPHYaCTHEM JeerpruIacTueM
(o6opoThI)
4 npujaaraTCJibHbIM npujaaraTCJibHbIM
5

(o6opoThI)

(o6opoTh)
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Oo6opoTsI

«OOBEKTHBIN ITANEXK C «OOBEKTHBIN ITANEXK C
I'epynananpabIe 000POTHI
IPUYACTHEM MH(OUHUTHBOM»
cyu.(o01IL.In. cyur.(mpuT.1I. cyur.(o0mL.In.
1| T yut( ) + (as) Part |(mpemsor)+ ym.(np )+Gerund Il y( ) + Inf.
MecT.(0OBEKT.II.) MIPUT. MECT. MecT.(0OBEeKT.11.)
1. npua. Jom.npea.;
IPU/L. JIOIL. TIPEII. (mpemtor)+cyi.(oomr.im. ) +Gerund p P
2. IPOCTBHIM MIPEI.
«IMeHuTenbHBIN aNeK C IpUJ. IPEUL. CO CIOBaMu: mo, | «IMEHUTENIbHBIN MTAaJEeXK C
IPUYACTHEM umo MH(OUHUTHBOM»
CyIl.
cyur.(o0mL.I. J1aros o0mrL.I. TJIaron
yu( ) + + (as) Part ( )+ +Inf
2| mect.(um.1.)  (cTpam.3ai.) MecT.  (cTpaj.3ain.)
(um.11.)

1. npua. npend.;

[Ipunarounoe npeaioKeHue
2. IPOCTBIM MPEJI.

HeszaBucuMpblii MpUYacTHBIN O6opor «for + cymr. +
obopor + UHQUHUTHBY
) cyur.(o0mL.In. cyut.(oOmr.m.
- (with) yn(oom )+ Part for+ ym.(obmr.) + Inf.
MecT.(MM.IT.) MecT.(0OBEKT.I1.)

1) mpu. Tmpeast. BpEMEHH,
NPUYKHEL, YCI0BUS (KOrIa, Tak
KaK, €CIIH); 2) OTACIbHBIM TPE/II.
(mpuuewm, u, a)

1) mpu. o6¢CT. mpe.;
2) POCTHIM
[peUIOKEHUEM

PA3JIEJI 5. HHOUHUTHUB
(INFINITIVE)

WNudunutus. ¢ (HeonpeneneHnas ¢opma riaroia) MpeiacTaBiseT coloi
HEJIMYHYIO TJIArQJibHYI0 (hOpMy, KOTOpasi TOJIBKO Ha3bIBAaeT JCHCTBUE, HE yKa3bIBas
HU JIMLIA, HW, YKdela. IHQUHUTHB OTBEYAEeT HA BOIIPOCHI Ymo Oenamsv? ymo coenamay?:
to read unrate, mpoyecth; t0 Write nucaTh, HanKcaTh; 10 buy mokymnaTe, KyIuTh.

dopmabHBIM TIPU3HAKOM HWH(OWHHUTHBA SIBISAETCS dYacThia t0, KoTopas He
MUMEeT CaMOCTOSTEIBHOTO 3HAUCHHS W HE PUHUMAaeT yaapeHus. OnHako dactuna to
nepei “HOUHUTUBOM YacTO OITyCKaeTCsl.

NHGUHUTHB MPOU30IIET OT OTIJIAroJbHOTO CYIIECTBUTEIBLHOTO M COXPaHHII
CBOMCTBa 3TOM YacTu peud. MHPUHUTUB, KaKk M Bce HeIWYHble (POpMBI Iiarosna,
MOYKET:

a) WMETh MPSIMOE JIOTIOJIHEHUE, HATIPUMED:
to build roads — crpouts noporu;

0) ompenensaTbcs HapeYHeM, KOTOPOE WHOTJA PACIIOaracTcs MEXIy YacTHICH H
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cmbicioBoit wacTero (Split Infinitive), Hanmpumep:
to effectively determine — onpenenarts 2¢ghgpekmusnvim oopazom,

B) HMETH CIIOKHBIE (DOPMBI, HAIIPUMED:
to be written — ObITH HATIMCAHHBIM;
to have written — (y>xe) Hanucars;

to have been written — (y>xe) ObITH HaIMCAHHBIM.

DyHKUMY UHPUHUTHBA B NPEIJT0KEHUN

Dynukyuu

Ipumepuot

1. Iopaexaniee
[Tocne hopMaabHOrO MOAISHKAIIETO It

To save money is not easyks
It is important towebey the laws
of the country.

2. YacThb CJI05KHOI0 MOMJIEKALEro

(Complex Subject)

1) nmocune rinarosoB say, believe, know, expect,
think, state, announce etc.

2) 1ocJIe IIarojioB Seem, appear, happen, prove,
chance, turn out etc.

3) mocne mpunaratenbHbIX (UN)likely, certain,
sure etc.

She is said\to have completed the
experiment.
He(proved to be a good engineer.

He is sure to be awarded a prize
for his scientific research.

3. HYacTh COCTABHOIO IJIar0JIbHOT0 CKa3yemMoro
1) C MOJAJIbHBIMMU TJ1aroJiaMun

2) ¢ riarojiaMu, XapakTepU3yOIUMU
nmpoTekaHue aercTBus begin, start, continue,
cease, would, used to etc.

You ought to fulfill the task on
time. She’s started to plan her
business career.

She used to work in
laboratory.

this

4. JlonoJiHeHHE

1) mocne rimaromos want, wish, decide, aim, fail,
hurry, manage, offer,/prepare, refuse, try,
struggle, hesitate, afford, attempt, deserve, hate,
love, like, prefer,.plan, ask, choose, hope,
promise, remember, forget etc.

2) mociie puitaratenbHbIX U npudactuii: glad,
pleased{ happy, sorry, able, afraid, ready etc.

We were asked to speak to the
manager.

He can’t afford to buy new
equipment.

| am ready to report the obtained
data.

5. HacTh CJI07KHOTO TOTMOJITHEHUS

(Complex Object)

1) nmocne riarosgo want, wish, like, would like,
need, prefer, consider, believe, know, think,
prove, suppose, expect etc. (c to)

2) TOCJIe TIarojiIoB YyBCTBEHHOTO BOCTIPHSITHS
hear, feel, see, watch, notice etc. (6e3 t0).

| want you to help me with the
assignment.

We often see scientists move
from one field of research into
another.
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6. Onpenesienne
(MHOUHUTHB CTOMT IOCIIE OMPEAEIAEMOr0 CI0Ba)

WNHGUHATHB B GYHKIHUU OIIPEICIICHUS YaCTO
BCTpeuaeTcs TaKke mocie cios: the first, the
second, the third, the last

The problem to consider next is
concerned with the ionization of
gases.

He is always the first to come to
the university.

7. O0CTOATEIBCTBO
1) yeau (MHGUHUTUB CTOUT B HAYaJIC U B KOHIIE
peIoXKeHHs ¢ corozamu in order to, so as (to)

2) cneocmeus (MHOUHUTHB CTOUT B KOHIIC
IPEIIOKCHHS, K €My YacCTO MPEIIICCTBYIOT
ciosa: enough, too, sufficient, sufficiently)

(In order) to understand the
phenomenon the laws of motion
should be considered.

Some people are toq proud to
admit that they don’t:know.

8. BBOAHBII YJIeH npeaJi0:KeHusl

(065111H0 CTOUT B HaYaJIC IPEIOKEHMS, BCETAA
BhIIesieTcs 3ansaTeiMu ;- 1o tell the truth, to begin
with, to sum up, to be sure, to make a long story
short, to put it simply, to say the least, to be
honest etc.

To be honest, I"am not yet ready
with my research.

To begin/ with, no general
method\will be given here.

Ynorpediaenue nHPUHUTHBA 6€3 yacTUulbl t0

Cnyuau ynompeoaenusn

Ipumepuot

1. [Tocae BcnoMoraTebHbIX Ii1aroiaoB doy
shall/will, should/would

| won’t ask him any questions.

2. [Ins oOpa3oBaHus MOBEIUTEIBHOI'Q
HAKJIOHEHUS

Approach the problem from
different sides.

3. ITocue rimarosios let, make B'cnoxaom
JIOTIOJTHEHUH *

B 000pOTE «0OBEeKmMHbBLIL RADEIHC C
UHDUHUMUBOM)

He made me take special care of
the accuracy of the calculation.

4. ITocne MOIaIbLHBIX TIIAr0JI0B (m ust, can, may
etc.)

You must put it another way for
everybody to understand clearly.

5. Ilocme rnaroyoB 4yBCTBEHHOTO BOCIIPUATHUSA
see, hearylisten, watch, feel, notice B cnoxxaom
JOTIOSITHEHWU B 000pOTE «00beKmHbLIL nadedic ¢
UHGUHUMUBOM»

| heard him admit to have made a
similar mistake in his earlier
publication.

6. [Tocne coueranuii had better, would
rather/sooner, rather/sooner...than

You had better think logically first
in order to write with precision.

7. B Bonpocax, naunHaromuxcs ¢ Why?

Why not review recent
development in the field of
computer-aided design?
Why worry?

*B cTpanmatenbHOM 3aore make ymoTrpeodisercs ¢ gacTuiiei to:
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He was made to work without any breaks.

®opMbI HHPHUHUTUBA

Tenses [eiicmeumenvuutit 3a102 Cmpaoamenvnulil 3a102
Active Voice Passive Voice
Present (to) investigate (to) be investigated
Present Continuous | (to) be investigating -
Perfect (to) have investigated (to) have been investigated
Perfect Continuous | (to) have been investigating -

Present Infinitive — neiictBue, BrIpakeHHOE HH()DUHUTHBOM, U, IPOUCXOIUT
OJTHOBPEMEHHO C JICUCTBUEM CKa3yeMOT0, M OyleT UMETh MeCTO B OyaylieM (eciu
CKa3yeMOC€ BBIPAXXCHO I'JIarojJiaMm TUIla to expect — OXKXHOaTh, I10JIaraTh, to assume —
IOMyCKaTh; 10 SUPPOSe — mpeanoaararhb, nojaararh:

| have never known him to take an active part in the worki

We expect him to take an active part in the work.

Perfect Infinitive — nelicTBue, BbIpa)keHHOC WH(YUHUTUBOM, MPOUCXOIHUT
paHblIIE NEUCTBUS CKa3yeEMOT0, HAIIpUMED:

Such information is unlikely to have been available from the user.

Present Continuous Infinitive — neiicTBue\ ”HGUHUTHBA MTPOUCXOIUT B TOT
MOMCHT, O KOTOPOM I'OBOPHUTCs B IIPCAJI0KCHUN, HAIIPUMCDP:

| have never known him to be workingat this problem.

Perfect Continuous Infinitive ( ~" maurensHoe [aeicTBHC WH(PHUHUTHBA
COBCPpHIACTC B TCUCHHUC OTPC3Ka « BPCMCHH, HIPCANICCTBOBABIICTO I[GﬁCTBHIO,
BBIPA)KEHHOMY TJ1arojioM B JIMYHOW hopMme:

He is known to have beenworking on this problem for many years.

Passive Infinitive — jelictBue wHQUHUTHBA, TEPEBOJUMOrO CKa3yeMbIM B
MPpUAATOYHOM IPCIOKCHUHU, TICPCXOJUT Ha ITOICKAIICC, HAITPHUMEP:

| know him to have been informed about the meeting.

Practice
Exercise 1. Write various forms of the infinitive.

a) PresentInfinitive Passive (to translate — to be translated)

to detect to establish to predict to receive to verify
to discount to observe to prove to suggest

b)Present Continuous Infinitive Active (to translate — to be translating)

to add to describe to discover to record to utilize
to compare to develop to gather to test

c) Perfect Infinitive Passive (to translate — to have been translated)

to achieve to create to generate to represent to support
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to bring about  to examine to provide to send
d) Perfect Continuous Infinitive Active (to translate — to have been translating)

to accumulate  to conquer to explain to improve to process
to acquire to discuss to explore to participate

Exercise 2. Find the infinitive in the sentences, define its form and function.
1. To develop the supercomputer highly developed electronics and new materials
were required.
2. This method is not accurate enough to give reliable results.
3. To explain this simple fact is not so easy.
4. The question of the procedure is yet to be settled.
5. The device to be tested has been made in our lab.
6. To begin with, one must be curious about the world around him.

Exercise 3. Use the correct form of the infinitive of the verb in brackets.
1. Everything is just the way it used (be). Nothing seems (change).
2. The money for charity is supposed (raise) by the organizers-of the party.
3. He admits (make) a similar mistake in his earlier publication.
4. One can expect the scope of research (expand) steadily.
5. The engineer made the reaction (run) at reduced.pressure.
6. These variations were found (make) little difference in the results.
7. They claim (inform) of this possibility before the experiment.
8. Science is known (contribute) to every aspect of people’s life.
9. The product has been proved (affect) the overall yield.
10. Nowadays we see many new areas of research (come) into being as a result of
unexpected break.

Exercise 4. Paraphrase thefollowing sentences using the infinitive active or
passive.
1. She was sorry that she had missed so many classes before the exams.
2. You should give/this'matter top priority.
3. It has been found that semiconductors exhibit magnetic properties.
4. We know.that the first digital optical disks were produced in 1982 as disks for
music.
5. The scientist reported that he had spent six years on the problem.
6. They-should regard the study as contributing to fundamental knowledge.
7. He was deeply disappointed that the final results of his research had turned out
unsatisfactory.
8. It is concluded that the model provides a very good fit to the experimental data.
9. You should strictly define all the responsibility.
10. Experience shows that this strategy has produced better results than more
traditional one.
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Exercise 5. Use the infinitives given below as subjects:

to explain to give up to know to lose to operate to see
to explore  toimagine  tolearn to mention  to search to speak
1.1t is hard __ peaceful coexistence of nations without all-round scientific

cooperation among the states.
2. 1t is often difficult __ the long-term consequences of scientific advance and its
applications.
. It takes time ___ the subject - matter thoroughly.
. It takes long __ the possibility for using alternative sources of energy.
. It would be rather difficult __ this complex device.
. It appears advisable __ about an improved version of this method.
. It takes time __ this phenomenon.

~NOo Oo1lh W

Exercise 6. Use the infinitives given below as predicates:

to ask to deny to keep to produce to take

to become to encourage to measure to reach to try

to control to go on to offend to return

1. The mission of scientists is ___ knowledge.

2.The new apparatus was _ all the, <temperature changes during the
experiment.

3. The main task of a scientific supervisor is __ his postgraduate students to do
research.

4. The important thing is __ a different approach to the problem.

5.Hisaimis __ these preliminary calculations secret.

6. The usual way to evaluate the electrical conduction properties in these connections
Is__ the contact resistance.

7.0ur planis __ obtaininginformation from a server.

Exercise 7. Use thesinfinitives given below as objects:

to air to calculate to lock to promote to show
to be to evaluate to measure to retire to verify
to begin to give to obtain to see off

1. Many-subsequent researchers have attempted __ this micro-contact model.

2. Today universities are interested __ the development of science and technology.

3. A contact model for a rough surface with a soft coating was used __ the effective
area in the study.

4. A stereomicroscope was used __ the apparent contact area.

5. A three-dimensional surface topography measurement system was conducted __ the
pad surface roughness.

6. The measured surface roughness was used ... the effective contact area.
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Exercise 8. Paraphrase the following so as to use the infinitives as attributes.

1. Technological developments have created the opportunity which frees mankind
from arduous labour.

2. Our ability which helps to communicate fast and easily has made life more
enjoyable.

3. The developed world has a responsibility which enhances partnership activities in
science.

4. The needs which improve performance and reduce chip size made copper replace
aluminum interconnection for deep integrated circuits.

5. There are many considerations that may be taken into account in determining
space velocity.

6. He was the first man who presented the case for this line of research.

7. He was the first scientist who took the floor at this conference.

8. There is one more important factor that can be considered.

9. The researcher was the last who left the laboratory.

Exercise 9. a) Answer the questions. Use the infinitive phrases given in brackets as
adverbial modifiers of purpose.
1. Why do scientists utilize existing knowledge in (to predict how things will
new scientific investigations? behave).
2. Why do scientists use mathematics? (to analyze the data and help
them interpret their results).
3. Why do scientists pursue research in basicscience? |(to satisfy the thirst for

knowledge).
4. Why do scientists conduct researchriniapplied (to achieve some kind of
science? practical or profitable gain).
5. Why do scientists communicate-their results with  |(to discuss findings and
other scientists by publishing-them in science debate issues).
journals?
6. Why do scientists employ methods of induction in |(to generalize from the
developing a hypothesis? experiment’s results to

predict future outcomes).
7. Why do scientists employ methods of deduction? |(to infer new facts from
experimental results).

8. Why does'this study measure the circuit contact  |(to evaluate the electrical

resistance? conduction of various
thermosonic wire bonding
methods).
9. Why was the micro-contact theory used? (to determine the effective

contact area).

10. Why did they propose the classical micro-contact |(to describe the phenomena
model? acting at the contact interface

between two surfaces).
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b) Use the infinitive as an adverbial modifier of purpose.

1. Scientists use computers in order to ...

2. He had to work hard in order to ...

3. A number of devices were developed in order to ...

4.1’ll take a map so as not to ...

5. He left early so as not to ...

6. She set her alarm clock so as not to ...

7. He revised hard for the test in order to ...

8. Scientists used only local materials, in order to ...

9. Take special care of the accuracy of the calculation in order to ...
10. Consider the following analogy so as not to ...

Exercise 10. a) Combine the following pairs of sentences into-one using the
infinitive as an adverbial modifier of result. Use toe-0or-enough where
necessary.

The program is diversified. It can excite the interest of most'graduate students.

The concept was advanced. It could not be appreciated/y ‘econtemporary scientists.

The consequences were disastrous. They might exceed\anything imaginable.

The advantages of such an approach are evident. They could not be taken for

granted.

The theory is not detailed. It can’t give a complete description.

This method is accurate enough. It can give reliable results.

W

A

b) Paraphrase the following sentences so as to use the infinitives of
result.
1. The analysis has been so extended that it can be taken into consideration.
2. A new theory was so advanced-that it could produce a revolutionary change in our
understanding of the process.
3. The paper is so detailed that it enables any other scientist to repeat the research.
4. The technological advance was so great that it could make life easier or more
enjoyable.
5. The achievements of the past few decades are so great that science has come to
occupy.such’an important place in the life of the society.
6. The information was so valuable that it should be included in a scientific journal.

Exercise11. Translate into English.

1. Bompoc ObL1 CITUIITKOM CJIOKHBIM, YTOOBI PEIIaTh €ro TaK MOCIETHO.

2. OH TOCTAaTOYHO YMEH, YTOOBI MIOHATH ITO.

3. Ilpenmonoxenue OBUIO CIUIIKOM HEOXXHIAHHBIM, YTOOBI €ro MOXKHO OBLIO
MPUHSTH BO BHUMAaHHE.

4. TIpoGnema TOCTaTOYHO UHTEPECHA, YTOOBI BO3OYIUTh HHTEPEC HCCIEA0BATENCH.

5. JlaHHBIX OBLIO HETOCTATOYHO, YTOOBI PEIITUTH ATy MPOOIEMY.

6. D10 MpeanosoKeHNe He TaK BaXHO, YTOObI pACCMaTPUBATh €0 CEPHE3HO.

7.9Ta uaest 1OCTATOYHO OYEBUJIHA, YTOOBI BOCIIOIB30BATHCSA €1O.
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Exercise 12. Choose the correct variant. (Infinitive with to and without to).

1. Scientists expect lasers (solve) the problem of controlled thermonuclear reaction.

2. | heard this concept (mention) during the conference.

3. Such information is unlikely (have been) available from the user.

4. They were made (carry out) mathematical and statistical analysis.

5. They made him (leave) the problem out of the scope of his research.

6. Some people seem (be) disappointed with science.

7. Laser is known (be) a device producing an intensive beam of light by amplifying
radiation.

8. We saw them (make) practical measurements using expensive equipment.

Exercise 13. a) Make up sentences:

Model: not easy / write instructions in Java
It’s not easy to write instructions in Java.
1) expensive / set up a data-processing area
2) advisable / test the programs under different conditions
3) unusual / write a program that works correctly the first time'it’s tested
4) important / use a good debugger to fix errors
5) easy / learn Visual BASIC

b) Choose the correct word (a-c) to,complete these sentences.

1. We use high-level languages because machine code is too difficult __, understand
and debug.

a) read b) reading c) to read
2. 1 went on the course __ how to be‘a better programmer.

a) learn b).to\learn c) for to learn
3. He refuses __ the project with.me.

a) do k) doing c) todo
4. The engineers warned. the-employees not __ the cables.

a) touch b) touching C) to touch
5. They may not ‘te-the conference.

a) come b) coming C) to come
6. Spyware can,make your PC __ more slowly.

a) perform b) performing c) to perform
7. The program is too slow __the simulation.

a) do b) to do c) for doing

NupuHuTHBHBIC 000POTHI
(Infinitive Constructions)

1. O0bexTHBII HHPUHUTUBHBINA 060POT
(Objective Infinitive Construction)

He thinks the results to be good.
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(momnexarmee) (ckazyemoe) (cmoxHOE NOTIOTHEeHNE)
(0OBbeKkTHBIN HHPUHUTHBHBINA 000POT)
Ou TyMaer, YTO PE3YJILTAThI XOPOIIHE.

OOBeKTHBIN MHPUHUTUBHBIA 000POT COCTOUT U3 CYHIECTBUTENBLHOTO (B 001IeM
nazgexe) (the results) wimm mectommenus (B 0OBEKTHOM TMajeke) W MHOUHATHBA
cMbIciIoBOrO Tiaroia (to be).

ITocne rmarosnos to see, to hear, to feel, to watch, to observe, to notice, to
make, to cause, to let undunuTu ynorpedusercs 6e3 to.

OObeKTHBI ~ MHQUHUTUBHBI ~ 00OpPOT, KaK MPaBWIO, MEPEBOIAUTCS
IPUATOYHBIM JOTIOTHUTEIBHBIM MPEIJIOKEHUEM, TTOAJICKAIUM KOTOPOTO ' SIBISIETCS
JIOTIOJTHEHHUE, a CKa3yeMbIM — HH()WHUTUB aHTIUICKOTO MPEATOKEHHUS.

OObeKkTHBIT MHOUHUTUBHBIA O0OpPOT YHOTpeOJsieTcs MOCiey, CIeayoIuX
TJIaroJioB:

to allow to consider  to find to make to see to want
to assume  todemand  to hear to permit to show to wish
to believe to enable to know to prove to 'suppose

to cause to expect to like to request . \to take

to command to feel would like  torequire  to think

We made this reaction run at reduced pressure.

2. Cy0ObekTHbI HHPUHATHBHBIA 000pOT
(Subjective Infinitive Construction)

ClOXXHOMOMYMHEHHOE  NPEMIQKEHHWE C  TJIaBHBIM  [PEIOKEHUEM,
BEIpOKEHHBIM Oe3IMUHBIM 000poTOM Thma It IS said, it is reported, it seems, it is
likely, Mo>xHO 3aMEHUTH TPOCTHIMATPEIITIOKECHHEM:

It is considered that the students conduct research well.
The students are considered to conduct research well.
(momnexariee) (ckazyemoe) (uHOUHUTHUB)
C‘H/ITaIOT, 4TO 3TH CTYACHTHBI IPOBOAAT UCCIICAJOBAHUC XOPOLIO.

CyObeKkTHbI HMHQUHUTUBHBI O00OPOT YMOTPEOISIETCS CO  CIEAYIOLUMU
TJIaroJIaM# B ITACCHUBHOM (popMe:

to assume” to consider to find to know to see to suppose
to believe toexpect to hear to report to show to take (momaratn)
to claim to estimate to hold to say to state to think

A number of methods has been supposed to provide this representation.

CyObekTHBI WHOUHUTUBHBIA O0OPOT YIOTPEOJSIETCS €O  CISAYIOUUMHU
riarojamu B akTUBHOM ¢opme: to appear, to happen, to prove, to seem, to turn out,
a Taxke ¢ oboportamu: to be certain, to be (un)likely, to be sure.

These two methods turned out to be incompatible in effectiveness.

This theme is likely to stimulate the researcher’s interest.
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3. O6opor for + cymecTBuTeIbHOE (MM MeCTOMMEHHE) + HHPUHUTHB.

Kak m BO Bcex HE3aBHUCHMBIX 000pOTax, B JTOW KOHCTPYKIIMH TEpes
UHQUHUTHUBOM €CTh CJOBO, OOO3Hauaroulee ICHCTBYIOLIEE U0 HWIH MPEIMET,
KOTOpPOC BBOIUTCA IPCIJIOTOM for U IIpu INIEpCBOAC CTAHOBUTCS ITOIJICIKAIIIUM
npupaToyHoro npemioxenus. CinoBo for momoraer ompenenwTh Hadajao PycCKOro
IPUAATOYHOTO MPEASIOKEHMSI, BBOJUMOTO COI03aMU ¥mO0Obl, B KOTOPOM HH(PUHUTUB
CTAHOBHUTCS CKa3yeMbIM.

For this method to be valuable it must be improved.

Exercise 1. Identify the Objective with the Infinitive Constructions. Translate the
sentences into Russian.

1. We know the scientist to investigate this problem thoroughly.

2. The scientific supervisor wants his postgraduate student to attend the-conference.

3. One may assume the information to be correct.

4. The results of the investigation are very difficult to accept.

. They consider the results to be satisfactory.

6. We proved this suggestion to be wrong.

o1

Exercise 2. Paraphrase the sentences using Objective with the Infinitive
Constructions. Make all the necessary.ehanges.

Model 1: | know that she has an interest in the‘company.
I know her to have an interest inthe.company.

Model 2: She heard that he mentioned the'problem several times.
She heard him mention the-problem several times.

1. We did not know that he was responsible for this experiment.

2. | heard that all collaborators,of your department combine activities in research with
experimental work.

3. Nowadays we see that scientists move from one field of research into another.

4. Most scientists expect that major developments in the near future will take place in
electronics.

5.We know that-our present age is the age of the scientific and technological
revolution.

6. She heard.that he enjoys making reports at scientific conferences.

7. The students saw that the device began to operate.

8. | felt\that the results were satisfactory.

Exercise 3. Identify the Complex Subject. Translate the sentences.

Model: 1. The secret was believed to_have been lost. ITosnaramu, uto cekper ObuI
YTEPSH.
2. She appeared to be supporting the suggestion put forward by her
collaborator.
OKaBaJ'IOCB, dqTO0 OHa HOAACPKMUBACT IMPCIJIOKCHUEC, BBIJIBUHYTOC CC
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COTPYJHUKOM.

A number of methods has been supposed to provide this formal representation.

The conditions seem to have been poorly chosen.

This hypothesis is likely to stimulate the researcher’s interest.

The fact happened to become known to everybody.

The results obtained are considered to be satisfactory.

These two methods turned out to be incompatible.

The study of single electrical circuits does not seem to have given rise to the
phenomenon.

NogakowdE

Exercise 4. Change the sentences so as to use Complex Subject.
Model: It is said that he knows several oriental languages.

1. It appears that the possibility of explaining this theory was not excluded.

2.1t seems that the studies of single electrical circuits haven®t given rise to the
phenomenon.

3. It was proved that these assumptions affected the system capacity.

4. 1t is unlikely that the development of such a unit is a‘suecess.

5. It is certain that the above mentioned reactions preceed smoothly.

6. It turned out that this reaction led to good results.

7. With the advent of nuclear weapon it seemed‘that some people were disappointed in
science.

Exercise 5. ldentify the for-Complexes.|Translate the sentences.

1. The problem is far too involved for'one to be able to solve it.

2. Two hours was sufficient for the reaction to occur.

3. It is necessary for the investigator to apply the knowledge gained from scientific
publications to the problem.under exploration.

4. Preliminary experiments showed that the time required for the specimen to reach
thermal equilibrium’was quite long.

5. Under what conditions will the reaction proceed sufficiently rapidly for the method
to be practical?

6. Here is.onezmore important point for the speaker to explain.

7. There is a-tendency for the method to be used in all the experiments.

8. There’is an apparent tendency for science to become more and more mathematical.

Exercise 6. Practice the for-Complex after adjectives. Study the examples, then
rewrite the sentences.

Model: He was impatient. He wanted the knowledge gained from the library to be
applied to the problem under exploration.
He was impatient for the knowledge gained from the library to be applied to
the problem under exploration.

1. The researcher was impatient. He wanted the expected results to materialize.
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2. The postgraduate student was dissatisfied. He expected the subject of study to be
examined from a new fresh approach.

3. The scientific supervisor was disappointed. He would like his students’ papers to be
published.

4. They were anxious that the researcher should rewrite some parts of his/her thesis.

5. The applicants were worried that they should undertake a preliminary course.

6. He was excited that he should begin his scientific experiment.

Exercise 7. Choose the phrase A, B, C, which best completes the following
English sentences.
1. Coobmiaercs, 4To Uccile0BaHUE MPOXOAUT YIOBIECTBOPUTEIBHO.
The investigation...
a) 1s proceeding satisfactorily;
b) s to proceed satisfactorily;
c) is announced to proceed satisfactorily.
2. ITo-BUaMOMY, 3TH YCJIOBHS BEIOPAHBI IJIOXO.
These conditions...
a) have to be poorly chosen;
b) seemed to be poor;
c) seem to have been poorly chosen.
3. Bo3aMoxHO, OH mipeycren B pemeHrny dTOU 3a/1a4H.
He was likely ...
a) tosucceed in solving this problem;
b) to succeed to solve this problem;
c) tosucceed solving this problem:
4, C‘{I/ITa}OT, qTO 3TU SBJICHUS B3aMO3aBUCHUMBI.
These phenomena ...
a) are interdependent;
b) are believed to be interdependent;
c) are to be interdependent.
5. Oka3asiock, 4TO ITO'BELIECTBO 3arpsI3HEHO NPUMECSIMU.
This substance turned out...
a) be contaminated with impurities;
b) to be.contaminated with impurities;
C) contaminate with impurities.

Exercise 8. Change the sentences so as to use different constructions with the
infinitive.
1. It is considered that light is some kind of wave motion of electromagnetic origin.
2. It is believed that the new method has given good results.
3. It was concluded that the reactions are similar in their behaviour.
4. It appears that the reaction involves a rearrangement.
5.1t turns out that peaceful coexistence of nations is unthinkable without all-round
scientific cooperation among nations.
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6. It is certain that progress in science requires various types of cooperation.
7.1t is likely that our ability to communicate fast and easily has made life more
enjoyable.
8. It is assumed that all cultures contribute to scientific knowledge.
9. It is reported that science is doing much to eliminate diseases and hunger.
10. It was proved that this theory is correct.
11.1t is assumed that people’s knowledge is well-organized and facilitate the
understanding of new information.
12. It is expected that this scientist will be involved in this project.

Exercise 9. Translate into English. Use the constructions with the infinitive.

1. M&1 BuieIM BO BpeMs OIbITA, KaKk TeMIiepaTypa ObICTpO majana.

2.0n rmoJjiarac€t, 4To €ro aCCUCTCHTHI CKOPO 3aKOHYAT OIIBIT.

3. ITo-BuuMOMYy, OH XOPOIIIO 3HAET 3TO MPABUIIO.

4. Bai coBeT OKa3ajcs MOJIE€3HBIM.

5. IlonydyeHHble pe3ynbTaThl, OKa3ajloCh, IPEKPACHO COTIACYIOTCS C TPEKHUMHU
JaHHBIMU.

6. B 370l cTaThe, MO-BUAMMOMY, CYIIIECTBYET MyTaHUIIA, B TCPMUHAX.

7. CUUTAIOT, 4TO 3TU CTYAECHTHI IPOBOJIAT Hay4YHbIE HCCIEIOBAHMS XOPOLIO.

8. Ero 3actaBuiy npoBecTH SKCIIEPUMEHT.

9. EMy mo3Bojmin ommyoJuKoBaTh CTaThIO.

The Infinitive and‘the -ing Form

Exercise 1. Below is a list of verbs whiech can take either the to-infinitive or the
gerund with little change:of meaning. Read them and translate into

Russian.
advise bother dread intend love plan start
allow continue forbid leave neglect prefer study
begin dislike hate like permit propose can’t bear

Exercise 2. Match the line on the left with the line on the right. Analyse the use of
the'to-infinitives or -ing forms.

1. They stopped reading the article a) because it didn’t contain any valuable
information

2. “They stopped to read the article b) to get ready for the conference

1. She remembers submitting a) the paper three weeks before the
conference

2. Please remember to submit b) the paper three weeks ago

1. Try combining a) practical work with scientific research

2. | tried my best to combine b) practical work with scientific research
but it was no use
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1. | prefer taking a postgraduate course a) next year
2. I’d prefer to take a postgraduateb) to working at a plant
course

1. On Mondays I like to attend a) lectures of this professor but I’ll be
away then

2. | like attending b) lectures in the morning

3. I’ dlike to attend the c) lectures

1. | believe that what | said was fair.a) saying it
| don’t regret
2. |regret b) to inform you that your application
form has been refused

1. Please goon a) making experiments..l 'don’t mind
waiting
2. After discussing the methods used,  b) to talk about the hypothesis
the researcher went on

Exercise 3. Write each pair of sentences as one. Use the correct verbal forms.

Model: The scientific supervisor didn’t send his abstract. He forgot.
The scientific supervisor forgot to send:his ‘abstract.

1. The postgraduate students once attended, the lecture of Zhores Alferov. They’ll
never forget it.

2. She did research in the field of mieroelectronics but she failed to defend her thesis.
She regretted it.

3. She has failed her exam. | regret it but | have to tell her about it.

4. There wasn’t enough time to'finish my experiment. | tried my best.

5. You want to prove this theoary and do a scientific experiment. You should try.

6. They should tell us abput the conference. They remember it.

7. 1 met him at the_scientific conference two years ago. | can remember it.

Exercise 4. Expand the words or phrases in brackets. Use both the to-infinitive and
the =ing form whenever possible. The first one has been done for you.

1. What dees the decision maker try to obtain / try obtaining by solving the problem?

2. Being absent-minded he often (forget / register) the results of the experiment.

3. He can’t find a good job, he (regret / not take) postgraduate courses.

4. After discussing experimental data the researcher (go on / talk) about a new method.

5. As he hasn’t finished his experiments research work (need / improve).

6. Please forgive me for interrupting you but would you (mind / repeat) that last
sentence?

7. The speaker said he would confine himself (try / answer) four questions.

8. Would you please (remind me / call) her tomorrow?
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Exercise 5. Put in the to-infinitive or the -ing form of the verbs.
1. The development of science is likely (lead) to many undesirable consequences
unless great effort is made (control) the application of scientific discoveries.
2. Science could (be) developed in a new way (become) a meaningful social
activity.
3. I would (be) glad (see) my son (do) science.
4. There will (be) a growing tendency for scientists (occupy) themselves with
problems which affect fairly directly the lives of people.
5. There seems (to exist) a great need (develop) science.
6. (cite) but a few examples, there are such problems as urban development,
education and the prevention of war.
7.1 don’t deny (say) that.
8. Having suggested the scheme myself I now feel committed (try) (make) it work.
9. She was allowed (renew) her student visa.
10. They appreciate (have) this information.

Exercise 6. Make sentences from the notes. Use either the“to-infinitive or the -ing
form.

Model: always /complicated / the / was / solve / a Lhe /'first / to / problem/
He was always the first to solve a complicated problem.

1. Science / be / seem / in / people / to / disappointed / some.
2. Making / can / mistakes / avoid / nobedy.
3. Make / how / don’t / we / to / the / know / reaction / occur.
4. Mentioning / one / is / worth / painti/ there.
5. To/two / the / failed / scientists / from / return / expedition.
6. Him / his / at / the / let / floor/-supervisor / the / conference / take / scientific.
7. Succeeded / a / flexible/uilding / we / in / system.
8. To / would /ages / this ftake / master / it / subject.
9. Was / to / out / the)/ made / experiments / he / carry.
10. Hours / on / the /,report / for / went / writing / she.

Exercise 7. Complete the second sentence so that it is as similar in meaning as
possible to the first sentence, using the word given. Do not change this
word.

1..'mésorry but we have not accepted your application. (regret)
..
2. | think it would be a good idea to participate in this symposium. (suggest)
I ...
3. The supervisor succeeded in persuading his postgraduate student to [(managed)
write a scientific paper.
The supervisor ...
4.1 can’t walit to get your next message. (forward)
I ...
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5. The students were not allowed to look into their notes. (let)
The teachers ...

6. It looks as if this article was published many years ago. (appears)
This ...

7. One of the things | hate is people talking during the lecture. (stand)
One of the things I ....

8. The professor said that they had to make detailed observations. (insisted)

The professor ...

9. The lecturer arrived forty minutes late but they were glad they had |(worth)

waited for him.

The lecturer ...

10. The chairman made an effort to call the meeting to order but it was |(tried)
no use.

The chairman ...

Exercise 8. Write the correct form of the verbs given in brackets: Sometimes more
than one answer may be possible.

Einstein: an ordinary child

Einstein was not a remarkable child. He began.1__"(take) piano lessons at the
age of six. He didn’t seem 2__ (be) particularly talented. He liked 3__ (day-dream)
and 4__ (play). He didn’t enjoy 5 (talk) very juch; in fact, he waited till he was
three before 6__ (start) to talk. In spite of nat'7* (have) a very exciting childhood,
Einstein later appeared 8  (have) a vivid/memory of it. He remembered 9 (be)
impressed by how a compass works and by the mysterious force which made the
compass needle 10 __ (point) in a given direction.

Exercise 9. Choose the most suitable form.
1. Most of the scientists (invited / inviting) to the conference were (leading / led)
specialists in various branches of radioengineering.
2. Experiment is a test/(carried out / being carried out) to gain new knowledge.
3. The number of electronic computers (used / having been used) in any (given /
giving) field of human activity is an indication of the degree of its modernity.
4.When (giving / given) advice to others, think whether you would follow it
yourself;
5. Sheravoided (expressing / to express) her opinion in public.
6. Before(discussing / to discuss) the method it is necessary (getting / to get) some
additional information.
7. They succeeded (in solving / to solve) the two problems.
8. They suggested (performing / to perform) an experiment (proving / to prove) their
point.
9. There are two approaches to the solution of the problem, one (being / to be) used
in analytical investigations, the other in simulation.
10. The change in velocity resulted from the force (acting / to act) from outside.
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Exercise 10. Use the required form of verbals.

1. The success of any research depends largely on (define) precisely its objective.

2. It is sometimes very difficult (make) people (see) your point.
3. By (realize) the threat to our environment we have made the first step to its

preservation.
4. Unfortunately the advantage of (join ) efforts for a complicated job is not always

understood.

5. The scientist (recognize) a problem does the first step to its solution.

6. Nobody can avoid people’s (discuss) their mistakes.

7. These advanced concepts have been immediately applied to practice, (give) rise to

a new branch of technology.

8. Research is searching without (know) what you are going to find.

9. We have overcome the difficulties by directly (consider) all the strategies.
10. The human race can continue (benefit) from science for centuries to come.
11. It’s no use (try) (interrupt) him. You’ll have (wait) till he stops.(talk).

PA3JIEJI 6. IPUYACTHUE

(PARTICIPLE)
DopMbI NPUYACTUSA

Voice Active Passive
Tenses
Present doing being done, “{ BelpaxkaeT neiicTBHE, NPOUCXOAIIEE
Participle OJTHOBPEMEHHO C JIEHCTBHEM, BBIPAKCHHBIM
(Participle I) CKa3yeMbIM
Perfect having done |/having been | BeipaxkaeT neiicTBue, HpeIecCTBOBABIICE
Participle done JEWCTBUIO, BEIPAXKEHHOMY CKa3yEeMbIM
Past - done BBIP@XKAET IEHCTBHUE, IPOUCXOIAIIIEE
participle OJIHOBPEMEHHO C ICUCTBUEM, BBIPAKEHHBIM
(Participle 11) CKa3yeMbIM, PaHbIILIE WIH MTO3KE 3TOTO

JNENCTBUS
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DOYyHKUMU NPHUYACTUA

HACTOAIIECI0 BpEMCHHU H

NPUYACTHUS NMPOLIeAIero BpeMeHu!

Present Participle

Past Participle

B pyakuun

onpeaeaeHust

Present Participle Active mepeBoautcs
MPUYACTHEM JICHCTBUTEIBHOTO 3aJI0Ta C
cybbuxcamu -yuy, -rouq, -auy, -, -6, -l
VI OTPEEIIUTETHHBIM IPUIATOYHBIM
npeioKeHueM. MOXKeT CTOSTh Mepet
OTIpeIeNIIEMbIM CIIOBOM WJIM IOCJIC HETO.

Past Participle nepeBoautcst mpuuactreMm
CTpaJaTeNIbHOTO 3ajora ¢ cyduxcamu-
OKOHYAHUSAMU -HHbLH, -eMblil, ~-UMbBLIL, -UWIHIICA,
-guwiniica. MOXET CTOATH Iepe]] ONPEAEISIEMBIM
CJIOBOM HJIY IIOCJIE HETO.

a) mepe onpes

CIIAE€MBbIM CJIOBOM

Conflicting reports have been published. —
beutn ony6iMKOBaHbI Rpomueopeuaujue opy2
opyzy coobueHus (Win: Komopole
npomusopeuam opyz opyzy).

The perfomed work showed good results: —
Ilposedennan pabota nana XOpPOUTHE PE3yIbTATHI.

b) mocne onpenensemoro ciosa

A number of animals living in the soil feed on
plants. — Iesblit psi JKUBOTHBIX, HCUBYUUX 6
3emne (WIU: KOmopble Hcugym 6 3emie),
MUTAIOTCS PACTCHHUSIMH.

Present Participle Passive nepeBomutcs
NPUYACTUEM CTPATATEIHHOTO 3aJI0Ta C
cypurcaMu-OKOHYAHUSIMY -UUILCA, -GUILTICA,
-Mblil VA OTIPEICITUTEIBHBIM MTPHIATOYHBIM
IPEIOKEHUEM:

The plant being built in our district will
produce radio sets. — 3aBox, cTposiumiics
(koTOpBIii CTPOUTCS celiuac) B HAlIEM padoHe,
OyZeT BBIITYCKAaTh PaJuONPHUEMHUKH.

The experiment done in our, laboratory was a
failure. — DxcriepumeHT, Bposedennwrit (vnu:
KOmopblil 0bL1 nPO6eden) B HallCH 1abopaTopuH,
OKazaJicsl HeyIauHbIM.

B ¢pyHKkumnu o0cTosiTe1bCTBA

Present Participle Active nepeBojutes
neenpuvactaeM ¢ cybpukcamu,-a; -1, -as, -ue
nJjm OGCTOHTGHBCTBGHHBIM HpI/II[aTO‘IHBIM
MPEIOKCHUEM.

Past Participle crout B Hayaie WM B KOHIIE
peUToKEHHS (€CITH OKa3hIBACTCS B CEPEINHE, TO
BBIICISICTCS 3AMSTHIMU) M MOYKET BBOJIUTHCS
corozamu When ‘kozoa’, if ‘ecnu’, as ‘kax’,
though ‘xoms’, unless ‘ecau ... ne’ u until ‘noka
... HE’, ONCE ‘pas3 yxc’, ‘Kak monvko’ v Ap.
IlepeBoauTCs, KaKk MPaBUIIO, TPUIATOYHBIM
00CTOSITETLCTBEHHBIM TPEIJIOKESHUEM, & HHOTIA —
npu+CyIEeCTBUTEIILHOE.

(When),reading books | make notes. — Yumas
(unu: Ko20a s wumaro) KHUTH, 51 1ENak0
IIOMETKH.

Written in pencil the article was difficult to
read. — Tak kak cTaThs Ovl1a HaAnuUcana
KapaHJIaIlioM, €€ TPYTHO ObIJIO YHUTATh.

This universal motor was adopted (as) being
more economical. — DToT yHHBepCalIbHBIH
MOTOp OBbUT IPUHST, MAK KAK OH A61AAEmcA
0oJIee SKOHOMHUYHBIM.

Once said a word cannot be unsaid. — Pa3 yac
CIIOBO CKA3aHO, €TO HEIIb3sl BEPHYTh Ha3aj (He
CKa3aTh).

Present Participle Active ¢ corozamu when
kozoa u While 6 mo eépemsa kax nepeBoauTcs:
a) neenpuyactreM (MM JeenpPUIaCTHBIM

Most of the liquid ethers decompose slowly if
kept at room temperature. —
BonbmMHCTBO KUAKHUX 3()UPOB pas3iaraioTcs
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000pOTOM); TIPH STOM CO03 OITYCKAeTCs;

0) MPUIATOYHBIM MPEUIOKEHUEM C COF03aMHU
Koz0a, 6 mo epemsa Kak;,

B) Hpu-+CyIECTBUTEIBHOE.

When combining chemically hydrogen and
oxygen form water. — Bcmynas B XUMUYECKYIO
PEaKIIHIo, BOJOPOJ ¥ KHCIOPO] 00pa3yroT BOMY.
(Kozoa 6000poo u kucnopoo ecmynarom 6
XUMUYECKYI0 PeaKyuio, OHN 00pa3yioT BO1Y.)

MEJICHHO, eclu XpanAmcsaA Npu KOMHATHON
TeMIiepaTrype.

Present Participle Passive nepeBoaurcs
00CTOSITEILCTBEHHBIM MPEIOKCHUEM BPEMEHH
WM TIPUYUHBI (peke MPUYacTHBIM 000POTOM CO
CIIOBOM Oyoyuu)

Being built of coloured stone and plastics the
cinema will look fine. — Tak kax kunomeamp
cmpoumcs 13 1BETHOTO KaAMHSI U ITaCTMAcC,
OH OyJIeT BBITJISAIETh OUYCHb KPACHBO.

Perfect Participle Active nepeBoaurcs
ACCIIPUIACTUCM COBEPIICHHOI'O BHA C
cyddukcamu -ag, -ue Wiy NPUIATOYHBIM
MMpECATOKCHUCM.

Having repaired the engine the mechanic
showed it to the engineer. — Ompemonmuposas
MOTOP, MEXAHUK NOKA3aJl €ro uHxxenepy. Mau:
Ilocne mozo kak MeXaHUK OTPEMOHTHUPOBAJI
MOTOp, OH ... .

Perfect Participle Passive mepeBoaurcs
MPUIATOYHBIM MPEATIOKEHUEM C COI03aMHU M AK
KaK, nociie mozo KakK, Koz2oa.

Having been repaired the engine began
operating better. — ITocne mozo kak momop
ObL1 OMmpemMoHmMuposan, oH CTaL PaboTarh
Jy9IIe.

B (yHKIMH 4aCTH CKa3yeMOro

Present Participle Activeo BpeMeHax rpyrmb
Continuous u Perfeet Continuous nepeBomutcs
TJIaroJIOM B JJMYHOM Jopme

Past Participle sBasiercst 4acThio cCKa3yeMoro B
CTPAaAaTCIbHOM 3aJI0I'C 1 BO BpEMCHAX I'PYIIIbL
Perfect, mepeBoIUTCsI TI1ar0JI0M B JTUYHOM hopme

We are developing a new program. — Msr
(ceituac) pazpaGamoviéaem HOBYIO IPOTPaAMMY.

| was asked to come. — MeHst nonpocuiu IpuiATH.

He has been working in the laboratory since
early. morning. — Ou pabomaer B nabopaTopuu
C paHHETO yTpa.

| have asked a question. — S 3ada.1 BompocC.

The estimates are considered in their article. —
9TI/I OLICHKHU paccmampueaiomc;l B UX CTAaThC.

Crnoco0sl nepesoaa npuyacruii | u 11

Active Passive
Present Participle using being used
BBIpa)KaeT JICHCTBHUE, B (pyHKITMHN B (pyHKITMH
MIPOUCXOJIAIICE OJHOBPEMEHHO ¢ | 1) ompeneneHus: 1) onpenesncHus:
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JIEUCTBUEM, BBIPAKECHHBIM npuMeHsirowutl (AHOT/Ia: MPUMEHSFOWULIC,

CKa3yeMbIM -euiuil) PUMEHSI8ULULICS, KOTOPBII
(-yw, -row, -, -2y, -6, | nipumensiercs (-umuiics,
-w) -6uuILCA, -Mblil)
2) 00CTOSITEBCTBA: 2) 00CTOSITEBCTBA:
npumeHss (-a, -, -ae, -ue; OyIy4yu pUMEHEH, Koraa
MPUIATOYHBIM pUMEHSIeTCS
NpEIOKCHUEM; TpH +
CYIIECTBUTEIILHOE)
Past Participle Used
BbIpaXkaeT JeiicTBHeE, B QyHKIIUU
MPOUCXOJISIIEE OJTHOBPEMEHHO C 1) onpenencHus:
JIEUCTBUEM, BBIPAKEHHBIM MIPUMEHSIeMblll, TPUMEHEHHbLU
HE yrnoTpeoseTcs 3 2 N .
CKa3yeMbIM, PaHbIIIC UIIH MTO3KE (-HHbUA, -emblit, -umblii, -moli,
3TOr0 IEUCTBUS -muicsa, -6UIUILCA)

2) o0OcTOATEILCTBA: KOT A
npuMeHWM. (pu +

CYIICCTBUTEIILHOC)
Perfect Participle having used having-been used
BbIpaXKaeT JeiCTBHE, B ()yHKIIMU OOCTOSATENBCTBA: | B PYHKIUU OOCTOSTEIHCTBA:
HpeIIecTBOBaBINEE ICHCTBUIO, | IpUMeHu6 (-as, -16, -ue, - 1I0CJI€ TOTO KaK MPUMEHUIIH,
BBIPQ)KEHHOMY CKa3yeMBbIM: GULUCD) TaK KaKk IPUMEHHIIH, KOT1a
PUMEHIITN

Practice

Exercise 1. Complete the sentences using one'of the words in the box.

interesting / interested, boring / bored;, exciting / excited, exhausting / exhausted,
surprising / surprised

1. He works very hard. It’s not:surprising that he is always tired.

2. The teacher’s explanationywas . Most of the students didn’t understand it.

3. | often visit international exhibitions. I’m particularly __ in equipment operating in
a strong electric field.

4. The lecture was 1\ I fell asleep.

5.1 asked my colleague if he wanted to participate in the annual conference but he
wasn’t ..

6. I’ve.been'working very hard all day and now I’'m __.

7. I’m.starting a new research next week. I’m quite __ about it.

8. This*scientist is a very __ person. He knows a lot and he’s carried out lots of
different experiments.

Exercise 2. Use participles given in brackets as predicative.

(Demanding, disappointing, astonishing, irritating, annoying, disgusting,
appalling, exciting, rewarding).

Translate the sentences into Russian.

1. The voice of the chief engineer was __and as always .
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2. The effect of the researcher’s words was .

3. Can’t you fix that dripping tap? It’s getting on my nerves —it’s really _ .

4. Environmentalists think that the destruction of the rainforests is _ .

5. People who drop litter are .

6. People who like computer games are really .

7. We agree that the results of his investigation of a strong electromagnetic field are

8. Career of a scientist can be .

Exercise 3. Change the sentences using Present Participle or Past Participle
attributively.
Model: That man is a master student (he is talking to Prof. Smith).

The man talking to Prof. Smith is a master student.

1. The researcher works at our laboratory. He is testing the model.

2. The investigator doesn’t use a dictionary (he is reading the article).

3. The scientist lived in London for a year (he was training_te‘be a highly qualified
specialist).

4. The students waited at their desks (they felt nervous).

5. The lecturer gave out the questions (she told the students not to open the booklet).

6. The students opened the test booklets (they.looked anxiously for the easiest
questions).

7. The scientist works in our lab (she is making a speech).

8. The man is a famous scientist (he asks'ahout the experiment).

9. The phenomena are thoroughly inyvestigated (they occur during solar flares).

Exercise 4. Use the participles-given in brackets as attributes (asking, realizing,
joining, workingywaltking, doing, helping, standing).

1. He had left a note on the table _ them to come.

2. Some problems can be solved only by the world scientists __ their efforts.

3. The original ideasof a discovery is often the product of one man __ in a group
environment,

4. The snobs at the, institute could not tolerate electrical engineers __ around with
their dirty hands and spoiling the purity of the scientific atmosphere.

5. This israchieved by the lecturer __ research between lectures and other duties.

6. Theapparatus __ on the table in the corner of the laboratory is quite new.

7. The.young man __ the professor in his experiment studies at the university.

8. Such problems can be solved only by a scientist fully __ the possible danger.

Exercise 5. Use the participles given in brackets as attributes: (written, attended,
affected, followed, enjoyed, agreed upon, formulated, referred to,
thought of).

1. This guide, __ especially for students of English as a foreign language,

demonstrates the basic sentence patterns of contemporary English.

2. The plants __ by the cold produced low crops.
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3. The conference __ by scientists from different countries discussed new trends and
methods in this field of research.

4. One of the rights __ by University scientists is that of combining research with
teaching.

5. The discovery by further experimental work stimulated research in this area.

6. Mathematics, mechanics, statics and geometrical optics __ as classical disciplines
started mathematical traditions in the history of natural science.

7. The heads of the laboratories were asked questions _ and __ by a group of
sociologists.

8. The physicists showed that particles  as “elementary” were in fact “non-
elementary”.

Exercise 6. Make one sentence from two using an -ing clause.
Model: The investigators had no experience. They couldn’t conduct the experiment.
The investigators couldn’t conduct the experiment having. noexperience.

1. Electronic computers perform both arithmetic and logic operations. They make it
possible to control the process under rather complicated conditions.

2. Mercury (Hg) has a great specific gravity. It is used intbarometers.

3. My colleague participated in the scientific conference. He was awarded a diploma.

4. People struggle for peace. They want to live without the danger of war.

5. The researcher saw his colleague. He raised his hand to attract his attention.

6. The laboratory assistant was tired. He couldn’t join us.

7. The head of the laboratory was charged ‘with an important task. He thought about it.

8. Water has a high heat transfer coefficient and a high heat capacity. It is the most
efficient agent.

Exercise 7. Make sentences beginning with Having __.
Model: The laboratory assistant finished her work. Then the laboratory assistant went
home. — Having finished her work the laboratory assistant went home.

1. The researcher learntit. Then he changed the schedule of experiments.

2. The scientists increased the rate of the reaction. Then they achieved unexpected
results.

3. The workersfinished the operation of welding. Then they began assembling
devices.

4. The inyestigator changed the program. Then he began to perform a new operation.

5. Ice'was'warmed to 0° (zero). Then it began to melt.

6. They developed a new type of robot. Then they felt quite satisfied.

7. We evaluated the data. Then we turned to their interpretation.

8. We gave an indication of the methods used in this type of analysis. Then we
mentioned some of the earlier results.

Exercise 8. Make sentences beginning with -ing or not -ing. Sometimes you need to
begin with having done (something).
Model: 1 felt tired. So | went to bed early. — Feeling tired, | went to bed early.
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1. She is a foreigner. So she needs a visa to stay in this country __.

2. The Curies investigated the mysterious uranium rays. — They encountered great
difficulties.

3. The scientist recognizes a problem. He makes the first step to its solution.

4. Becquerel had reported of his discovery of rays of unknown nature. — He excited
the curiosity of Marie Curie.

5. You are students of science. — You are probably sometimes puzzled by the terms
“pure” and “applied” science.

6. The scientists had used modern installations and techniques. — They succeeded in
solving a complicated engineering problem.

7. The physicist realized the necessity for a different approach. — He abandoned the
project.

8. Mathematics is independent of all observations of the outside world.\— It attempts
to build logical systems based on axioms.

9. The present work is essentially a study of radio communication. — Nevertheless,
it does provide an overall picture of general communication behaviour.

10. He didn’t know the language and he had no friends. = He found it hard to get a

job.

Exercise 9. Change the sentences using Past Parficiple as an adverbial modifier.
Translate the sentences into Russian.
Model: When a body is heated, it usually expands. — When heated, a body usually
expands.
1. If these raw materials are properly treated, they can provide us with all necessary
substances.
2. Though this formula is generally criticized, yet it does describe the essential
characteristics of the process.
3. An electronic computer. forms an impressive complex device when it is viewed
as a whole.
4. When these theories (hypotheses, models) are sufficiently validated, they become
the working laws,or principles of science.
5. Though the hypothesis of the Continental Drift was first presented to scientific
communityin"1912, it was not until 50 years later that it gained general curiosity.
. Unless-the pressure is otherwise stated, it is atmospheric.
7.When “the biosphere is viewed as a terrestrial envelope, it obviously has
somewhat irregular shape.
8. A'body at rest remains at rest unless it is acted upon by an external force.
9. Once the process is started, it is difficult to stop.
10. If metal, glass, paper, fabrics and the like are properly cycled, they will provide
raw materials for different industries.
11. If the elements are arranged according to their atomic weights, they exhibit an
evident periodicity of properties.

»
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Exercise 10. Use the participles given in brackets as parts of complex objects

(burning, standing, smiling at me, beating wildly, boiling, reading
“The Moon and Sixpence”, gathering, opening, whispering, playing

chess).

1. I looked up to see my mother ...

2. He glanced up to see the door slowly ...

3. He awoke to smell something ...
4. He arrived to find me ...

5. 1 came up to the stove to see the milk ...

6. One night she awakened to hear somebody ...
7. We looked into the window to see them ...

8. They turned to notice Jack ...
9. He woke up to feel his heart ...

10. We looked out of the window to see ...

Ilpuuacmuwiii 060opom Have + object + Past Participle (Participle I1)

Oo6opor 3HauyeHue IIpumep IlepeBoa
Have + object + Past | O3nauaer, uto Ha pycckuit  s3bIK
Participle oelicmaue, obopoT MOXET
Have something done | BepaxxeHHOE nepeeooumscsi  Mak
CKA3yeMuim, T. €. Jce, Kak 21azon @

riarojiom to have u
Past Participle,
COBEpILIAET He CaMO
o (noonesxcawee),
a Kmo-mo 0pyzou ons
Hezo. ['naron to"have

| ‘have had my watch
repaired.

We have the device

nepgexmmnoii hopme.
Sl nouuMHWI  YaChI.
(kmo-mo opyzou
HOYUHUL  Hacbl TIO0
Moeii Ipock0e).

Ham yxe nouununu

UMEeT 3HAYEHUe repaired. npubop (MBI 3TOTO
«3ACMAagiams, JTOOMITUCH).
«coenambv makx,
umoov»
Get + object + Past | 1. Moxho I think you should get | I aymaro, Tebe HamzO

Participle
Get something done

YHOTPEOIATH 8MecHmo
have something done
(rmaBHBIM 00pa3oM B
Pa3roBOPHOM peyH).
2. B HEKOTOpBIX
CIIydasix 6Mecmo
riarosa have
UCTIOJIB3YETCSI TJIaroJ
get B 3HaueHUN

your hair cut.

We got the device
repaired.

MOCTPHYBCS.
Ham (Bce xKe)
noOYUHUNU npudop

(MBI 3TOTO TOOUITUCH).

«00o0usamoca». You must make | Bel 1omKHBL coenamb
B sToM 3HaueHun yourself respected. mak (006umobca
MOXET YIOTPEOIATHCS mozo), 4TOOBI  Bac
riaron make. YBaYKaJIH.

Exercise 11.

1. Jill had the roof repaired yesterday.
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Where did you have your hair done?

We are having the house painted at the moment.
Tom has just had a telephone installed in his flat.
How often do you have your car serviced?

Why don’t you have that coat cleaned?

| want to have my photo taken.

Exercise 12. Use the participles given in brackets as parts of complex objects

(known, extended, printed, changed, heard, finished, represented,
kept, left).

1. Can we have the programme __?

2. They had the problem __ out of their research.

3. Where did you get your (visiting) cards __?

4.You must make your news .

5. They had the range of observations __.

6. | had this work __ quickly.

7. We had our research group __ at the symposium.

8. They had the discussion __ within reasonable limits,
9. He couldn’t make his voice .

Exercise 13. State the forms and functions. of 'the participles. Translate the

1.
2.
3
4
5.
6.
1.
8.
9.

10.
11.

12,
13.

14,
15.

sentences into Russian.
The amazing thing about the whole situation was that they were able to live for a
long time without water.
Having been asked to lecture in\Moscow he was unable to be present at the
meeting.

. You should have your eyes tested.
. Shocked by the poverty of my own vocabulary, | went to the British Museum.

All these threatening changes in our environment are brought (about) by no one but
man himself.

Given sufficient ‘densities, the radio wave curves and is finally reflected from the
gas layer.

Let me knew.what you would like done.

Having/been given all the necessary information he got down to work.

A fascinating by-product of space exploration is turning science fiction into
science fact.

["don’t intend to have my professional reputation compromised.

Once brought into being by evolution from an inorganic environment, the living
matter has profoundly altered the primitive lifeless earth.

Having been sent to the wrong address the letter didn’t reach him.

Being asked when they could expect an answer he said it would take them about a
week.

They believed that they could get their candidate elected.

Having been tested in operation the new installation will be recommended for
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practical application in research laboratories.
16. Scientifically speaking, energy is the capacity of doing work.

The Objective Participial Construction
(Complex Object)
(I saw him working in the library)

OOBEKTHBIN MajeX C MPUYACTUEM COCTOUT U3 JAONMOJHEHMS, BHIPAKECHHOTO
CYHICCTBHUTCIIbHBIM B 06HICM maacxKe nin MECCTOMMCHUEM B 06’[:6KTHOM ImagcxKe (me,
us, you, him, her, it, them), u npuuacrus I, I1.

nojuiexkamiee + ckazyemMoe + odonoanenue + (as) Participle I, &
(cymecTBHTEIBEHOE
WK MECTOMMEHUE
me, us, you, him, her,

it, them)
rjaroji- HepeBOI[I/ITCﬂ HepeBOI[I/ITC}I
XapaKTCPUCTHUKA, IIOoJICKAIIM CKa3yCMbIM
Acti\‘/} \ /
JAK0T I''TaBHOC HpCI{HO)KeHI/Ie B HpI/II[aTOI-IHOM HpeI[J'IO)KeHI/II/I

9T1oT 060p0T BBIITOJIHACT (I)YHKHI/IIO CJIOKHOI'O JOIIOJIHCHUA W TICPCBOJIUTCA
AOIOJHUTCIIbHBIM ITPUAATOYHBIM UPCHJIOKCHUCM.

We disliked the problem being.treated Ham He HpaBHiaoch, 4TO 3Ta MpodJieMa
in this way. TPaKTOBAaJAaCh TAKKMM 00pa3oM.

[Tpu nepeBone (MPEATOKEHHSI C TaKMM OOOPOTOM MEXIy CKasyeMbIM U
JOTIOJTHEHUEM CTaBUTCS COI03 umo WM umoo6st (MHOTIA Kak), IOJIeKaIee CO
CKa3yeMbIM  00pa3yloT T[JIaBHOC MPEAJIOXKCHHE, JIOMOJIHEHHE  CTaHOBHMTCS
HOJIeXKAI UM, ‘@ | IPUYACTHE — CKa3yeMbIM MPHIATOYHOTO MPEIJIOKCHHS, BPEeMs
KOTOPOI'O OIpPEICIIIeTCS C y4EeTOM BPEMEHH CKa3yeMoro M (pOpMBI IPUYACTHS,
HarpumMep:

We saw the engines being packed in MpsI Bujenu, Kak MOTOPbI YNIAKOBBIBAIH
Ccases. B AIIUKH.

[Tpu mepeBoje HAAO MOMHUTH, YTO Mectoumenue (me, us, you, him, her, it,
them), koTopoe cTaHOBHUTCS MOJICKAIIUM IPHUIATOYHOTO MPEII0KEHUS, B PYCCKOM
SI3bIKE COOTBETCTBYET MECTOMMEHHUIO B MMCHHUTEIBHOM Tajuexe (s, Mbl, 6bl, OH, OHA,
OHO, OHU), HATIPUMED:

We saw him looking for something in MsI Buaenu, Kak OH WCKal 4TO-TO B
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the laboratory. nabopaTopuu.

Coro3 as (ecnmu o crout mepen npuyactueM | wmm |l) momkeH momoub
0OHapyXUTh 000POT, HO IIPU MEPEBOJIE OITYCKAETCS, HAIIPUMED:

They thought the reactions as being of Ownwu cumranu, 4ro peakius dbLIa IEPBOTO
the first order. TOPSIZIKA.

DTOT 000POT B OCHOBHOM YIIOTPEOJIIETCS B CICAYIOIINX CIydasx:
1. ITocie riarojioB, BIp@KAMOIIMX YYyBCTBEHHOE BOcpusaTHe. t0 S€e BHaeTh, 1O
watch naOmromate, to hear cawsimars, to feel wyscTBOBaTh, t0 find HaxomuTh,
oOHapyxuBaTh, t0 Notice 3ameuarts.

| saw the cases opened and samples 51 suden, xak BCKpbUIM SIHAKK W B3SJIH
drawn. o0pa3siibl.

2. Tlocne rnarojioB YMCTBEHHOM NESITEIbHOCTH, MHEHUS, CyxaeHus: t0 assume, to
consider cumraTh, paccMaTpuBath, 10 understand monumats, t0 disCover HaxoaUTh,
y3HaBaTh, 10 Imagine BooOpakaTh, MPEACTABIATL ceOe U JIp.

We consider matter as being built up of Mg cuumaem, uro marepusi COCTOUT H3
atoms. aTOMOB.

3. Iocie rmarosyioB, BRIpaXKaroIIUX jkenaHue: t0 want xorerh, t0 wish xemats, to
desire xxenate u ap.

He wants the work done immediately.~, “On xouem, uToObl paboTa ObLIa clelaHa

HEMEJIJICHHO.
The manager wishes the cases counted 3aBenyrommii owceraem, dYTOOBI  SIIMKH
and weighed. OBLIM COCUMTAHBI U B3BCIIICHBI.

4. Tlocne rnaroja to have B 3HaYeHMH «3aCTaBIIATh, «CACIATh TaK, YTOOBI», M Ijiaroja
to get B 3HAUCHUU «TO0OHUBATHCS.

We have the equipment installed. Hawm yxe ycmarnosunu 000pynoBaHue.
We got the equipment installed. Ham (Bc€ xe) ycmanosuniu o00pynoBaHue
(MBI 3TOTO TOOMBAIIKCH).

The Subjective Participial Construction
(Complex Subject)

[Ipensioxkenne ¢ TakuM OOOPOTOM HKMEET CIENYIOIUH MOPSAIOK CIIOB!

noiexkaniee + ckazyemoe (in Passive) + (as) Present Participle (Participle 1), Past
Participle (Participle I1).
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IMopnexamee + cKazyemoe + (as) Participle I, 11

They WEre y seen leaving

TJIaroJ-XapakTepUCTUKa, OOBIYHO
Passive, BeIHOCHTCS BIiepe, 00pa3yeT

TJIaBHOC IMPCAJIOKCHHC

\

O0pa3yroT NpUIaTOYHOE MPEAI0KEHHUE

Oobopor «momiexaimiee ¢ npuuactaem» (Complex Subject) B pycckom
nepeBozie 00pa3yer MPUAATOYHOE JOMOTHUTEIBHOE MTPEIOKEHHE.

They were seen leaving the station. Bunenu, kax onu yxedunu co cCTaHIIuN.

[Ipu nepeBoje NPEIJIOKEHUS C TaKUM OOOPOTOM CKa3yeMoO€ BBIHOCUTCS
Brepe; ©u odopwisercs Kak ryaBHOe (OOBIYHO  HEOMpPEICIICHHO-JTUIHOE)
MPEIIOKEHHE; TOJIIeKAIIEe aHTIIMICKOTO MPEAJIOKEHUS] CTAHOBUTCS MOJICKAIINM,
a TMpUYACTHE —  CKa3yeMbIM MPUJIATOYHOIO MPEMAJIOKEHUS, KOTOPOE BBOJUTCS
COI03aMH umo, umofsl W WHOTJA Kak (CIIOBO aS, €ClIM OHO €CTh B aHIVIMHCKOM
NpPE/UIOKEHUHM, HE TMEPEeBOAMUTCSA). A TakkKe BO3MOXKEH IEPEeBOA  MPOCTHIM
IPEMIOKEHUEM C BBOJIHBIMU CJIOBaAaMHU KaK u36ecmuo, eepoamno v T.1. llpu
NEPEBOJIE IPUYACTHUS TJIAr0JIOM-CKa3yeMbIM MPHUIATOYHOIO MPEITI0KEHHS BPEMSI €r0
OTIpEICIISETCS C YIETOM BPEMEHHU CKa3yeMOoTo M (pOpMbI IPUUACTHS, HAIIPUMEDP:

These elements are mentioned as _having Ynomunaemcs, dro mu 3Inemenmot

been found twenty years ago. ObLIU OMKPBIMBL TBAATH JICT Ha3a/l.
Omu Inemenmol, Kax YHOMUHAEMCA,
ObLIU OMKPBLIMBL 1BA/NIATH JICT HA3a/I.

This phenomenon is.postulated as having Iloctynupyercs, umo 3mo senenue

arisen from excessive heating. 603HUKI0 B pE3yJbTaTe YPE3MEPHOIO
HarpeBaHusl.

The class of regulators can be thought of MoxHo cuurats, umo mom kKnacc

as composed of three parts. PETYISTOPOB COCHIOUM U3 TPEX YaCTEH.

B npemioxkeHusix ¢ 000pOTOM «moJUIekKallee ¢ mpudacTuem» Juno (Wim
npeaMeT), COBeplIallee JEHCTBHE, O0O3HAYCHHOE CKa3yeMbIM, WM HE
yIIOMHUHAETCs (3HAYUT, ITO HE UMEET 3HAUCHUSI), MM BBOJIUTCS mpeasiorom Dy mocie
cKazyemoro. B 3Tom ciydae cylecTBUTEIbHOE, BBOAMMOE MpEIoroM Dy, criemyer
BBIHECTH B IVIABHOE MPEAJIOKEHUE BMECTE CO CKa3yeMbIM U, €CIM BO3MOKHO, CENaTh
MOJICKAIIUM, HATPUMED:

The problem was recognized by many Mmnozue yuenvie npusnanu, 49T0 5Ta
scientists as being of great importance.  npo6JyieMa UMEET OIrPOMHOE 3HAUYCHHE.
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ObopoT «moasexaiiee ¢ MNPUYACTHEM» YIOTPEONIsieTcs €O  CIEAYIOMUMU
riarojamMi B cTpajareibHoOM 3ajore: t0 see Buaerh, t0 hear cieimate, to feel
yyBCcTBOBaTh, t0 watch wmabmomats, t0 find maxoauts, oOHapyxuBaTh, t0 leave
OCTaBJIATh, MOKUAATH, 10 NOtice 3ameuars, tO report coodmats, t0 SHOW moka3sIBaTh,

to catch noBuTh, MOMMaTh U HEKOTOPHIMU JIPYTHMH TJIAr0JIAMHU.

PaccmarpuBaembliii 000poT cO CIIOBOM aS ymoTpeOisercs: ¢ riarojamu to accept
npuHuMath, 0 consider paccmarpuBaTh, cuHMTaTh, t0 explain o0bBsICHATH, 1O
guarantee rapantupoBatb, t0 mention ynomunars, to regard pacrieHuBaTh, CYUTATD,
to speak of ymomunath, kacatbes, to think of cumrars, t0o treat oOpamarhes,
paccMaTtpuBath, {0 understand moHUMAaTh U ¢ HEKOTOPBIMH JAPYTUMH TJIarOJaMH.

The Nominative Absolute Participial Construction

O6opoTt DyHKUYSA ITpumep IlepeBon

Camocmoamenvuulii Llepesonurcs

npuuacmuulit 060pom HPUOAMOYHBIM

COCTOUT: o6cmoamenscmeen-
HbIM npeoiodice-

CyuecTBUTEeJIbHOE Huem, M STOM
npuuacmue

0e3 mpeaJsora NpUYaCTHE .

o AHTJIMICKOTO
(unm mecroumenne  + Partitiple | y (3amsaTas) oBopora

B IMEHUTEIBLHOM
nazgexe I, he, they ...)

something + doing
(1, he, they ...)

y (3amsaTas)

CamocrosTenbHbINH 000pOT

HMEECT C80€ COOCMBEHH
camocmosmenniioe
noonexcawee (0Tcona
Ha3BaHUC) U6Ce20a
OmoenAemca3anamou

(vHOTIA TUPE WK CKOOKAMH).

CamocTosiTeNnbHBIN
oe; MIPUYaCTHBIN
000pOT yalie BCEro
u evipasricaem epems,
npuuuny, ycioeue
W
conymcmeyroujue
odocmoamenscmaa.
B ¢ynkiun
odocmoamenscmea
npuuuHbl,
6pemeHnu, ycioeus
000pOT CTOUT 6
Hauane
npeonoNHceHun.

NIEPEBOAUTCS JIUUH O
¢dopmoii 2nazona,

T. €. CKa3yemuim
NPUAATOYHOTO
MIPELJIOKEHUS B TOM
épemenu, 6
KOMOpOM BBIPAXKEHO
cKazyemoe
AH2UTCKO20
npeonocenus.

Ilepesooumca
npuOamoyHbIM
o6cmoamenscmeen-
HblM npeoodice-
Huem, KOTOpoe
BBOJIUTCS COIO3aMH
MakK Kax, nOCKOnbKYy,
Ko20a, nocie mozo
KaK, Xxoms, eciu v
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Ap.

a) B byakumn The book being IlockonbKy 3ma
oocmosimenscmea | written in simple | knHuza nanucana
npUYUHDL English, it is npocmuim
suitable for AH2TIUTICKUM
beginners. A3bIKOM, OHA XOPOIIIa
JUTSL HAYMHAOTIUX.
The professor Tax kak npogeccop
being ill, the ObL1 00J1eH, TCKITNIO
lecture was put OTJIOXKHIIH.
off. Perfect Participle
ecez0a nepegooumcs
npouwieowum
epemeniem.
The storm having | Tak kax ypazan
ruined their pazpyuwiun ux oom,
house, they had UM TMPUILIOCH €T
to repair it. PEMOHTHPOBATb.
0) B pynkiuun The experiment~ Y IHocie mozo kax
oocmosamenscmea | having been onvim 6vL1
eépemeHu carried out, we npoeeoeH, Mbl

had a short rest.

HEMHOI'O OTAOXHYIJIN.

B) B pyHukiuun

Circumstances

Ecnu

obcmosmenscmea | Permitting, we ob6cmoamenbcmea

ycnosus shall start Nn0360J1M, MBI
tomorrow. TOEJIEM 3aBTPA.

B ¢ynximn [lepeBoauTcs

COnymcmeyrujux CamMoCmoamenbHblM

odocmosneTbcme MPEAJIOKEHUEM C

000pOT CTOUT 6 COYMHHTEIIbHBIMU

Kohue

COI03aMu a, HO, U,

nPeoodNcenUsl. npuuem uiu oe3
comwsa.
The students were | CTymeHTsI HCaTH
writing a test, KOHTPOJIBHYIO
each doing their | paboty, npuuem
own variant. Kaxscowlil 6blNOIHAT
C6OIl sapuanm.
CaMocTosTeabHBIN O6oport IIepeBoauTcst TOUHO
MIPUYACTHBIN “000pOT MoIHcem | paBHO3HAYEH TakK ke, KaK U
6600umMyca’ npednozom With | abcomOTHRIM He3aeucUMbLIL
wau Without, KOTOpBIi HE | MPUYACTHBIM npuyacmHblil
MEepPEBOAUTCSL. obopoTam, 0bopom 6 nauane
BBIPXKAIOUIIM npeonolcenus.
With + cymectBuTenpHble + | COMYTCTBYIOIINE
npuuacmue, (3ansras) 00CTOATENILCTBA
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B ¢ynkiun

With research

Ilo mepe mozo kak

With something doing NPUYUHBL CTOUT 8 involving more HayuHoe
Hauane and more people, | uccneoosanue
(3ansiTas MOXET | HpeonoHceHus:. the profession of | mpebyem yuacmus
OTCYTCTBOBATb) a scientist has éce bonvuiezo uucna
become one of the | .zr00eit, npodeccust
most popular YYEHOT'O CTAHOBUTCS
nowadays. OJIHOM M3 CaMbIX
HOMYJISIPHBIX B HAIIN
JTHH.
B ¢yukimm Mathematization | MaremaTuzauus
conymcmeyrowux | of science is HAYKU HaOMI01aeTCs
oocmoamenvcme witnessed in BO Bcex O0macTax, u
000pOT CTOUT 6 almost all cnequaiucmol 6
KoHue branches, with oonacmu
npeooIHceHUs. specialists in 2YMAHUMAPHBIX
humanities Hayk cnewam
hurriedly joining ~{ eéxrouumscs 6
the process. Imom npoyecc.
CamocrosiTenbHbII HauGonee
NPUYACTHBIA  000pPOT MOXKET | XapaKTepHOEe
yIOTPEeONATHCS 0e3 | 3paueHNE —
npunacmus onucanue
6HewHoCmuU,
noeéeoeHus unu
6HYmMpEHHe2o
cocmosanus.Iuua,
0003HAYEHHLO20
(mpeacTaBICHHOTO)
noonexycawum.
1) ¢ npemiorom with B dyuxun [lepeBoautcs
With something ... ,(3amsras)«_|'COMyTCTBYIOIIHX CaMOCTOATETbHBIM
00CTOSATEILCTB npeIoKeHHeM HITH
CTOWT B KOHIIC JAeenpuvacTHHIM
IIPEIOKEHUSL. obopoTom.
| found him ready | Ou 6bUT TOTOB U
and waiting for OKUJAJT MEHS, 8 pyKe
me, with his stick | y nezo 6v11a nanxa.
in his hand.
2) oOe3 mpemiora (otmensiercs | B dynkuun Crour 6 Hauane
3aIsITO) o6cmoamenscmea npeonodcenus,
epemenu HIEPEBOUTCSI
NPUAATOYHBIM
00CTOATEJILCTBEH-
HBIM MpPeIJI0Ke-
HHEM BpPeMeHH.
Breakfast over, | Kozoa konuunu

he went to his
office.

3aempaxkams, OH
yILIEJI B CBOU
KaOMHET.
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B ¢ynkiun [TepeBoauTcs
CONYmMcmeyuux CamocmoamenbHovim
oocmoamenvcme npeonoscenuem,
oeenpuuacmuvim
000pomom N
cyuiecmeumenbHovim
(MecToumeHuem) ¢
npeodnozom «c».
He went home OH oTrpaBuICs
alone, his heart JIOMOU OJTUH, Oyuia
full of strange e2o ovLa
emotions. nepenonunend
CMPAHHBLMIL
uyecmeamu:
CamocTosiTeNnbHbIN B ¢ynkiun IlepeBotutcs
MIPUYACTHBINA 000POT oocmoamenscmea npuOaAMoYHbIM
CyIleCTBUTEIbHOE+ epemeHu 00CmoamenscmeeH-
Particple I, HbIM npeolodice-
something done, Huem.
BCTpEUAETCs PENKO The work
finished,'\we went | Koraa pa6ora 6bL1a
home. 3aKOHY€HA, MbI
YIUTH TOMOM.
CaMocTosTenbHBIH 000pOT
MOXET YIOTPEOIATHCS:
a) ¢ obopotom There is B ¢yukimm [TepeBoaUTCSI TOUHO
There + being + oocmoamenvemea TaK JXe, KaK 1
cyuwecmeumesnbHoe npuyuHbl He3asucumblil
(mpunaraTenbHOE), npuyacmHblil

0) ¢ bopmanBHBIM
o resxane-t
It + being“«.,

There being no
trams at that
hour, we had to
walk.

It being very cold,
| decided to stay
at home.

0bopom 6 nauane
WUJIU 6 KOHUe
npeonodcenus.

Tak kax ¢ amo
epemsa mpameau He
xoounu, HaM
MPHIILIOCH UATH
MEIIKOM.

Tax kax 6v1710 OueHs
X0J100H0, 51 PN
OCTaThCs J0Ma.

Exercise 1. Study the form and the translation of the Absolute Participial

Construction.

1. The day being warm, we opened the window. Tak kak JeHb ObLIT TEILJIBIM, MBI

OTKPBUIN OKHO.

2. She began to speak, with her voice trembling. Ona rHagama roBoputh, €€ royoc

TPOSKAI.

3. We were waiting for him, with his bags in our hands. Me1 ero oxunanu, B pykax
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y Hac OBLJIM €T0 CYMKH.

4. He listened to her, standing at the fireplace, head bowed, motionless. On ciyrran
€€, CTOA Y KaMHHa HCIIOJABHXKHO, CKJIIOHMB I'OJIOBY.

5.The notes being written in German, we couldn’t understand them. Tak kak
3alKuCcy OBLIIN CACJIaHbl HA HEMCIIKOM A3BIKE, Mbl HE MOI'JIU UX IIOHSATH.

6. Newton discovered the laws of motion, these laws being the basis of practical
mechanics. HeroToH OTKPLBIJI 3aKOHBI ABHMXKCHUA, U O3THW 3aKOHBI JICTJIM B OCHOBY
MMPAKTUYECKON MEXAHUKHU.

7. The experiment over, we left the laboratory. Koraa skcnepumMeHT ObLT 3aKOHYEH,
MBI YIIIJIH U3 JIa0OpaTOPHH.

8. A knock had come to the door, and there being nobody to answer it, my ‘mother
went out. TTocaplmmancs CTyk B ABEPb, U, TaK Kak OOJIbIIE HEKOMY OBLIO-OTKPHITH,
BbIIIJIa MO MaMa.

9. The duty completed, he had three mouths’ leave. Kornma-ara paGora Obuia
3aKOHYCHA, OH IMOJIYUHJI TpCXMGCH‘IHBIfI OTITYCK.

10. The question being very difficult, no one could answer it, Tak kak Bompoc ObLI
OYCHDb TPYAHBIM, HUKTO HC CMOI' HAa HCTO OTBCTUTD.

11. All the other factors being equal, the video channgloccupied by a three-colour
television system must be three times as wide as that required for an equivalent
black-and-white system. IIpu mnpouyux paBHBIX YCIOBHSX BHACOKAHAT JIJIS
TPEXIBETHOW TEIEBU3MOHHON CHCTEMBI JOQHKCH OBITh B TPH pasa IIMpE, YeM
KaHaJl, HeOOXOIMMBIH JJIsl COOTBETCTBYIOMIEH UepHO-0€NI0i CUCTEMBI.

12. Solid particles are injected into lower atmosphere from a number of sources, with
combustion of fossil fuels making)a major contribution. ITnoTHBIE YacTHIIBI
BHOCSITCSI B HIDKHHE CIIOM ATMOC(epbl M3 pa3HbIX HCTOYHUKOB, IMPUYEM
CTOpaHHEe UCKOIIAaeMOT'0 TOIUIMBA COCTABIISET 3HAYUTEIBHYIO (OOJIBIIIYIO) OO,

Exercise 2. In the following sentences find the Absolute Participial Construction.
Identify the subject of the construction and translate the sentences
into Russian.

1. Numerous experiments having been carried out at the orbital station, it became
possible to develop new methods of industrial production of new materials.

2. The first steam engine built in the 17-th century, people began to use them in
factories.

3. The“inventor was demonstrating his new device, with the workers watching its
operation attentively.

4. Many substances are semiconductors, germanium and silicon being the most
important of them.

5. Transistors are very sensitive to light, some of them reacting even to starlight.

6. The cell being charged, a certain quantity of electricity is passed through it.

7. Marie Curie used deductive reasoning in order to proceed with her research, this
kind of “detective work” being basic to the methodology of science.

8. Fundamental and applied sciences are commonly distinguished, the former being
concerned with fundamental laws of nature, the latter engaged in application of
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the knowledge obtained.
9. Some scientists do not distinguish between pure and applied mathematics, the
distinction being, in fact, of recent origin.
10. Nanomaterials are typically between 0.1 and 100 nanometers (nm) in size — with
1 nm being equivalent to one billionth of a metre.
12. At different stages of research the scientist would be interested in different
questions, the “how’s” and “why’s” being most difficult to find answers to.

Exercise 3. Paraphrase the sentences using the Absolute Participial Construction.
Model: When the experiment had been carried out they started new investigations.
The experiment having been carried out, they started new investigations.
1. When the work had been completed, they had a rest.
2. After the true size of the Earth and the true distance to the Moon had been
calculated, Newton solved the problem of universal gravitation.
3. When Becquerel had discovered radioactivity, scientists obtained a means of
studying and explaining the structure of the atom.
4. When the boiling point has been reached, the temperaturée of the water cannot be
Increased any more.
5. After the model has been tested successfully, it can be recommended for mass
production.
6. When vast masses of statistical evidence hadbeen collected, Parkinson’s law was
deduced from a study of these ideas.
7. If the positive pole has been brought near the negative pole, the latter attracts it.
8. After the new method had been studied in detail, it was introduced into our
research.
9. When the traveled distance had been given in meters and the time in seconds,
speed was measured in m.p.s:that is, in meters per second.
10. After the difficulties had-been overcome, we went on making further
experiments.

Exercise 4. Use the required form of the participles as parts of complex objects.
1. I watched Prof:Brown __ down the path toward the other men (to hurry).
2. He was surprised to hear such words by the chairman (to utter).
3. | want a‘short'abstract __ at once (to send).
4.1 heard the-foreman __ the worker what to do (instruct).
5. She lefthim __ everything in the laboratory (arrange).
6. | found the researchers __ the equipment for tests (prepare).
7. The student listened to the lecturer __ about the transistor design (speak).
8. The investigator has his laboratory equipment __ (repair).
9. All electrons may have their k-values __ systematically by the applied field
(change).
10. We often have our old devices __ (service).

Exercise 5. Paraphrase the following so as to use a complex object.
Model: He was explaining the phenomenon in terms of multiple reflections. | heard
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it. I heard him explaining the phenomenon in terms of multiple reflections.
1. They were discussing successful results of the experiments. | heard it.
2. The first series of experiments were completed. We found it.
3. She was speaking on the subject of high radiation intensity. We heard it.
4. They were doing the experiment. He watched it.
5. The new technological processes were greatly changed. He found it.
6. Listen, our new device is making so much noise. Can you hear?
7. The lecturer was describing Rutherford’s theory. We heard it.
8. The methods of measurements differed greatly from the old ones. He found it.

Exercise 6. Reorder these jumbled sentences to make sense.
1. He, did, have, his, device, tested?
2. Has, Tommy, his, experiment, by, done, his, assistant.
3. He, having, is, typed, the, report, his, secretary, by.
4. Tony, the, unit, had, fixed.
5. When, you, have, will, new, your, equipment, installed?
6. Bruce, have, his, devices, may, repaired.
7. Had, I’ve, whole, report, the, rewritten.
8. Having, she’s, her, assistant, colleagues, taught, computer science.
9. Can’t, have, you, the, apparatus, repaired?

10. Should, you, have, a, installed, telephone.

Exercise 7. Match the following English sentences and the translation.
A.
1. He watched the temperature gradually rising.
2. We disliked the theory of relativity being treated in this way.
3. We consider matter as being‘built of atoms.
4. The laboratory head found.them testing new gadgets.
5. By whom did you have your apparatus installed?
6. The investigator heard-his name mentioned in this connection.
7. We know the problem of working principles of lasers having been solved long
ago.
8. We knowhim/working at the problem of inductive logic since 1986.
9. We know, the researchers being invited to all our meetings.
10. They. thought of the reaction as being of the first order.

B.
1. Ham He HpaBUIIOCH, UTO TEOPHSI OTHOCUTEIHHOCTH TPAKTOBAIACh TAKUM 00pa3oMm.
2. OH cnenui (3a TeM), Kak IOCTENICHHO MOBBIIIANIACH TEMIIepaTypa.
3. 3aBeayromuii  mabopartopueil OOHApYXWJI, YTO OHH WCIBITHIBAIH HOBBIC
YCTPOWCTBA.
4. MbI cuuTaeM, 9To MaTepusi COCTOUT U3 ATOMOB.
5. Kto ycranosun tebe anmaparypy?
6. McciemoBaTens CIbIIAl, KaK B CBS3U C 3TUM YIIOMHUHAIOCH €0 UMsI.
7. MpbI 3HaeM, 4TO MPOOIEMY MPUHITUIIOB PAOOTHI JIA3EPOB YK€ TABHO PEIIIUIIH.
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8. MBI 3HaeM, 4TO MCCIIEIOBATEIIA NMPHUIIAMAOTCs (MX MPHUIIAMIAIOT) Ha BCE HAIIH
coOpaHus.
9. M&I 3HaeMm, 4To OH paboTaeT HaJl MPOOIEeMON HHAYKTUBHOM JIOTHKH ¢ 1986 T.
10. Onu cumTanu, 4To peaxius Obljaa IEePBOro MopsIKa.

Exercise 8. Translate the following sentences into Russian.
1. We observe the experimenter testing his equipment.
2. The researcher has just had his paper published.
3. Mr. Brown watched his colleague conducting the research in the laboratory.
4. The majority of atoms have all their electrons shared.
5. | found the chief engineer gone.
6. Bohr recognized the substance as having a condensed-ring system.
7. They have their equipment tested every month.
8. We consider each hydrogen atom as having a unit positive charge.
9. We may think of this molecule as being just like one of benzene.
10. They got the design reexamined.
11. We have the device repaired.
12. We have the program debugged.

Exercise 9. Use the required form of the participles as parts of complex subjects.
1. This phenomenon is postulated as __ from excessive heating. (arise)
2. The class of regulators can be thought of as . »0f three parts. (compose)
3. The problem was recognized by many scientist as __ of great importance(be).
4. The plant is found __in the East Indies’ (grow).
5. This data set should intuitively be considered as __ of two clusters (consist).
6. The reaction may be written as _« by the following mechanism (proceed).
7. The results were interpreted by Arnauch as __ to the formula mentioned (point).
8. This method was mentioned.as __ good results (afford).
9. Active centres are not«to be envisaged as __ fixed positions on the surface
(occupying).
10. Only those substances.can be considered as __ mixtures (be).

Exercise 10. Paraphrase the following so as to use a complex subject.

Model: Weheard a typewriter clattering in the next room.
A typewriter was heard clattering in the next room.

1. We observed the experimenter testing his equipment.

2. We watched them completing the experiment.

3. I heard him explaining the phenomenon in terms of multiple reflections.

4. We found the first series of experiments completed.

5. We noticed them examining a source of white light.

6. We watched the researcher testing the heated gas under very high pressure.

7. We saw them demonstrating the gadget operating.

8. We heard the investigator explaining differences and similarities between the two
phenomena.
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9. We found the researchers examining spectra-analytical method.

Exercise 11. Reorder these jumbled sentences to make sense.
1. You, packing, should, new, see, devices, them, the.
2. 1, them, this, heard, problem, discussing.

3. We, definitions, all, made, found.
4.1, him, the, saw, device, checking.
5. We, finishing, the, found, them, measurement.
6. We, the, measurements, found, completed.
7. We, the, found, changed, frequency.
8. You, feel, temperature, can, the, rising.
9.You, see, can, changed, the, value.
10. We, the, could, operating, hear, machine, properly.

Exercise 12. Match the English sentences and the translation.
A.
1. Protons were observed leaving various elements.
2. Every day he could be seen working in the laboratory:
3. The lecturer was heard mentioning his name.
4. The problem of constructing heterostructure lasers is known having been solved
long ago.
5. The scientists are heard discussing this prepesal thoroughly.
6. Pr. Brown was heard delivering a lecture’en elementary particles.
7. Concrete parts were seen being fabricated at the works.
8. He was found measuring the substance density.
9. The monitor was seen indicating.computer failure.
10. Our colleague was heard proving his new theory.

B.
1. Kaxxaplil 1eHb €ro MOYKHO OBLIIO BUJIETH 3a pabOTOM B 1a00OpaTOPHUH.
2. B0 CIBIITHO, KAKWJIEKTOP YIIOMHUHAJ €r0 UMS.
3. 3BecTHO, 9T0'IPOOIEMyY CO3/IaHUS JTa3€POB HA TETEPOCTYKTYPE TaBHO PEIITHIIH.
4. bbuto CHBIITHO," Kak Tpodeccop bpayH dyuTaeT NEKIUI0 TO 3JIEMEHTAPHBIM
YaCTHUHAM.
5. CapII{HO, YTO YUSHBIC TIIATEIBHO 00CYX)AAIOT ATy MPOOIEMYy.
6. O6Hapy>XUK, YTO OH U3MEPSIET MIIOTHOCTH BELIECTBA.
7. Beino BuaHO, Kak OCTOHHBIE OJJOKH M3rOTABIMBAINCh Ha 3aBOJIE.
8. bbL10 BUIHO, KAK MOHUTOP YKa3bIBaJl HA COOM BBIYMCIIUTEIHLHON MaITUHBI.
9. BB1J10 CIBINITHO, KaK HAIll KOJIJIeTa JOKa3bIBA€T CBO HOBYIO TEOPHIO.
10. Habmromanu, kak MpOTOHBI BBUIETAOT U3 PA3IMYHBIX AJIEMEHTOB.

Exercise 13. Translate the following sentences into Russian.
1. A quadratic cost function is assumed established for the system.
2. The permanent income is often taken as having been established.
3. The problem can be thought of as being a multivariable generalization of the
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classical problem.
4. The engineer was seen writing a full report on the work of the commission.
5. The engines were seen being carefully tested in the laboratory.
6. The laboratory assistant was seen examining pulse ionization chambers.
7. The researcher was found studying the phenomenon of vibration.
8. The lecturer was heard discussing possibility of electronic interband transition.
9. The investigator was found measuring distance-velocity dependence.
10. This theory is postulated as having arisen from experimental data.

Exercise 14. Match the English sentences and the translation.
A.
1. The door and the window of the vacant room being open, we looked in:.
2. It being now pretty late, we took our candles and went upstairs.
3. There he stood, his face to the south-east — his cap in his hand.
4. George rose and strolled out of the lawn, all his dogs followinghim.
5. There being no vacant seats, | had to stand.
6. The article being ready, I’ll show it to you.
7. With the temperature falling rapidly and the wind getting stronger, we were not
able to carry on our research.
8. The text was not difficult, many words having been-earned before.
9. He turned and went, we, as before, following.him.
10. She sat silent and still, with her eyes fixed on'the ground.
11.1 lay idly in a big chair, talking now and then, listening; listening sometimes with
my eyes closed.
12. All things considered, there is little hope of their help.

B.
1. JI>Kop UK MOTHSIICS U YIIEeN, ¢ Jy>KaKH, ¥ BCE €ro coO0aKH MOCISA0BAIIN 32 HAM.
2. Ona cujena MoJida ¥ HeHMOJBHIKHO, OITYCTHB TJIa3a B 3eMJTIO.
3. Tak xak 1Bepb U OKHO ITYCTOH KOMHATBI ObLTH OTKPBITHI, MBI 3aTJITHYJIH B HEE.
4. 51 cunen NeHUBO PA3BATUBIIKUCH B OOJIBIIOM Kpecie, BpeMsi OT BpEMEHH BCTyIIas B
pasroBop, CIyLIas, TIOPOH CITyIIasi ¢ 3aKPhITHIMU TJIa3aMHU.
5. Tak xak ObLTO HOBOJHHO TO3HO, MBI B3SJTM CBEYH U TIOILIN HaBEPX.
6. Tak xak HE\OBLIO CBOOOHBIX MECT, MHE TIPHIIIJIOCH CTOSTh.
7. [TpuHsaB \BCE BO BHUMaHME (YIUTHIBAas BCE) MBI TIOHSIJIU, YTO HA WX MOMOIIH MaJIo
HaJEKIbI.
8. Tak, kak TemriepaTypa OBICTPO Tajana W BETEP YCHIWBAJICSA, MBI HE MOTJIA
MIPOBOJIUTH UCCIICTOBAHMSI.
9. TekcT He OBLT TPYJICH, TaK KaK MHOTHE CJIOBA OBLITM BBIYYCHBI 3apaHee.
10. OH moBepHYJICS U BBIIIEIT; KaK U TPEK/IE, MbI ITOCIICIOBAIN 32 HUM.
11. OH cTOosT TOBEPHYBIIIKCH K IOTO-BOCTOKY, C IIIAITKOH B pyKe.
12. Korna cratbs OyeT roToBa, s IOKaXy €€ BaM.
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Exercise 15. Make up sentences using the following phrases as Nominative
Absolute Constructions.

There being no time to lose; the concert over; it being late; with his eyes wide open;

such being the case; there being nothing else to do; with his back towards the door;

their being a severe storm at sea; without a word spoken; all things considered,; it

being the weekend.

Exercise 16. Translate the following sentences into Russian.

1. Her aunt having left the room, | asked her for some personal help.

2. With the mortgage paid, they could afford to go abroad for their vacation.

3. There being no further business, the meeting was adjourned.

4. She walked on, with her eyes straight ahead.

5. It being very cold, we couldn’t go for a swim.

6. The sun having risen, they continued their way.

7. There being no other traffic, the driver can maintain a constant speed of, say, 60
km/h (kilometers per hour).

8. The pressure removed, the air springs back to its originalvolume.

9. When considered dynamically, the biosphere appears an arena of complex
Interactions among the essential natural cycles of its major constituents, with
continuous fluxes of these constituents entering the biosphere, or being released
by it.

10. She stood with her arms folded, staring thoughtfully.

11. Then arrangements made, the apologies‘and thanks started over again.

12. She advanced two more strides and-waited, head half turned.

13. The choice made, she ran up to him:

14. All things considered, there is-only one way out of this confused situation.

PABJEJ 7. TEPYHIUN
(GERUND)

['epynnuit — HefluuHas (opma riarosa, BeIpakaromas AeicTBUE KaKk MpoIecc U
oOnagaronasi CBOMCTBAMHU KaK CYIIECTBUTENIBHOIO, TAK U IJIaroJa:

Increasing — YBEIIMYCHHE,
obtaining — OJTyYeHHE;
heating — HarpeBaHmue.

®opMbI repyHaus

Dopma Jeiicmeumensnotii 3a102 | Cmpadamenvuslil 3a102
Active Voice Passive Voice
Present (Non-Perfect) writing being written
Perfect having written having been written

Ynorpediaenue popm repynausi

| Dopma \ Ynompeonenue | Ilpumep | Ilepeeoo |
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Present J1n1st BBIpasKeHUS IEHCTBHS, He was interested in OH uHTEpecOBaICs
(Non- OJTHOBPEMEHHOTO C aeiicTBueM, [collecting rare minerals. | koanekyuonuposanuem
Perfect) BBIPAKEHHBIM B MPEIIOKCHUN PEIKUX MHHEPAJIOB.
[JIar0JI0M-CKa3yeMbIM
J1n1s BBIpasKEHUS ICHCTBHS, We intend of shipping |MsI HamepeHbI
OTHOCSIIETOCs K mporioMy wiu |the goods in May. omezpy3umsp TOBaphI B
OynyieMy, ¥ He CBSI3aHHOTO C Mae.
KaTeropueil Bpemenu rinarona- (Loading heavy weights |Ilozpyska Tsoxenbix
CKa3yeMOro B MMPEI0KEHUN requires great skill. Ipy30B TpeOyeT
OO0JIBIIIOr0 UCKYCCTBA.
Perfect J1J1st BRIp@)KEHUS ICHCTBHS, I don’t remember 51 He IOMHIO, YTOOKI 5 €r0
IpeIecTBYIONIEro eiicTuio, |having seen him paHblIe gude.
BBIPQKEHHOMY TJIar0JIOM- before.
CKa3yeMbIM B IIPETI0KEHUH

I'epyHnuii 0OBIYHO TIEPEBOUTCSA HA PYCCKUM S3BIK HEOMpeAeTIeHHON (hopMoit
IJ1arojla, UMEHEM CYLIECTBUTEIIbHBIM, JCCIPUYACTUEM WIIM TJIAPOJIOM B JIMYHOU
dbopme B cocTaBe MPUAATOYHOTO TPEITIOKCHHUS.

@YyHKIUM TePYHIUA B MPeIJI0KeHHN

Dynkyuu Ilpumepoi Ilepesoo
1. Iloanexamee* Defining problems precisely. |Tounoe onpedenenue
requires patience. (nocmanoeka) 3amaa Tpedyer
TEPIICHUS.
Learning rules without Yuume npasuia 6e3 npumepoB
examples is difficult. TPY/HO.
2. IIpsimoe 10oMoTHEHHE The turbulent.flow of gases | TypOyseHTHOe TeueHHE ra30B
produces eooling. BBI3BIBACT OXJIAMNCOCHUE.
3. Ilpenioxknoe nonoHenue™*  (We thought of starting MpbI TOAYMBIBAIIA O TOM, YTOOBI
another series of experiments. [Hauams enie onHy CEpUIO
9KCIIEPUMEHTOB.
4. OnpenesieHue There are different ways of  [Mimerorcst pa3iudHbie criocoOb
(gacro ¢ mpemnoramu of, about, “/Solving this problem. paszpeutenus SToi MpoOIIeMBI.
for, in, at) I saw no harm in asking a few | He Buaen HUKAaKOTrO Bpea B
questions. TOM, YTOOBI 33J1aTh HECKOJIbKO
BOIIPOCOB.
5. O6cTosiTEIHLCTBO After saying this he left the |Cka3zae 310, oH BbIIIICT U3
a) ¢ mpeamoraMuon(Upon) — room. KOMHATBI.

nocae, after = nocne, before —
nepeo, in —6mo epemsa Kax Jyis
BBIPKEHUS BpEMEHU

6) ¢ mpemioramu for — 3a, Excuse me for not completing|3Bunute 3a TO, 4TO 5 HE
through — u3-3a,0wing to — the experiment on time. 3aKOHYUJI DKCTIEPUMEHT
onazooaps, uz-3a s BbIPAXKEHUS BOBPEMAL.

PUYMHBI

B) ¢ nipeutorom by co 3nauennem |He improved the article by  |On ynyummn craTeio, usmenue
nymem, npu noMowju s changing the end. OKOHYaHHeE.

BBIpKEHHS 00pa3a JeHCTBH
r) c npemyoramu besides - kpome, |Besides being clever, heis  |[Kpome Toro, 4to oH yMeH, OH
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instead of — emecmo, without —
oe3, apart from - nomumo nns
BBIPQXKEHUS COMYTCTBYIOIIUX
00CTOATEILCTB

very industrious.

OYCHb TPYIOTFOOUB.

1) C TpyNIOBBIMU nipeuioramu for
the purpose of/ with the object of/
with a view to — ¢ yensro, 0na
mo20 Wmoowl 17151 BBIPAKECHUS
N

negotiations.

A Russian delegation arrived
in Minsk with the object of
conducting trade

B Musnck npudsiia pycckas
JieTIeTanus 1715l 6e0enus
TOPTOBBIX IIEPETOBOPOB.

e) ¢ mpemoramu Without — de3, in
case of/ in the event of — ¢ ciyuae

ecau, subject to — npu ycnosuu
JUISL BBIP@KEHHS YCIOBHSI

This offer is made subject to
receiving your confirmation
within 10 days.

OT0 npeIoKeHUe CAECIAaHO MPU
YCIIOBHH HOJIy4eHUs BAIIETO
MOATBEPKIeHUS B TeueHue 10
THEHN.

6. UMeHHAasl 4acTh COCTABHOIO

cKa3yeMoro way.

car.

He is against doing it this

His hobby is driving a sports

OH TpOTHB TOTO, YTOOBI
dejlamp 3TO TakKUM 00pa3oM.
Ero x060u — 60sxcoenue
CIIOPTUMBHON MalINHBI.

7. HacTh COCTABHOIO

IJ1aroJIbHOr0 CKa3yemMoro document.

He finished writing a business

OHBaKOHYWI nUCams IEIT0BOM
J{OKYMEHT.

*Kak mnpaBuio, repyHIud B (YHKIMH TOJJIEKAIIEr0 CTOMT B Hauaje
npennoxkenus. OTHaKO OH MOXKET TaKXKe CTOSTh [IOCJIEe cKazyeMoro. B aTom ciydae

nepes; CKa3yeMbIM CTOUT MECTOMMEHHE

it wm koHcTpykuus there is. Takoe

yIOTpeOJIeHUE TEPYH/IUS YaCcTO BCTpedyaeTcs: Hoehae Beipaxenuid: it is (0f) no use, it is
useless, it is (no) good, it is (not) worth, there is no point in.

**B (QyHKIIMM TPEeasioKHOro JIOMONHEHUS TepYHIUNA YyHOTpeOssieTcss mocie
MHOTHX TJIaroJIOB, IMPUJIAraTeIbHBIX ¥ TPUYACTHHA, TPEOYIOMUX OIPEACIICHHBIX

PE/IOTOB:

to accuse of 0OBUHSATH B

to agree to cornamarscs
to approve of ogo0psTh

to assist in npuHUMAThH y4acTHE B

to blame for Bo3znarate BHHY, OOBHHSTH B
to complain of sxamoBaThcst Ha

to congratulate smb. on no3apaBisaTh ¢

to consist in(of) 3akar04aThCs B, COCTOSTH
u3

to count on paccuuTeIBaTH HA

to depend on(upon) 3aBuceTh OT

to feel like ObITH CKIIOHHBIM, XOTETh

to give up oTkaszaTbes

to have no difficulty in(with) e umers
3aTPYJAHECHUN B

to look forward to
HETEePIICHUEM

to look like BeIrsaeTs KaK, MOXOAUTH Ha
to miss an (the) opportunity of ymyctuts
BO3MOHOCTb

to object to Bo3pakaTh IpPOTHB

to persist in ynmopHo npoa0KaTh YTO-I.
to praise for xBaauTh 3a

to prevent from npensrcTBoBaTh, MeIATh
(cnematp 4TO-II.)

to punish for naka3siBath 3a

OXHIATh C

to rely on nomaratecs Ha

to sentence for npuroBapuBars 3a

to speak of ymomuHats o

to stop from ynepsxuBath(cs) oT

to succeed in yaBaTbCs, UMETh YCIIEX B
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to hear of ycnpimare o, y3Hath 0

to help in nomorarh, oOKa3bIBaTh
COJICHICTBHE B

to insist on(upon) HacTanBaTh Ha

to learn of y3uaBatb o

to suspect of mogo3peBats B
to thank for 6aromaputs 3a

to think of gymats o

to be afraid of 6osiTecs yero-i.

to be aware of 3uars, ornaBars cebe oTuer
B
to be busy in(with) ObITh 3aHATEIM YeM-J1.

to be capable of ObITh cIOCOOHBIM Ha

to be conscious of ObITh YyBCTBYROIIUM
9TO-J1., 0CO3HABATh YTO-JI.

to be fond of yroOuTk UTO-II.

to be guilty of ObITh BHHOBHEIM B

to be indignant at Bo3mymarbcs 10
MIOBOJIY Y€ro-JI.
to be ignorant of ue 3naTh vero-.

to be keen on ObITh yBIIEYCHHBIM YEM-II.,
CHJIBHO JKEJIAFOIIUM YTO-I.

to be proud of ropauThcs deM-.

to be responsible for oretaTs 3a yTo-I1.

to be sorry about coxarners o
to be sure of ObITE\YBEPEHHBIM B

to be(get) accustomed to  ObITh
IPHUBBIYHBIM K (IIPUBBIKHYTh)

to be(get) used to ObITh HPHBBIYHBIM K
(TPUBBIKHYTB)

to be absorbed in OpiTh yBICUCHHBIM
(TToTJIOIMIEHHBIM) YEeM-J1.

to be engrossed in ObITh yBICUCHHBIM

(rToTJIOIMEHHBIM) YeM-J1.

to be pleased(displeased) with (at) ObITh
AJOBOJIBHBIM . UEM-JI.

to be-\surprised
YAUBJIATLCA YCMY-JI.
to\be tired of ycra(Ba)Th oT yero-.

(astonished)  at

to be worth (while) OwITh mOCTOWHBIM
(3acmy’>KMBAOIM) Yero-JI.

I's1aroJibl, 3a KOTOPHIMHU 00BIYHO CJIeyeT repyHauit

to admit momyckaTh, mpu3HaBaTh

to appreciate BbIEOKO [LCHUTh, TOHUMATh,
MIPUHUMATH BO BHUMAHUE
to avoid u3berath

to burst out (crying/laughing)
paspa3utscs (cie3aMu/cMexoMm)

to consider paccmaTtpuBath, 00yMbIBATh
to contemplate pasriisiabIBaTh,
00/TyMbIBaTh

to delay 3amep:xuBaTh, IPENITCTBOBATH

to deny otpunars

to detest HenaBumeTh, HE BBIHOCHUTD,

(can’t) help He Moub ynepkaThcs, He
MOYb MIPEIOTBPATUTH
to imagine BooOpaxkaTh, rmoJyiarath

to involve  BoBiekarh,
BKJIFOYATh B Ce0sl, COAEPKATh
to keep (on) mpoaomkate (aeaaTh 4To-1.)

BBI3bIBATD,

to leave off mepecraBarh (genath 4TO-11.)
to mention yrmoMuHaTh, CChLUIATHCS Ha

to mind Bo3paxkaTh, HMETh YTO-JIHOO
IPOTHB
to mIisS mporycTUTs,
94ero-Ji.
t0 postpone oTknaabIBaTH

YKIIOHUTBCA OT
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UTAaTh OTBPAIICHHUE
to dislike He 1rOOUTH

to endure moaBepraThcs
POAOKATHCS

to enjoy mosyyaTh yI0BOJBCTBUE OT
to escape uzbexarh

t0 excuse U3BUHITHCS

to face crosTh mepex yem-I1.
to fancy  monarats,
HPaBUTHCS

to finish 3akoHunTH

to forgive mpomats

yemy-I.,

BOOOpaxarh,

to practice mpakTHKOBATHCS, YIIPAKHIATHCS
to put off orkiagsiBaTh

to recollect BcmomuHaTh, MPUIOMHUHATH
to resent Bo3aMyIaThCsl, OOMKATHCS

to resist cOnpoOTHBIIATHCS, MPOTUBOCTOSITH
to risk puckoBath

(can’t) stand (He)BBIHOCHTH

to suggest npexnnarars
to understand nouumars

I'naroJml, 32 KOTOPBLIMHU CjaeayeT repyHAn UJIu HHPUANTUB

0e3 pasHMUbI

B 3HAYCHHUH

1 |begin, start, continue, cease He began working/to work.
(mBe —iNg hopMbI OOBIYHO HE The days are‘beginning to get shorter.
yIOTPeOJISIOTCS)

2 |can’t bear, can’t afford | can’t bear waiting/to wait.

3 |intend | intend writing/to write an article.

(ecnm 3a riarosiom intend ciaemyet
JOTIOJTHEHHE, YIOTPeOIIsieTCst
UHPUHUTUB. Takas KOHCTPYKIIHS
ynoTpebsieTcs: TONbKO B popMajibHON

lintend him to take over the department.

peun.)
4 |advise, allow, forbid, permit, He advised me to apply at once.
recommend He advised applying at once.

(ecnu 3a TarosamMu cAeKyeT
JIOTIOJTHEHHUE, YIOTPeOIIsIeTCs
MH(QUHUTUB, €CIHU JIOTIOHEHHS HET,
ynotpeOsieTési repyHAni.)

need, require

(3a BBIIGYMOMSIHYTHIMH TJIarojiamMu
MOJKET\CTIe10BaTh HH(OUHUTUB C 10,
repyHIUN WK MHOUHUTUB B TACCUBHOU

dopme.)

You need to improve your knowledge of
English.

Confidential information needs
protecting/to be protected.

I'1aroJibl, 3a KOTOPBIMHU CJIeAyeT repyHAuN WM HHPUHUTHB
C pa3HUlell B 3HAYCHUU

|forget + to-inf (3a0bITh YTO-J1. CACIIATH)
forget + -ing form (3a0bITH 0 TpOIILTIOM
COOBITHH - YIIOTPEOJIIETCS TOIBKO B

I’m sorry, | forgot to switch off the
computer.
I’ll never forget using the Internet for
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OTPHIIATEIILHOM CMBICJIC)

the first time.

.[remember + to-inf (ue 3a0bITH YTO-I.

C/IeIIaTh)
remember + -ing form (BcmoMHUTH O
IIPOIIIOM COOBITHH)

Remember to read the instructions.
| remember reading about the
earthquake in the papers.

./mean + to-inf (HamepeBaThcs uTO-II.

C/IeTIaTh)
mean +-ing form (BkirouaTh B ceOs,
COJICPIKATB)

She means to find a job abroad.
Studying harder means getting better
marks.

.|go on+ to-inf (3akOHYKTH JAEeNaTh YTO-I.

¥ HA4aTh JeJIaTh YTO-JI. CIIe)
go on + -ing form (mpogomxkats)

After finishing his BA, he went on to
get a master’s degree.

He went on talking about his
experiment.

.\regret + to-inf (coxxaneTs)

regret + -ing form (BbickazaTh
COKaJICHHUE 110 ITIOBOJIY TOr'O, YTO YiKe
CACJIaHO, UBMCHHUTH MHCHHUEC O TOM, YTO
CZCIIaHO)

| regret to say that you-have failed your
exam.
| regret being unfair to my colleagues.

would prefer+ to-inf (ocoboe

IPEIOYTCHHUE)

prefer + -ing form (oOmee
IPEIOYTCHHUE)

prefer + to-inf + (rather than) + inf
without to

I’d prefer to have an early night tonight.
| prefer doing everything myself to
asking somebody’s help.

| prefer to do everything myself (rather)
than ask for somebody’s help.

|try + to-inf (memate Bce ot ceOs

3aBHCSIIIEE, TBITATHCS)
try + -ing form (coemars ¥ro-1. B
HOPSIJIKE DKCIIEPUMEHTA)

He tried hard to cope with his new job.

Try phoning John at the office if he’s
not at home.

Jwant+ to-inf (xoteTs)

want + -ing form, (fry>x1aTbcst B TOM,
4TOOBI ICHCTBHE, BRIPAKECHHOE
repyHIHeM;, ObLIO CICIaHO)

| want to find a better job.
The device wants reparing.

.|stop +-to-IAf (BpemeHHO MpepBaThCs)

stop +-ing form (3akoHYHUTS,
PEKPATUTD)

| stopped to give explanations to my
group mates.
| can’t stop him talking to the press.

10.

be sorry+ to-inf (coxxaneTs)
be sorry for + -ing form (u3BUHATHCS)

I’m sorry to hear that you have failed
the exam.

I’m sorry for misunderstanding/having
misunderstood what you said.

11.

hate + to-inf (cokasners, 4yBCTBOBAThH
ce0st HEJIOBKO 10 MTOBOJIY TOTO, YTO
coOMpaeIibcs CIeNaTh)

| hate to interrupt you, but I must talk
to you.
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hate + -ing form (uyBcTBOBaTH | hate making you feel uncomfortable.
COXaJICHUC I10 IMOBOAY TOIr'O, 4TO

JIeJIaelb)
12.|be afraid + to-inf (6ostbcs uTo-1. She was afraid to protest. (so she kept
c/IenaTh) quiet).

be afraid of + -ing form (6osteest Toro, |She didn’t tell him about the experiment
4TO JICHiCTBHE, BRIpAKCHHOE repyHaueM, (because she was afraid of upsetting
MOJKET MMPOU30ITH) him.

Ci10HBII repyHAHAIBHBIA 000pOT

CnoxxHbl TepyHAMAIbHBIA O00OPOT — 3TO COYETAHHE MPUTIKATEIHHOTO
MECTOMMEHUSI WJIH CYIIECTBUTEIBHOIO B MPUTSHKATETLHOM MM OOUIEM-HAaJIekKe C
TePYHIMEM, BBICTYMAMONICC B TPCAIOKEHUH KaK CIUHBIA (CIIOXKHBIN) YJICH
npemiokeHus. Takue 00OpOTHI  OOBIYHO TIEPEBOIATCS HaA (/PYCCKHM  SI3BIK
[IPUIATOYHBIM IIPENTIOKEHUEM.

Kak eauHblil ujeH NpeaioKeHUsl CIOXKHBIA TepyHAUATBHBI 000pPOT MOXKET
BBITIOJIHSATH B MPEJJIOKEHNUN Pa3IUIHbIC (DYHKIIUH:

Dynukyuu Ipumepuot Ilepesoo
1. CiaoxHoe John’s doing it at once is CoBepIIeHHO HEOOXOAMMO,
nmoJiesKaee absolutely imperative. yTOOKI J[>)KOH cliesiai 5To
HEMEJICHHO.

2. CioxHoe The potential of a conduetor  IToreHiuan mpoBOAHUKA

JOIOJTHeHU e rises because of theelectrons |mosslmaeTcs u3-3a Toro, 4To
being crowded upen.a AJIEKTPOHBI CKAILJIMBAIOTCS Ha
conductor. MIPOBOJTHHKE.

3. CaoxHoe The process-of.one substance |I[Iporecc cMenmMBaHUS OTHOTO

onpejesieHue mixing with-another is called [BemectBa ¢ npyrum Ha3bIBaeTCs
diffusion: g ys3uei.

4. CioxuHoe By-our‘increasing the VYBennuuBas JaBieHUE, MBI

00CTOsITEILCTBO. /Pressure we increase the force |yBennuuBaem cuity TpeHHS.
of friction.

Practice

Exercise 1. )State the form of the Gerund. Translate the sentences into Russian.

1..I'don’t think the collection of essays is worth reprinting.

2. Getting several viewpoints is vital.

3. Can you recall having mentioned the fact to anyone?

4. After having been rejected by a dozen magazines, the article was published in
The Globe.

5. Walking, riding, flying, dancing and so on are all familiar examples of
motion.

6. Each specimen is tested again after being lowered into the acid.

7.We know of wood having been used as structural material in prehistoric
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times.
8. Apologizing for having stayed so long he asked Andrew to proceed with his
Investigation.
9. After all the data being obtained, the crystal was taken from the oil-bath.
10. Induction is a method of charging a conductor from a charged object which
does not require bringing the two into contact.

Exercise 2. Use the correct form of the Gerund of the verb in brackets.
Translate into Russian.
1. Why do you avoid (see) me?
2. He tried to avoid (see).
3. We insist on (send) him there at once.
4. He insists on (send) there instead of me.
5. Do you mind (examine) the first?
6. The equipment must go through a number of tests before (install).
7.1 don’t remember (ask) this question.
8. We know of the work (carry out) in this laboratory.
9. He liked to do things without (disturb) anyone or (disturh):
10. You never mentioned (speak) to them on the subject.
11. This is the result of our (not specify) input or output-variables for the network.
12. In spite of (meet) with failure they continued experimenting.

Exercise 3. Join two sentences to make one‘sentence using the Gerund. Use the
following expressions: it is (0f) no use, it is useless, it is (no) good, it is
(not) worth (while), there.is\no point in.

Model: Don’t worry about it. It’s'no.use.
It’s no use worrying aboutit.
There is no point in'werrying about it.

Don’t speak of the matter. It’s useless.

Consider the purpese.of the investigation. It may be useful.
Don’t buy a second-hand car. It’s a waste of money.

Don’t try to escape. It’s no use.

Don’t learn rules without examples. It’s useless.

Don’t study:if you are feeling tired. There is no point.
Think over the effects | have just described. It’s useful.
Don’t even try to persuade him. It’s a waste of time.

NP

Exercise 4. Complete the sentences using the Gerund or the Infinitive of the verb
In brackets. Remember the usage of the preposition to in every case.
1. I’m accustomed to (work) hard.
2. In addition to (be) a tool of science, mathematics is also an art form.
3. We are looking forward to (carry out) this investigation.
4. This allows fine technological operations to (automate).

102



5. He can’t get used to (log on) with a password.
6. Our boss objects to (use) any different method.
7. Are you accustomed to (ask) questions you cannot answer?
8. They objected to (use) greater voltage in this case.
9. A PC is powerful enough to (support) high level language programming.
10. He objected to (pay) expensive telephone calls for Internet access.
11. He said he wasn’t used to (speak) in public.
12. Hard work is the key to (pass) examinations.
13. 1 want to (upgrade) my computer.
14. He was the first to (realize) the difficulty of the situation.

Exercise 5. Complete the sentences using by+the Gerund. Use one of the

following:
adjust the position of the rods. tell the truth
burst into tears use a powerful crane
change resistance use a search engine
drive too fast use blue laser light
slide down a rope. workiregularly
strike the half-hour

1. You can put people’s lives in danger .

2.You can improve you English __.

3. They escaped .

4.You will achieve a lot _.

5. She frightened her friends __.

6. Balancing is done __.

7. The hall clock greeted us (.

8. The reostat controls current strength .

9. We were able to discharge the boat in 24 hours __.
10. DVD drives read’ DVD disks .
11. You can find information on the Internet .

Exercise 6. Write the correct preposition and write the correct form of the
Gerund.

1. He always depends __ (get) help from other students.
2.\Why.did they insist __ (do) everything themselves?
3. Did Mr. Johnson finally succeed __ (solve) that problem?
4.You shouldn’t rely _ (get) assistance from other people.
5. Our teacher doesn’t approve __ (study) late at night.
6. He’s really quite capable __ (complete) the work by himself.
7. She was proud __ (finish) the work in such a short time.
8. Mr. Foster constantly worries __ (lose) his position.
9. The bad weather prevented them __ (leave) last Friday.

10. I’'m not particularly fond __ (attend) lectures.
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11.You can access many free and legal music files _ (download) _ (visit)
www.mp3.com.

Exercise 7. Here are some common set expressions with the Gerund. Match them
with the explanations below.
1.1t's no use crying over spilt milk a. No one knows/No one can tell.

(proverb).
2. There's no knowing/telling (what he'll b. I don't need to tell you.
do).
3. It goes without saying ... c. People often have strange likes and
dislikes.
4. There's no accounting for taste. d. There's no point in making ‘fuss about

something we can't put right.

Exercise 8. Match A and B. Translate the sentences.

A B

1. We very much appreciate a) my leaving till the next day.

2. He strongly denied b) their meeting that afternoon.

3. We enjoyed ¢) her taking more responsibility.

4. The chairman suggested d) the band's playing very much.

5. 1 agreed to delay e) our postponing the question till later.

6. He should consider f) your helping us.

7.1 can't excuse g) your‘meeting Miss Brown!

8. You must pardon h) our/escaping.

9. Would you mind 1)~ Jim arriving so late.
10. I can't bear )\ you / your bringing me breakfast in bed.
11. They can't prevent K) Jane practicing in the room next to yours?
12. Please forgive I) him/ his whistling when I'm trying to

concentrate.

13. I really miss m) her not answering our invitation.
14. Fancy n) my not getting up.

Exercise 9. Choose'the Gerund or the Infinitive to complete the sentences.
1. My friendpromised (return) the book very soon.
2. Most people enjoy (write) letters to their friends.
3. Have'you ever considered (try) something different?
4. 1 would appreciate (hear) from you as soon as possible.
5. Would you mind (wait) for 15 or 20 minutes?
6. We don’t dare (suggest) that possibility to them.
7.1 can’t stand (listen) to his complaints any longer.
8. Don’t switch off without (close down) your PC.
9. Please stop (interrupt) me in the middle of a sentence.
10. Smith claims (be) an expert on that particular subject.
11. You needn’t learn how to (program) in HTML before (design) web pages.
12. Why do you always put off (write) to your friends?
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Exercise 10. Supply the correct forms of the Gerund or the Infinitive. Give two
forms where both are possible.

1. Do you remember (use) a smartcard for the first time?

2. Remember to post the letters on your way home.

3. 1’d prefer (pretend) I didn’t hear what you just said.

4. | prefer (borrow) books from the library to (buy) them.

5. Ann was afraid (add) an extension board herself.

6. I’m afraid of (lose) sensitive information.

7. She began (test) the sample.

8. We had to postpone (upgrade) his PC.

9. He tried to (hack into) the system without (know) the password.

Exercise 11. A. Look at the HELP box and decide if the —ing form in these
sentences are gerunds, present participles or adjectives. Write g, pp
or a.

HELP box

The —ing form
We use the —ing form in three ways:

1. Rendering includes lighting and shading.

2. We are designing a new car on a computer.

3. They use special applets to create amazing fractals.

In 1, rendering is a gerund (see below), acting as the subject. Lighting and
shading are also gerunds, acting as the objects. A gerund refers to an activity or
process.

In 2, designing is a present participle. This is used in continuous tenses (in the above
example, the present continuous) and reduced relative clauses.

... a representation showing'the outlines of all edges.
(= which shows the outlines...)
In 3, amazing\s-an adjective.
We use gerunds(in,the following ways.
As the subject of a verb
Compositing is combining parts of different images to create a single image.
As\the'complement of the subject
Compesiting is combining parts of different images...
As the object of a verb
| enjoy editing pictures.

As the complement of a verb
This course involves painting and drawing in various media.

Some verbs are followed by the gerund, not by the infinitive (e.g. avoid, fancy,
finish, give up, hate, imagine, involve, keep, look forward to, mind, suggest,

enjoy)
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1. PCs generate graphics by performing mathematical calculations on data.

2. Business people use graphics to make information more interesting visually.

3. Graphs and diagrams can be more effective ways of communicating with clients
than lists of figures.

4. She is designing a logo for the company.

5. If you need to make a presentation, | suggest using PowerPoint.

6. The Internet is a network linking other networks.

B. Correct the mistakes in these sentences. There are seven
mistakes in total.

1. Computer animation is the process of create objects which move across.the-screen.
2. Texturing involves add paint, colour and filters to drawings and designs.

3. You can open the colour palette by click on the corresponding icon.

4. CAD programs are very fast at to perform drawing functions.

5. A lot of time and money is saved by test a car design before to make the product.
6. To render refers to the techniques used to make realistic images.

Exercise 12. Translate the text paying attention to the role of the Gerund in the
sentences.

Automation in the research process.

Our goal should be automating the routing and thereby leave more time for the
creative process.

With that word of caution, let’s ‘proceed by arbitrarily dividing research into
three stages and examining each stage to find what functions of the research process
might be automated without endangering creativity. Stage one includes the dreams,
the ideas, the exploratory wark, Selecting the problem, setting the objective, testing
technical feasibility, and searching the literature. Stage two involves planning the
experiment, conducting’the experiment, checking the alternates, data taking, and data
evaluation. Stage.threeis the solution of the problem — drawing conclusions and
making recommendations.

Although.there is a great deal of creativity involved in state one, there are also
opportunities\for automation. The burden of keeping up with the literature even in
one’s own/restricted field is becoming heavier with each passing year. The mass of
reading necessary to make a literature search has increased immensely. Advances in
computer technology have made possible storing and quick retrieving essentially all
the scientific literature.
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